
1. Which of the following statements are true about crew selection and
training for “Gaganyaan Mission”?

(i) Crews are
aeromedical examination.

(ii) Mission-specific training will be conducted at ISRO,

Trivandrum.

(iii) Selected astronauts will undergo their generic spaceflight

training in Yuri Gagarin Cosmonaut training centre, Russia.

(A) (i) and (ii) only

(B) (ii) and (iii) only

(C) (iii) only

(D) (i) and (iii) only

(E) Answer not known

selected after clinical, psychological and

“«<S65TUJn-65r ©Sl 655rQsiJ6rfl^llL_” ®SlJIT<5SS)GTT<$
l51«ST6U0li» OT65)6U

iBrfjpiB uuSUi)# <3=iflujrT«sr ssuopaciT?

(i) (sfilssffrQeuerfi LUJJOST ©SIJIT«6TT, L£>0^§I <SU. £_<STT®S1U_IG) LD (t)pii» aSlLDrrosT

LD0^p6uu uifl(fl5:rr^6B)6in'«(^r5<s0LJ i51rD<3<5 (S^iTi5Q^@«<5uu©^l«rrfD«n-iT.

(ii) uuSljl)£l . (ISRO), $06U«JTJFE£L|ij£$<5)

r56B)i_Qup<^ln)p.

(iii) G^rraj QffUJU-iuuili— cfilfirorGlaJcrfl
ajrr«n-Qajeiflu uuuasr UUSI/DMOOGST ija^ujiTaSla) 2_CTT TT y,ifl aamfldr

^«sn-L _Q6U6iflu uiufisfl 'uu94)#l soiDiu^a) QUPAIITIY&OT

(A) (i) LDJDpLD (ii) LDll@Lb

(B) (ii) LDfijpLb (iii) Luilgub

(C) (iii) n»il©Lb

(D) (i) LDfDpLb (iii) H> LL©IB

(E) ©Slaoi— Q^ifliu®filcb65)60

eSijfracrr, Qurrp f!<£lujrT«jTUUJ 655T
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Arrange the following events in chronological order.

(i) Ahemadabad Mill Strike

(ii) Champaran Satyagraha

(iii) Kheda Satyagraha

(iv) Rowlatt Satyagraha

2.

(A) (ii), (i), (hi), (iv)

(B) (iv), (iii), (h), (i)

(C) (i), (h), (hi), (iv)

(D) (iii), (h), (i), (iv)

(E) Answer not known

<srr«) ajiflanffULiiq-

(i) ^QJDL£> <5m_irr<$ uSlcb Gajaneo

(ii) ffLbumjsn- ff^uurr^lijaLb

(iii) rr *£<§UJ rr<£l IJ«LD

(iv) QIJOTSOLL ff^ujrr< 1̂ij«Lb

(A) (h), (i), (hi), (iv)

(B) (iv), (iii), (ii), (i)

(C) (i), (h), (iii), (iv)

(D) (iii), (ii), (i), (iv)

(E) QjSifliuaSlcbeno)

4CCSEI-IAP25
Y

\

s
Highlight

s
Highlight



3. Reason and Assertion type :

Assertion [A] : Cinema was becoming popular in 1940’s.

Reason [R] : Anna could achieve his ideals through Cinema

Artists.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanation

of [A]

(C) [A] is false but [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known

amjasrii) LDiDpLb a«.ri)p eusn® :

: 1940 <56lfl60 <$68flLDIT L51lJU03LDrT«|§!®I5<£P-«n.fDp [A]

ffirrijflrorii) [R] : ««s)6O0iTffi6rr Qpeoih ^osrerarrT <$65rp ^soil#lujrBJ««5)6rT

(A) [A] ffifl ^onrei) [R] <5©jp

(B) [A] LDrfjpii) [R] wfl. GlBgyiii [R] OTOTrup [A] fflfllUfTStT

6iSl6rT«<SLDrr0Lb

(C) [A] 5)sup ^orrr®) [R] ffifl

(D) [A]ib [R]LD «^,«nrra) [R] crsisrup [A] s<§ wfliurror ©SlerTaaiD®)®)

(E) 6fi1«0l_ Q^ifliuaSI0)0)60
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4. The Talaikota Battle was also called

(A) Toppur Battle
(B) Rakahasi-Tangadi Battle
(C) Battle of Rajagambira Rajyam

(D) Battle of Kannanur Kuppam
(E) Answer not known

as

OTOTpLi) ^«S)Lp<S<SULJ @ <$fDgl -J$ 8) D«G<5ITLL65)I_ Gumt *—
(A) Co^rruL^iT Gumi
(B) ijrraQfDmft - Gurrfr '
(C) ijrr^«Lbi5ij ijrr^ujLb CSurrit

(D) ffi65T65TOT)Jl'IT (§UULD GufTIT

(E) ©S1GOL
_ Q^lfllLI ®SlQ)65)60

5. Shivaji was crowned as an independent king at

(A) Raigad

(B) Surat
(C) Ahmedabad

(D) Poona
(E) Answer not known

<£leijrrg$ *<$(5<£IIJ^ijffijrra (LP^-^IILUUIIL ^li_ih
(A) p-iuanv

(B) ©ij£
(C) ^©rDLDjSmjrLS

(D) y,65HT

(E) ®Sl0S)l_ Q<5lfllLI®Sla)«J)6D
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6. Match correctly with the Suitable Act.
(a) Preventive Detention Act (PDA) in India

(b) The National Emergencies Act was

signed into law by President Gerald Ford on

(c) The Indo-Pakistan war

(d) Conservation of Foreign Exchange and

Prevention of Smuggling Activities Act

1. 1971

2. 1974

3. 1950

4. 1976

(a) (b) (c) (d)

1 4 3

4 3 2

4 1

2 3

(E) Answer not known

(A) 2

(B) 1

(C) 3

.
(D) 1

2

4

ffifliurrsfr ajifl65)5=65) ULI^ G!g> iTiijQ£®««.

(a) <$©LJLJ 5> fT6UQ) 5=lll_ljb

(b) <3£<£luj ^6U5= IJ55rT60 5=lLl_;5<£lrf)@ Qggp-dJlL o°o(SumT(S>

«)<$£) UJ(LP <$<£) LLL_ ^,655T@

(c) gl (5(3^rr-urr^6fu^rT6jsT CSurrit

(d) Qaj6fflr5rriL© uifl6UiT,$<$65)65T urr§i«(TUL| LD(t)pil)

«L_
<£.$d) Q5=iufl)urr©«6fT ^@UL| 5=ili_ii)

1. 1971

2. 1974

3. 1950

4. 1976

(a) (b) (c) (d)

1
’

4 3

4 3
(A) 2

(B) 1

(C) 3 4 1 2

(D) 1 2 3

(E) 6)5165) L
_ Q^lfluJ®fil6b65)60

2

4
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7. Which is/are the objective/s of a Right to Information Act 2005?

(i) RTI is empower to citizens, promote transparency and
accountability in the working of Govt.

(ii) The Act is a big step towards making the citizens informed
about the activities of Govt.

(iii) This Act provides right to access information from public
authorities, which is guaranteed Art. 13 of constitution.

(B) (ii) and (iii) only

(D) (i) and (iii) only

(A) (i) only
(C) (i) and (ii) only
(E) Answer not known

l9«ST6U0<oU65T<oUrbpeTT ^ffjllLJLb sJfiGDLDff ffL _L_LD 2005 Gr5rT««rE)«65)6ITQ£ifl6L| Qffiuas.

(i)
^erfl^6b, Qffu_i burTLiq.d)QoJ6lfluua&L _;$ £«ST6B)LD IDfbpib QunpUl_|6TOriT«0 <aj 26Sr«00S]uup

(ii) Qffiy6burr®«0T 0r5)£§] 0iq.LD<s«(6rFj«0 Q^iflajuu^^pajp.
(iii) ^IJffSOlDUlSaST 2_pUL | 13-QST $Lp 2_p<£llU6lfl<5£ELJUL _l_Qurrp ^a6ua)«65)6n Qupib S-ifls& LDSouj ^eifla l̂fDgj.
(A) (i) LDL _@LD

(C) (i) LDfTjpLb (ii) LDL _0LD

(E) efil«5)L _ Q^ifluj0S)a)65)6o

(B) (ii) LDfDpLb (iii) mil@ih

(D) (i) LDji)pib (iii) LDL_@ U)

8. Which among the following was the first state in India to constitutean institution of Lok Ayukta?
(A) Karnataka
(C) Maharashtra
(E) Answer not known

(B) Kerala
(D) Rajasthan

(korra ^,iLi«^rT65)6u rglpefiliu (ip^o) LDrrrgl oLb crp ?

(B) (3«ij6rTrr

(D) ^ijrT^«o^rr65T

(A) «friBrn_arr

(C) LD«mjrr6i% U).i7fT

(E) Q^ifliu©Sl6b65)60
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9. Which of the following statements are t
for membership of the state legislature?

true about the qualifications

(i) 25 years of age in the case of Legislative Assembly
(ii) 30 years of age in the case of Legislative Council
(iii) Possesses such other qualifications as may not be prescribed by

law passed by parliament

(A) (i) only
(C) (i) and (iii) only
(E) Answer not known
LDrnfl 0 ffllL-lDGSTjD 2-pUlSlsmT j5(§<§«6fT (5J£I$£| l5)65TGlJ0Lb 5sipp<56lfl& 610]

2
_
6Wr65)LD ?

(B) (i) and (ii) only
(D) (ii) and (iii) only

(i) 25 UU_I§] fgllJLblSluJ6UIT«S6 TT ffLL_ C!uiJ68)6LJ«0 ^0^1 UJrT65T61JITffiCTT

(ii) 30 QJlLlgl lfllJLbl51uJ61JIT<5OT (3LDO)65)6U <$0 <$0<£l UJ nr«5T<5lJ IT<56TT

(iii) urrijrT(er5U5«sTiDLb rgl 68) RNCSTOURPRGLUJ <fiLi_pprro) 0f51ui51 i_uui_iT^ LSlp <$@.§«68)611-

Quppi0«« Gaj«55r®Li»

(B) (i) Lapp Lb (ii) iail@ib

(D) (ii) Lappib (iii) LDilgub
(A) (i) Lail©ib •

(C) (i) Lappib (iii) LailQia
(E) cfilSDl QjSjlfllUoS)0)68)60

10. The Madras Legislative Council was formed by the

(A) Government of India Act of 1919

(B) Government of India Act of 1935

(C) Indian Councils Act of 1861

(D) Government of India Act of 1858

(E) Answer not known

(olfFSST68)651 LafT<SfT6Wr «L-L—U CuiJ68)6U

(A) ^p^llLI ^) IJ* fflll_Lb 1919

(B) j£)p<§UJ 1935'

(C) $JB;£IUJ «a|65i£l6b ffL-i
_Lb 1861

(D) ^1* ffL-L
_Lb 1858

(E) GS\GS)L_ Q^(fllLI0Slo)65)6O

ffL-l—LJUl^. 2_06Urr««UULlL_p.
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11. The word “union” is the “Union of States” in our Constitution wasinspired by the

(A) Canadian Constitution
(C) Irish Constitution
(E) Answer not known

(B) England Constitution
(D) U.S. Constitution

‘iDrTrSl60[EJ«6ifl«ST ^Qyrrglujih’ OTOM) Q^rrrbQjprri rfl6b ^)i
_LbQurbp6rT6rr ‘$6571$iLiLb’ 67657$Qffrr®) . ^ I7<^ IU6O«S)LDUL516IS10^§J OT®^rr6rru Quri)p6T76r7§|.

(A) &657I— FT ^lj£)liJ6D65)lDUq (B) glfcj£l6pr7$§l ^lj£) lLI ©)65)LDUL|

(C) ^iuiT6orT(B§] <^IJ£) U_I U«S)LDUL| (D) ^Qmiflaa ^ij<fliiJ6oaoLDUL|,

(E) ®S)68)I
_ QsjlfllJJ6)510)65)60

12. Choose the right matches :

1. Power of High Courts to issue certain writs
2. Transfer of certain cases to High Court
3. Establishment of a common High Court

for two (or) more states
4. Extension of jurisdiction of High Courts to

Union Territories

- Article 226
- Article 178
- Article 231

- Article 320

(B) 2 and 4 only
(D) 4 only

(A) 1 and 2 only
(C) 1and 3 only
(E) Answer not known
QurT0gj£SLDrr65r Gggr7iq_<565)6r7 G^IT6^ QffUJ® :

1. 2_UJlt lg$LD6fr7$rEJ«6rf)6&7 0(5)ui51lll_ $<£1 <2uijr765)6557«65)6T7LJ - oSl <£) 226
iSljDui51«0ii) ^^lamjii)

2. 0r61ui51lll_ 6LILp<S0<565)6TT ÛJITlS.£lLD657$<$<£lrf)@ LDfTrfjp^O) - ®SI <£I 178 *

- GS\$I 2313. @ij«Rn-@ ^d)6op LDrn£l6Ofcj«(6nj«0
Qurr§|6LirT65T 2_lLHT^LD«)rrDlil ^65) LD <£<$0)

4. 2_ium|$m6OTnDr^<5<sifl65T ^^larriju UIJUO& U ^ajrrSliuu
U0^1«(6[5<50 6)51 ifldJ (T<5(5Lb QfflU^O)

- <sS\$ 320

(B) 2 LDfDpLD 4
(D) 4 LDL.(Slli)

(A) 1 LXMDpii) 2 LDllglli)

(C) 1 LDjDpLD 3 LDL
_0LD

(E) 6)5165) 1 Q^jlfllLI6)510)65)60
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13. From the following in the year 1962 in the wake of Chinese invasion
which Act was passed?
(i) Anti-Secession Act
(ii) Anti-Immigration Act
(iii) Anti-Trafficking Act
(A) (i) only
(C) (ii) and (iii) only
(E) Answer not known
i51«n-su06U6OTGurbrr)j <oTT 1962 ^ii> U«OL

_QUJ@ USDLJ

r0«on)(o6Uji)/DuuilL- erp ?

(i) lSllfl ®Sl«D65TQjrT^ a= L_
l
_

LD

(ii) @u).(3ujrf)r)^ ^@ui_|ff a= L_ i LD

(iii) <KI_j5«£ b JSQ^ULI# ffL_l_l£)

(A) (i) LDllglLD
(C) (ii) LDJDpii) (iii) LDL-0LO

(E) Q^iflujsfilebsDO)

(B) (i) and (ii) only
(D) (i) and (iii) only

(B) (i) uD^opii) (ii) LDil^Lb

(D) (i) LDfDpii) (iii) LDL1@ LD

14. Assertion [A] : Social Justice basically does not deal with equal
social opportunities.

: Social Justice is non-proportional to either social
equality or social rights.

Reason [R]

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C) [A] is false, [R] is true
(D) Both [A] and [R] are false
(E) Answer not known

a«.ff)p [A] : iS;® OTSSTUgJ ^li)
_LJIJ«f)L

_uSIO)

UrrUJLJL|<S65)6IT<S 65)«lLirTOT6Ud£l«) 5)6D.
<FLDLDIT65T 5^«$

$<£) CT65TLJP ffLDjSgJ&JLb ^«)6D§] <9=(ip«55

2
_

(fl«s) LD <5(sr5<s@ ©Slal^rTffmjLDjD^p.

(A) [A] ffifliurrsjTp, da,«rrrd) [R] <$©JfDiT6ffr§i

(B) [A] LorfjpLb [R] ffiflujrr«fr«)Qj; [R] ^>«rr§j [A] ©S) fD«rr«sT ffifliurrstr
a£)6rT<s<5Li>

(C) [A] ^(SurDfresTp , [R] ffifliurrasrp

(D) [A] mjDpib [R] jSajfDrrssTaoaj.

(E) 6filo> L
_ Q^ffliuefildJO)©

<KrT!J655TL£> [R] I

11 CCSEI-IAP25
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15. The Justice Party was established in the year 1916 by whom?

(A) T.M. Nair and Thiyagaraya Chetty
(B) P. Rangaiah Naidu and P. Ananda Charlu
(C) Chidamparam Pillai and Subramania Siva
(D) Jotirao Phule and Ram Mohan Roy
(E) Answer not known

j£<£l.s«SLLi) ujrrijiT«) 1916 «^j,Lb rglpcijuuili_§i ?

(A) T.M. (Brnufr mfopii) <Du_irraijrTUJ

(B) P. ijiBjauLiujrr rBrru
_
|0 LDffrpLb P. ^65Ti5a6

(C) ^ihuijli) l5l 6TT68)6TT LDf£)pLD *UlS1lJLI)fiJcfluj $6Urr

(D) (Sggn$lijrT6ij y,G60 LDrbpLb ijrrmGmrraeirr ijrnu

(E) ©S)65)l_ Q^lfluu®S]6b05)6O

16. Arrange the event in Chronological order
(1) South Indian liberal Federation was formed
(2) Madras United League was renamed as Madras Dravidian

Association
(3) Periyar E.V.R. transformed the Justice Party into Dravidar

Kazhagam
(4) The Ministry of A. Subbarayalu Reddiar fought against the

Swarajya Party

(A) (2), (4), (1), (3)
(C) (1), (2), (4), (3)

(B) (2), (1), (4), (3)
(D) (1), (2), (3), (4)

(E) Answer not known
jfl <5^61|<565)6TT<5 <5rT60 QJlflgWffULllij. 6^(LprBJ <568) LD <5<5CL|Lb

(1) Qfl>65TQsflILI SjfTIjrTOTQjrTSjai <9fii_L_ l_65)LDUl_l -̂©SUmsasUUL-L-p
(2) QuMlijrTGfo U_| !D65TQI L

_ eSa, Qimlijrrcfo <£lijrT6fi] i_iT
inpQuujifl i_uu LLL_§I

(3) QuifllLirTIT rF.Q6U.7rT. fi)^<5<$L_<fl65)UJd5 £§lljrT6fi]|_IT <5Lp<5lDrT<K Li> rrfT) ff)l6iyrmT

(4) <?. <SHjUIJ[TUJ £l QlJlLl̂ UJmT ^6S)LD<F<!FIJ6IS)6U aHJJIJfT^UJ® 6r<§ljrT«UCSu rrijm^uj^j

6T65T

(A) (2), (4), (1), (3)
(C) (1), (2), (4), (3).
(E) <sS\es)i_ Q^ifliu6iSla)65)6o

(B) (2), (1), (4), (3)
(D) (1), (2), (3), (4)
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17. Match the four engines of development in the Budget 2025-2026 :

(a) 1st Engine

(b) 2nd Engine

(c) 3rd Engine

(d) 4th Engine

1. MSMEs

2. Export

3. Agriculture

4. Investment in people

(a) (b) (c)

(A) 3 12

(B) 3

(C) 4 2 3

(D) 3 2 4

(d)

4

1 4 2

1

1

(E) Answer not known

2025-2026 igl^lujff )l«66)<siiSl6b @r61ui51il@OT6fT r5fT«n-(§

QurT0<$§j <5.

(a) l**® ^UJIB^IIJIB

(b) 2aJftl ^ujrD^lijm

(c) 3“*

(d) 4aJ§l

^ujrb^lijLh

6U65)ffiflj65)6IT

1. MSMEs

3. efilsiJffrnLiLb

4. LD««6lfl6b (Lf)£65@

(a) (b) (c) (d)

(A) 3 12 4

(B) 3

(C) 4 2 3

(D) 3 2 4

(E) S£|«DL_ GI <£lfluJ6$0)66)60

2 '1 4

1

1
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18. Assertion [A] : The demographic dividend is defined as a rise in
the rate of Economic growth due to a rising share
of working age people in a population.

: India is in the midst of process where it faces the
window of opportunity created by Demographic
Dividend.

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is false, [R] is true
(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A] is correct
(E) Answer not known

Reason [R]

«ubp [A] • LDffiaCTrQ^rraoau L516TT6L| OT«STU§] 6^0 LD«<56rTQ^rr65)<5u5)Q)

2_«f)Lp<50li) <0llU_ISjjQDl_UU LDff <S6rfl65T Ur&10 ffifl5016U061J <5rTQ) g-fDU^lh QuiT06mT^rTIJ QJOTITff^l eMjSjSjilQ)
g-(i)u©ii) ^̂Iffifluurrff Qj«5)ijujpffffLJLj@£lfT)§]. I

:
ffmj6wnb [R] : LDffi <5OTQ^rras)<su lS)6TT6H <56TTrT6b 2

_
06UrT««UUlll_

&JfTlLJLJL|ffGTf) 65T CT^lliQarrOT^Lb QffUJd)(Lp65)fDuSl6&r

^r^iLur e_6iT6iT§i .

(A) [A] ffffi ^«STIT6b [R] <$Qjp

(B) [A] iBff)pii> [R] @ij«Rrr@(3iB ffifl mitpib [R] OT«STU§] [A] «0 ffiflujiran-
oSlOTaaLb

(C) [A] <$ajp, [R] ffifl

(D) [A] iDfDpih [R] ^ijafcr^GiB ffifl [R] OT«5TU§I [A] ffifliLinssT
SlSl6ITff <5Lb ^§(0)65)0) CT65TU|j| ffifl

(E) Q51S5) L_ Q^ifluj0Sla)«no)
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19. Which of the following is not the function of the Finance
Commission in India?
(A) Preparation of Union budget
(B) The distribution of net proceeds of taxes between the union

and the states
(C) Recommend the principles which should govern the

Grants-in-aid
(D) Any other matter to be referred to the President to promote

sound finance
(E) Answer not known
<£(2y> Q«rr@««uuL@OTOT6m6uuS)«> OTSO&J g§) i5<£liu r§l$lffi 0(Lpafi)6ffr uasfl {g)a)®oo> ?
(A) LD<$<£llLI <^7<#) 5T UIJ(SI| <£) Ll

_
<$65)<£ <$UJmflui_l§J

(B) ID^OJ Lumpib LD (T|Sl6oitj«(sr5<s^0S)L
_(Suj r£l«ij ®Jiff 6XJ®©Jrruj««D6rr

QffUJ§| uJllT|B^0fl^6b
(C) u> rr«iflu-iLb Glupaj^ji)<KrT65T «$@<§l a_p^l QffiiiJ;£a)

(D) rB«)60 ^li_i£» n«fT I£1<£I«S> UJ rSlencopn-L-,©^ 6u«foT«mi> 0iq
_uji7*£

^65)6i)suifl®5T umT6#)6iJ«0<s GlffirTOfor© Qffi®)®) Geusfsr^-ujp
(E) ©SlaoL Q^ifliu©Sl6b«D60

20. Which of the following statement is true?
(1) Increasing Bank rate policy reduces borrowing among

businessmen
(2) To control inflation RBI increases bank rate policy
(3) Bank rate policy helps to control increasing price of goods

(A) Statement (2) and (3) are correct
(B) Statement (1) and (2) are correct
(C) Statement (1) and (3) are correct
(D) Statement (1), (2) and (3) are correct
(E) Answer not kn
iLpasafori- ffiiflujn-sfrp crp?

(1) 2_LU0LD 6U (BJ^I ©Jlllf}- ®S<£LB 6LI 655fl«rr«6rfl6B) l
_(Suj ffil

_«fT QupLb ^IT61JLb

DJ5§I «S)@ <£ljDgjl
(2) U6ror6fi«<s<£«s)«£<5 «il(9uu@^ RBI surtj^l ajiLiq. eSppenp e_

ujiT<$p,£lfDp
(3) 6urij l̂ &JL -U}. aS^ii) Qurr0il«6ifl6ffr ©Sl«f>60 2_ILIIT«S)6IJ« «L ©UU©<5P<£) ID§I
(A) ah./i)p (2) LDfbpLb (3) ffifl
(B) a«.fDp (1) ir>/bpii> (2)
(C) ahj&p (1) iDfDpii (3) ffifl
(D) ffin.fi)p (1), (2) LDfDgJJLb (3) fflfl

(E) 6tei_ Q^iflujafilcbaf)®)

own
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21. Pick out the incorrectly paired from the following :

(1) 1962 - The Madras State (Alteration of Name) Act

passed by the Parliament

(2) 1967 - Perarignar Anna Sworn in as the Chief Minister
of Tamil Nadu

Perarignar Anna was elected to the Rajya Sabha

The Madras State (Alteration of Name) Act came
into force

was

\

(3) 1968

(4) 1969
i

(A) (1) only incorrect

(B) (1) and (2) are incorrect

(C) (1) and (3) are incorrect

(D) (1) and (4) are incorrect

(E) Answer not known

l51«5T<oU0«5y65T6Uri) f5l6lSl0rB§J <$61J (DrT« Jg)65>65&r««UUlL©CiT6rT65>££ CS^ITr5Q^@««64li5.

(1) 1962 QffSjrsDssr LDrrrflso (QUILIIT

jBm
_rr(§|5iD«5T(D^Q) i£laM)(36UfT) n)uuiLi_g]

.$L£ILP<5 (ipfscogWLDffffijrrffiu (2u [jj5l (g> rr ^655r6wrrr u^oSlCSujrfjiDrriT

(SuijrfligjiT^titramc ijrr^iuffurTcfilii)® CS^iTisQ^(B>««uuLli_mT

Qff«yr65)65T LDrnflo) (QUUJIT LorrfDfDLb) ffilL_ih <^i£g£j<K(§

LDnrfDPDLb ) 5= L_
l
_Lb

(2) 1967

(3) 1968

(4) 1969

(A) (1) LDL
_@ LD ^GUfDrT65T§]

(B) (1) LBfbpih (2) <$<SUfDrT65T66)61J

(C) (1) mrbpLb (3) <$6utDiT65T6S)6iJ *

(D) (1) LDfbpLD (4) «$6UfDrT65T65)6U

(E) GlSlSDI— Qs> lfllLJ®S)Q)65)6D
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22. The members of the Justice Party were sent to meet Joint select
committee in London for finalise Government India Act in 1919

(i) Arcot Ramasamy Mudaliyar

(ii) Koka Apparao

(iii) T.A. Ramalingam

(iv) S.K. Thulasiram

(A) (i) and (ii)

(B) (ii) and (iii)

(C) (iii), (ii), (iv)

(D) (i), (ii), (iv)

(E) Answer not known

1919 LD <^ij* QffiiJ6u^rf)«n-<5 ^65)LD««UUI1I_
G^fr®L|a 0(ip65)<ou eosfen-ssfla) .ypil -s® Qa=«rrn) $> <il <5<5LL<£) &-pui51arTiT<56n-

(i) ^iDarr© glijmDffn-uSI (ip^eSlujrriT

(ii) G>«rarr ^uurrijfrdj

(iii) iq_.^r. ijmB6iSlrBJ <Kih

(iv) OT6fu.<3«. sjj6rr<£) fjmb

(A) (i) Lnrbpm (ii)

(B) (ii) LorfjpLb (iii)

(C) (iii), (h), (iv)

(D) (i), (h), (iv)

(E) <oS\&s) L- Q^ifluj0S) (Sb«s)6O
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23. Identify the person who uttered that, “Nothing can be done without

shedding of blood. Japan was prepared to sacrifice 20,000 men and

gained a victory over Russia. If 15 crores of Indians do the same,

“Swaraj will be obtained”.

(A) V.O. Chidambaram Pillai

(B) Subramania Siva

(C) Subramania Bharathi

(D) Vanchi Aiyar

(E) Answer not known

«#) rbajiTLDd) Gr§jSL|Lb Qffulmj (Lp^-U-irrgj. gguurr65T 20,000 ®SijiT<5«n6rr

<£) u_irr<SLb QSUJILI ^ujmjrra 4§l0iB<5gJ - ijci^LurrQDSu Q©J 65TQ)g|. 15 Gtarriq. |§lr5<£) iiJit«56rT

QffUJ^rreb, “srUJijrr^uJLb” ^l 65) L_«@ii) OT«rrp avffliu rsusnij ^65)i_u_irr6rrLb

«rr®BT64ii) .”

(A) 6U .2-. <#) <£LbUIJLD L?) 61165)err

(B) <3rLilJLDfiS5flli-l <#l6UfT

(C) <3HjlJLD655fllLI UfTIJ^l

(D) Qjrr(65̂ ) ggujiT

(E) ®Sl«oi_ Q^rflujoSl6b65)60
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24. Assertion [A] That is the land or country which forces free from

fierce famine, wasting plague and ravages of

enemies

: Poets consider it their primary duty to wish the

country and wish for the development of its

people. They want all countries to be special, not
just their own.

(A) [A] is true but [R] is false

(B) [A] is false but [R] is true

(C) Both [A] and [R] are true, [R] is the correct explanation of [A]

(D) Both [A] and [R] are true, and [R] is not the correct

explanation of [A]

(E) Answer not known

Reason [R]

1

: “2
_pu$iL|Lb 96urru L516roflu_

|Lb Qffpu68)«u_
|ii)

Gffijrr rBrr©”

: njrulss)L_ GurTLp^gjGuen^iLiLb, njml© LDffifBctflofT GiDLOurrileni—
oS)0LDL|OJ65)^5U_|Lb l_|6D&jrr<S6TT. £65)6DlLirrUJ <95 l

_
S0LDlLirr<5<5

«0gl^l«rrfD65nt. <£65T f5fT© IDL_(51U51«IT(51 OT65T«mr©Lb

®Sl0Lbi_|^l «yrrD65nT.

5«.rf)p [A]

<5mj655TLb [R]

i

(A) [A] a=(fl , ^mneo [R] -£<sup

(B) [A] <5<ajp, ^j,«nrrd) [R] a=ifl

(C) [A] LDjppLD [R] ffifl , inrbpLb [R] OT65TU§I [A] ®Slrf)0 ffifliurroyr

Gfilcrr«<5LDrr0Lb

(D) [A] LDfDpLD [R] <EFlfl , IDftpLD [R] OTGSTU§| [A] ®S1(|)0 ffif ) ujrT6ffr

sfil6n-<5aLD«)a)

(E) QS1«DL_ Q<5(fluj0S1a)65)a)

19 CCSEI-IAP25
[Turn overY

s
Highlight

s
Highlight



25. One man, 3 women and 4 boys can do a piece of work in 96 hours,
2 men and 8 boys can do it in 80 hours, 2 men and 3 women can do it
in 120 hours then 5 men and 12 boys can do it in

(B) 42— hours
1(A) 39 — hours
11

(C) 43— hours

11

(D) 44 hours
11

(E) Answer not known

$0 ^«S5T. 3 QU655T«CTT, 4 «DUlD65Tffi <oTT GfflT(5§] $0 U l5) L-L_ Co6U0D6O0mjJ

96 LDSrafl QffUJ^«STfD65TIT. G&J 65)0)68) ILI 2 ^J,655T«6TT LDfT)g)JLb
8 65)UUJ «5T«6iT CfflTIBg] 80 LD600fl (SrBIJ^Q) Q«9= iLl OTTfDGOT IT . lSl«5TH 2^655r«6TT LDIT)plh
3 Qu6wr«6rr Gfffrijgj GGUQDCDSDUJ 120 morafl CSrBijLb QffiLi <ll65Tn)65TiT, ersiflo)

5 ^eRJTffiOT LDnjpii) 12 65)UUJ65T<56iT <3\Gsb G6U 65)6l)65) lLi QfflLJUJ Qarrerr^ii)
GIBIJLD

(A) 39 — Gifiijih

7(C) 43—

(E) ©S1 <S5) I_ Q^lfluJ0Sl6b65)6O

7(B) 42— LD6cofl GrsijLb

(D) 44 LDSBcfl GfBIJLb

26. The diagonal of a rectangle is thrice its smaller side. The ratio of the
length to the breadth of the rectangle is

(A) 3 :1
(C) V2 :l
(E) Answer not known
$0 Qa=AJ6LI«££I«ST ^Lp«s)6OGfililL_mrr05T§i (§p£luj

^ssrp2_6rr6rrp CT«sfla) Qff6U6u«i$<£l 65T fitxub uMT)pii> CTOTTSST?

(A) 3 : 1

(C) V2 :l
(E) oSl«S)l_ Q^lfllLIsfilsOODCD

(B) V3 :l
(D) 2^2 :1

(B) ->/3:1
(D) 2%/2 :1
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27. In a dice, if 2 is adjacent to 3, 5 and 6, then which of the following is
necessarily true?

(A) 3 is adjacent to 6

(C) 2 is adjacent to 4

(E) Answer not known

(B) 1 is adjacent to 4

(D) 2 is adjacent to 1

90 uffi6t)i—uSlo) 2«0 ^0<£)a) 3, 5 Lurfjpib 6 2_6rTOT§i cr6sfl& HCSy?
Q<5rT©<ffi<KUUL _®6nW <3tnJT)rfjl6b £_p«|llLirr65T a_«fer«DLD CTgJ ?

(A) 3 «0 ^0<3<5 6 a_6TT6TT§J

(C) 2 «0 ^0G« 4 2_6TTGT0|

(E) ®S1«5)1_ (ol <$lfllJLI©S)6i)«06D

(B) 1«0 ^0<2<5 4 a.0T6rT§]

(D) 2 <50^0(3« 1 2_0TOT§|

28. Five girls are sitting in a row. Rosy is not adjacent to Sivanandhini
and Abi. Anuradha is not adjacent to Sivanandhini. Rosy is adjacent

to Monika. Monika is at the middle in the row. Then, Anuradha is

adjacent to whom out of the following?

(B) Sivanandhini

(D) Cannot be determined

(A) Rosy

(C) Monika

(E) Answer not known

ggjtaji Qu«Rn-«6TT 90 ajfflflOffuSid) ^mmB<£l0<5.il (DmT«0T. CSijrrcnSl CT«5TU6IJIT

<£)6Uf5rB <$ssfl m/bpii) <=§H0£la) gd>a>«> . ^epijrrprr <#lcurBjB^i«jfl«0 ^0^1«)

Gijrrcnfl <3uDrr6Bfl <5n-s61 iT)0 ^0<£la) g)0«$fDrr6rT. (SLDrT6ofl«rr ajiflsnsuSlo)

pfaeSieo ^05^fDrr6rr. tianenn, ^©lij^rr iSlOT6U06U 65Teurf) ($<fo u_
inr0*0 <=SH0to

^l0«iln5n’6iT?

(A) GijmsnSl

(C) Gmrroiflarr

(E) Q<$lflllJaS)a)65)6l)

(B) £)6UJ5J5<il«sfl

(D) <§rrmrr«sfl <5.5 (ipuj-iurTgi

CCSEI-IAP25
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29. Assertion [A] : Overloading of Nitrogen in the environment Can
cause an imbalance to the natural nitrogen cycle.

: Nitrogen becomes a pollutant when it escapes into
the environment and reacts with other organic

compounds.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanation of

Reason [R]

[A]

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known

[A] : SHDpff^LpflSIo) 68)J5L-IJgg65)65T ^<j£]«UDrr«

^liurf)«s)<5iu(TQ[T ©ojBilrrggsn- *Lprb<£luSlo)
2_655TI_n\S(§<£l fDg].

a$pff<g>fep®SI<$) sajbgl LDrr* LDmS), LDIDID aiflLOff
GffrrmrBja(sr5(_«nr Q£il6B)68TL|ifl (£lfDg|.

^jTDpajgj

^Trf) fD^rTLp6iDQJ

«rr(j«55rLb [R] :

(A) [A] ffifl , [R] <$eup

(B) [A] iDjbpib [R] ^cr«fer©Lb ffifl; mjbpib [R], [A] oSlparron- ffiflUJITOJT
®Sl6rr<5«LDrr(§Lb

(C) [A] ^(sup, [R] ffifl

(D) [A] LDIDpii) [R] @ IJ688T©li) ffifl ,^BTITO) [R], [A]®Sllt)«rT65T fflfllUITOST 6£lOTffffli)

@0)68)0)

(E) oSlODLi. Q^lfllLJ0Sld)68)6O

22 yCCSEI-IAP25

s
Highlight

s
Highlight

s
Highlight

s
Highlight

s
Highlight



I
30. Consider the statements on monsoon and choose the right

(i) Most monsoon rainfall is caused by the depression over
Arabian Sea and Bay of Bengal.

(ii) The amount of rainfall increases with increasing distance from

the sea shore.

(iii) The eastern coastal area of Tamil Nadu remains dry during

South West monsoon.

answer

(A) (i) is true

(B) (i) and (iii) are true

(C) (ii) and (iii) are true

(D) (i) and (ii) are true

(E) Answer not known

U0Qj««rT/i)g)j <s«UDp«6rfla) ffiflujrTajTajiDaDfD :

(i) «L _&> LD#pLb 6UfEj«rr6fT efilifi(5i_rrefi1d) E_OTOT
(glana)«OTnd) Glu0ii)uiT«)fT«T U0&jix>«>^p Qun^l l̂fDgj.

(ii) SL _Go)rr7&£l& giroib Gurrgi LDGO^USIOT

(iii) Q^«fr<3iDfi)0 U0OJLOa>|puSldr Gurrgi %*0 SL &urriju U0$
aj/D6*r<2i_ «rT6SBnju©ib.

(A) (i) tflfllLirTGJTgj

(B) (i) LD/bpii> (iii) ffifliLiiTarraoaj

(C) (ii) LDJDpLD (iii) fflfllUfT6BTa06lJ

(D) (i) LDri)gyLb (ii) ffifliLirroTeoeiJ

(E) <SS\GS) I- Q^iflujoSIdjaoa)

CCSEI-IAP25
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31. Pick out the incorrectly paired from the following :

Amitav Ghosh(1) Smoke and Ashes : Opium’s
Hidden Histories

(2) The Golden Road

(3) Twilight Prisoners :
The Rise of the Hindu Right
and the Decline of India

(4) The Final Farewell :
Understanding the Last
Rites and Rituals of India’s
Major Faiths

(A) (1) and (4) are incorrect
(C) (2) and (3) are incorrect
(E) Answer not known

William Dalrymple

Minakshi Dewan

Siddhartha Deb

(B) (1) and (2) are incorrect

(D) (3) and (4) are incorrect

^^QarT@««uuili_6uri)r6l66l0i5§i «£6uiDn-,£ g)65)65ffr««uuili_65);$£ G^frrBQ^@<5«6^Lb:

(1) *CoiDrr« ^6STL_ ^,©3>6ru :
6£Ul5)uJLb6fU Qjfjll_65T Qlfjl6rDL_f?<Sft)

(2) $1 (3ijrrg\

(3) ilefi)65)60il i51ifl6ro65rfr6h) :

5> 65> IJ6T0 ^>U 8> g) f5g] 65)IJLL

^655Tll 5> 1^<K65) TT65T ^J,U ^tb^llUrr

(4) s> 6WU 65T®) o°oQuujfrQ0j4) :

^l«5Tl
_ITCfo(Sl_«5ri^rE] 8> 60ITCf0L iflllCTO

^6STL
_ glp^liurrsfu

(SlBgglT ooQuiLi^GfO

(A) (1) UMftpLb (4) ^QjrDrr65r«s)6U

(C) (2) LDfT)pii> (3) ^6UrDn-65T68)CU

(E) oS)©S) l Q^lfllLldSI0)65)60

<^U51^QJ Gffi (T6i%

®Sl6b651ujLb (2i_6biflibi51o)

if)65rn\$# <£l <surT6ffr

(o£u

(B) (1) LDfDpLD (2) £6UrDrr66T66)6U

(D) (3) U)(T)pii) (4) £6U (DrT65T66)6U
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32. Match correctly the Excavated materials with their corresponding

Excavation place :

(a) Shell Bangles

(b) Ring Well

(c) Roman Coins

(d) Silver Stamps

1. Azhagankulam

2. Thulukkarpatti

3. Kezhadi

4. Vembakottai

(a) (b) (c)

(A) 2 13

(B) 4 3 1

2 1

4 2

(d)

4

2

(C) 3 4

(D) 1 3

(E) Answer not known

^«LpiTUJ6filQ) <£1«S)L_.£<5U Qurr0L_
<565)6mL|Lb, ^<£LprTUJ6L| QfflLJUJUUlll-|g) L_<$«&|$U-|Lb

QufT0d5g|<5.

(a) <F(Bi0 6U6B)6mLia)<£OT

(b) 2_6B)fD <^lfl55rp

(c) Gijrrii) ^rraOTiurejasOT

(d) (SoJOTOfl <£\&5T

1. ^Lp«65T06tTL£>

2. §J^J <5<5ITUlll^
3. %l%

4. Q6uii>u«G«rnl65) i_

(a) (b) (e) (d)

(A) 2 13

(B) 4 3 1 2

(C) 3

(D) 1

(E) sflam-

4

2 14

4 2 3
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>l , n
33. The Union Executive consists of the

T Council of Ministers
2. President of India
3. Central Secretariat
4. Vice President

Choose the correct answer by using the code given below :

(A) 1only
(C) 1, 2 and 4 only
(E) Answer not known

I (B) 1and 2 only

(D) 1, 2, 3 and 4 only

a QffUL160mL£) g|65MDuSl«5T U@^luJIT« g)0UU§l

1. ^65>lDfffflJ6B)6U 0(Lp
2. (5jlrj

_
UJIJ5V 5)68)60SUIT

3. LD^^luj QffUJ60«lh

4. (Sjl^UJIJ* p65)655T <£68)606UIT

<£lj)&<SnW)lt£> 6Lllfl65)5=65)UJU UUJ«STU@£^I 5= lfllLirT66T 6)S)65) I_65) U_
1£ I

(B) 1 iDrbpib 2 LDI1@ LD

(D) 1, 2, 3 IDnjpLD 4 LDL
_@li)

(A) 1 LDL
_©LD

(C) 1, 2 LD(i)pii) 4 LDll©LD

(E) ®Sl 65) l Q5)ifl 11)6)516065)60

34. What is the definition of a child under the POCSO Act?

(B) Below 16 years of age
(D) Below 21 years of age

(A) Below 14 years of age

(C) Below 18 years of age

(E) Answer not known
,

POCSO 5=lll_<5<£l65T JiLp 90 0l£(566)f5uSl65T 6U65)IJUJ6B)fD 6T65T65T ?

(A) 14 QJlU^Iri)® &
_llUlll_6UIT«6tT

(C) 18 6UUJ^lfi)0 2-L-L-1L-1—6UIT5)6TT

(E) ©5168)1 Gl £5ifl11)6)5)6068)60

(B) 16 6UlU^lri)0 S_
L

_
UL

_
l
_

6UIT«6rr
(D) 21 6UUJ^lfi)0 S-L-ULI 6UIT5>6TT
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35. Match the following (Women Empowerment)

Name of the Act

(a) Medical Termination of Pregnancy Act 1. 2013

(b) National Food Security Act

(c) Rights of persons with Disabilities Act 3. 2017

(d) Mental Health Care Act

Enacted Year

2. 2016

4. 1971

(a) (b) (c) (d)

(A) 1 2 3 4

(B) 4 12 3

(C) 2 3 1 4

(D) 3 4 2

(E) Answer not known

1

t.

,SLp«s6wn_®j^)«j)r) Qurr0<£§i <5 (Qu655T<s5(6n>«0 c9i <il <5mjLD6ifl <$<$«))

ffL-i 5jd§)®rr QUUJIT

(a) LD0^§iaJUUlH-lLirr65T ,50<S<9565)6DLJL| fflll—LO

(b) s_«s5r6L| urrgj«rruq ffili_Lb

(c) iDrrfDp^l/Dguaoi-CSiiJ^.sarrafr 2_ifl«)iu<s6rT a=ili_ii>

(d) 11)657(661) uijm£> ifluL|

|§iUJrf)njUUlLL_
^655T@

1. 2013

2. 2016

3. 2017

4. 1971

(a) (b) (c) (d)

(A) 12 3 4

(B) 4 1 2 3

(C) 2 3 1 4

(D) 3 4 2 1

(E) 6)5l 65) L_ (olfljlfllU6)fi]Q)66)6D
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I 36. Match the Article :

(a) Audit and Accounts of Panchayats

(b) Reservation of seats

(c) Elections to the Panchayats

(d) Gram Sabha

1. 243 A

2. 243 J
II

3. 243 D

4 . 243 K

ll
(a) (b) (c) (d)

(A) 2 3 4 1

(B) 3

(C) 2

(D) 4 2 1 3

II 4 2 1

14 3

(E) Answer not known
i

©Sk§l <ssD6mj QurT0<£gj<5.

(a) <5«S5f1 <565)<5 UMi)pLi> <56SBT<$0 Ll^ffrriU^gl ®S) <£I

(b) ^i_ Q^m_iTL|ai) i_uj U0ffmu^gi ©S) <£l

(c) U^ffrTlLl^gJ^ Cc^[T^6b

(d) <£lijfTLD ff«ou QS1<£)

1. 243 A

2. 243 J

3. 243 D

4. 243 K

(a) (b) (c) (d)

(A) 2 3 4

(B) 3 4 2 1

(C) 2

(D) 4 2 1 3

(E) ©Slani- Q<£ifluj®Sl 6b05)a)

1 •
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37. Bead the following Assertion [A] and Reason [R]
answer :

Assertion [A] : Consideri
there are
Enemy Aliens.
The citizens of enemy Aliens also enjoys protection
against arrest and detention under Article 22.

(A) [A] and [R] are correct; [R] is the correct explanation of [A]
(B) [A] and [R] are correct; [R] is not correct explanation of [A]
(C) [A] is correct; [R] is false
(D) [R] is correct; [A] is false
(E) Answer not known

and find the correct

ng apart from, citizenship among in India,
two types of Aliens, Friendly Aliens and

Reason [R] :

deipgH [A] arnjGxrib [R] 6U«D<S ©SIGUTT, ffifliunrsn' OSIODLSDUJ :

^l0<5@Lb 0lq_ lL|lfl 65)LD<g565)6r7lL|LX) <S5 L_J5gJ U 77I7«50L£)

Qurr(ip§J , ^BllLj 6U65)<95 ^6ffT60fllUIT«6rr, OT^llfl 6U65)<5 <^|65765flllJI7<S56n-

crasr 6U65)«uS) 657it ^l0<sil«irf!)65riT.

«rr(J-fi55Tli) [R] : 6U65)<95UULLL_ ^65765^17.95677 ^IJS<g56lf)657 0l^LB«<SB(05«0,

^{JffaniDUH ffi-L- 2-pLJL( 22-657 <lLp 65)<95§|<950 CT^Jljrr<5561JLO,

pQlut-i <srT6U 6£j<950 6T^lijr7«ajib urrgj<srru65)u Qup^l 65rn565nT.

Ssupp [A]

(A) [A] Lnrbfpjm [R] croup ^ ijaserQub ffffl ; [R] 67657up [A] «0 ^fflujireoT

QS)6rr<5<SLDrr0Lb

(B) [A] LDppiLD [R] GTfXrp fflfl ; [R] 67657Ugj [A] «0 ffffllLI 77657

eSlmaaiLGOGO

(C) [A] crasru§\ ffffl, [R] erasru§] peupi

(D) [R] 67657L0J fflfl , [A] 67657L0J £6Lip

(E) QS165)L_ if)UJ©510)68)61)
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38. What are the objectives of public distribution system?

It is based on income status
(ii) It focuses on the families of Military Personnel
(iii) It ensures by making available essential commodities of good

quality at affordable Prices every month

(B) (ii) only

(D) (iii) only

(i)

(A) (i) and (ii) only
(C) (i) and (iii) only
(E) Answer not known

Qurrgj ©SlrglGiLirra (Lp«orDuS1«rr GrBirasaiEJ-sOT OTCTTGOT ?

(I) QJ®L£> rT65T rgl«D60ll51«rr ^l^LJU65)l_uSl6b ^|6B)LDrB§|6fT61Tg|

(Ii) ijrrepaj eSijiT«6ifl«5T (§©Lburiiassnerr 68)LDiuiDrr«« Q<srTS5ffr©6iT6n'p

(iii) ^ajQajrr® Drr£(ipib IDSSICIJ eSla&0)uSla) rs©)®) £ijL£> rrs5r ^^^liLirraj^liLiu
Glurr06iT<565)6rrffi •SsoLas.sff Glffujeu-ssyr (Lpeoib s_p^l (olffii-i^rDgl

(A) (i) LDfDgJJLD (ii) LDL
_©lb

(C) (i) IDftpLD (iii) IDL
_©LD

(E) ®L?IQDI Q^rfluj0S1a)«f)6D

(B) (ii) inil© Lb

(D) (iii) mil©ib

39. The amount given under the Dr. Muthulakshmi Reddy Maternity
Benefit Scheme has been increased since 2018 to Rs. .

(B) 24,000/-
(D) 32,000/-

(A) 18,000/-
(C)

'

12,000/-
(E) Answer not known

lD0<£g|6UIT (Lp <$g]6Dll*li5l Qljllli). D«Lj(3up J5G)£$llll_££ldr££ 2018 Qp$Gd

^lUIT^UUll©6iT6rT 2_
<5©&1 <5 Q.$nm5 ®urruj

(A) 18,000/-
(C) 12,000/-
(E) Q^lfllLI6£]d)65)Q)

(B) 24,000/-
(D) 32,000/-
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40. Which among the following is incorrectly paired?

(i) Babu Jagjivan Ram
Chhatrawas Yojana

(ii) Atal Vayo Abhyuday
Yojana

(iii) Pradhan Mantri Jan Vikas
Karyakram

(iv) Pradhan Mantri Janjatiya

Vikas Mission

Construction of hostels
for SC students
Improving the quality

of life of senior citizens

Socio economic
development of refugees

Strengthening tribal
entrepreneurship

(A) (ii) only

(B) (i) and (ii) only

(C) (iii) only

(D) (iv) only

(E) Answer not known

i51«rr6Li06u«n'euf!)p6Tr ajaj/Dfra ^«o6B5r<s<suuil0CTr6rTgi 6rp ?

(i) urrq gg<5g$aj65r ijrrii) ff^ijeurrcfo

<£) ili_ii)

(ii) ^I_Q) ajGu-irr ^uu-|<sG!<$ <DLLL_U)

UL_ ii).uj661«n' LDrr«ffreuiT<R(6T5«<5n'65T

6)51®<£l <56iT <5L_©<$6b

Qppsj 0Uj-L£<5<956ifl 65r 6urTLp<$65)<95i5

<5IJ<$65)<£ GL£» li> U®^§]^6b

ff (Lp <5-Qun06mT<5mj

ULprBJ0ii)-u51«n'ifl«n' Q^rTL^lo)

(l£65)65T65)61J 6U6£]UU©<$§|<$0)

(iii) L%<51£) gg6?5r 6)51<srr6ru

(iv) LS1|J65LD LDflj^lff) ^65T^^U
_

I 6)51<SIT60)

^IUJ <5«li)

(A) (ii) LDll© LD

(B) (i) LD IT)pLi) (ii) LDL0LI)

(C) (iii) LBLl©^
(D) (iv) mil@Li)

(E) 6)5165)L
_ Q^lfltU6)510)65)61)
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Assertion [A] : Tamil Nadu Government replaced Rupee symbol

(*) with Tamil letter (©.) in its budget 2025-26.

Reason [R] : To ensure the widespread development of Tamil

Nadu to benefit all.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; but [R] is not the correct explanation

of [A] is correct

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true; and [R] is the correct explanation

of [A]

(E) Answer not known

41.

<3nJT)p [A] : 2025-26 uilQ^iliq.0)

(?) <fl65T65T5j&DSj 65)«50&1LL@, <^<$ff)(S)‘ U<£l 0rr<5 <$Ll5) Lp OT(Lp^rT65r

0. (0urriu) LDRRRF) n51u_|CTTCTT^].

<5u5) LpiBrT© ^) ij* <5®5Tgj

c$j65)«rr6Li0ffi0i£) uuj0n'6ifl <s0ih ojanauSla) s^ip iq rftr

uijQj.6orr«n- 6U6mTff <#l«() UJ s_p<£l Qffuj<£6b.

«mj6wrii> [R] :

(A) [A] ffifl. [R] <$&jp

(B) [A] iDfopLb [R] $iT«wr@u> ^,«5Trro) [R] OTSfrup [A] OTdrupji)©
a=[fliurr65T oS)0T<5«5Lb ŜH6U60 OTasrup ffrfl

(C) [A] £eup, [R] ffifl

(D) [A] LDfDpii [R] ffifl; Gmgyih [R] OTssrup [A] cfileifT ffifliurror
g)Sl6IT<5<SLb

(E) ETEL- Q^ifliuaSlGbas)®)
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42. Assertion [A] : The poverty line is determined on the basis of

calorie requirements.

: The poverty line is the minimum income required

to meet the basic needs of an individual which

includes food, clothing and shelter.

(A) Both [A] and [R] are true and [R] is the correct explanation

of [A]

(B) [A] is true but [R] is false

(C) [A] is false but [R] is true

(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

(E) Answer not known

Reason [R]

(oSjfiDOJSjdflsrr: ojp«ni_D<5 G<sn® crajrugj aGcoinfl

^|Uj.UU65) l_ll51«) ^ITLDrr6Bfl«<5LJu5l^lnD§].
3h.f&p [A]

: cupSOLD® G«rr(5l GresTup $0 ^I^LJU65)L_^
G<$65)61J<$65)6TTU y,IT.$<£l OfflLlUJ^ G<$6S)6UlLHT6ffT 065> fDJ5<5Ulla:

aj0LDrr65nDfT0ii). 2_«S5TSL|, mfbpih «$iEi0ib ^)i—Lb

< ĤI_rEJ0Lb.

(A) a«irf)p [A] LDfTjpLD «rriJ655TLb [R] ^IJSfffT^Lb fflfl, GLUpii) «rriJ<S55TLb [R] Ssi/bp

[AJaanw ffifliurrsn- oSl6n\s.$LDrr0Li>.

(B) ahjftp [A] ffifl «m7«&rLi5 [R] <$6ijp.

(C) â rfjp [A] .gQjp ^,«riTd) [R] ffifl .

(D) SffUfrp [A] iDfbpib amjessr\b [R] gli76wr@ih ffifl , ^anira) amjewni) [R] «sfo.(T)p

[A]<5<srr65r ffiflujrrsjr ®fil6rT«<5Lr> 6ba)

(E) 6fi1«oi_ Q^ifliu6iSla)68)a)

<srru«wrii) [R]
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43. Which of the following statements are true about the Fifteenth
Finance Commission?

(i) The criterion of demographic performance has been introduced

(ii) The criterion of Fiscal Discipline is given 10% weightage

(iii) The criterion of Forest
Ecology

(A) (i) and (ii) only

(B) (ii) and (iii) only

(C) (i) and (iii) only

(D) (i), (ii) and (iii)

(E) Answer not known

is replaced with Forest andcover

U^l «D65T^rTQJgl rfjl <£l ^J,6S)6557UJ <$66)<5U Uff) rf)luJ t51sJT6Ll0Lb <5n.(f)gll <56Tfl 6b 6765)611

2-655766) ID ID 1766766)61) ?

ID<5<56X7 Q<$r765)<5 QffUJ®) ^/D@J««f7667 I_|6r76lfl <56r7 ^r61(y)5UU©^UUL_@6r76T7§|.(i)

(ii) j£l <£l 9(Lp««^iD@ 10% L|6r76lfl«6T7 6ULpiil«LJU@%§l

(iii) «5r7@<S6lfl 657 UIJUL] 67@Jli) LSI (fl6)S1 rf) LJ U^l60 f75 <5F7© LDJDpiD (Sjl£6lSlujQ) 676piD

lS) lfl6L| c9) r61(ip«LJU©^UUll©CT76f7§J

(A) (i) LDJDpiD (ii) LDL
_® LD

(B) (ii) LDfi)p^ (iii)

(C) (i) U3f!)gli^ (iii) LDil@ib

(D) (i), (ii) “W* (iii)

(E) 6fil 66)L_ Q<SlfllLI6lS]6b66)60
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44. Assertion [A] : C.N. Annadurai was fascinated by the self respect

movement, joined the Dravidar Kazhagam Party.

: C.N. Annadurai treated Justice Party and

Dravidar Kazhagam equally.
Reason [R]

(A) [A] is true, [R] is false

(B) [A] and [R] are true, [R] is correct explanation of [A]

(C) [A] is false, [R] is true

(D) [A] and [R] are true [R] is not correct explanation of [A]

(E) Answer not known i

: £).OT65T. ^GSOTararn-gjODij, <gHULDif) iurr«)d5 ^|uj««^rra)

«6umB;il(Lp <s<Kuuil®, <§lijrr©Sli_iT (SffiTjjjgjmT.
<s«i.fDgu [A]

: ^655raf5rn§j65)ij( I|<£I<5<S5LL£I LDjDpib ^lijrraSlLnr

<5Lp<S^65)^ ffLDLUfra fBI_^65TrriT.

<smj«S5TLb [R]

(A) [A] sift , [R] <$©jp

(B) [A] LDfopii) [R] ffffl . [R], [A] «<srr65T ffffliurTSJT ®Sl6rr««Lb

(C) [A] .geup, [R] ffifl

(D) [A] LDrfjpLD [R] fflfl , [R], [A] <S«mS5T fflfl UJ fT65T ©Sl6TT««li) ^0)60

(E) <sfi)65) l— QjglfllLI©SI6065)60
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45. Assertion [A] : Justice Party opposed the Home Rule Movement
of Annie Besant.

Reason [R] : Justice Party feared that Dominion status would

give more powers to the Brahmins.

(A) {A] is true but [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is false but [R] is true

(D) Both [A] and [R] are true but [R] is not correct explanation

of [A]

(E) Answer not known

a«UT)p [A] : I§<£I «K <SL1£1 ^6OT65flQu <g:657L_ii)
_667

67<|] (T<$<$g].

<$657657IT LL<£) |§llLia5<$<$65)<$

<5mj6567Lb [R] I Ql_r7Ll5l6lfluJ657 l51ljr7LD6557IT<S5(^5«0
17IJ^^l 66)657 6ULprRJ <5<5<g«.(^Lb 67667 <K6U65)6DUUL_l

_p.
Ĵ5<$6r0p

(A) [A] 2-655765) LD ^6571760 [R] <$6Lip

(B) [A] lOjbgmb [R] ®u«r© <b t«fcra> u> Sioga* [R] er^ug, [A] sffljbaTOsr
fflfllUIT657 6)51677««LD

(C) [A] <$6lip ^,657r7&) [R] 2_655765) ID

(D) [A] LDrfjpLb [R] ^IJ6ll67©LD 2_655765)LD [R] 6T«5TU§| [A] 6)Slrf)<56 r7657^1,6571760

<g:|flujr765r 6fil6TT«<KLb ^Q)60

(E) 6$65)L
_ Q^lfllLI6lS16065)60
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46. Which of the following statement is/are correct about Vaikam

Protest?

(1) George Joseph of Kerala acted as the mastermind in the

Vaikam Protest.

(2) Gandhi had difference of opinion about the involvement of

Christian George Joseph in the untouchability issue.

(3) Statue of George Joseph was erected at Madurai.

(4) George Joseph and Karur Neelakandan were not interested to

join Periyar on Vaikam Protest.
(A) (1), (2), (3), (4)

(B) (1), (2), (3)

(C) (1), (2)

(D) (3) only

(E) Answer not known

J;|£««ne&n-u6iJfbpOT OT§) / CT«06U «s)&j«<5ii> (Sumjmli_iB ufi)r51iu ffiflinrrsn- sn.rf)p?

(1) (SajijOTrraDaJdF GffiTps ggmigg Gggrrffu «D6u<5«Lb Gurri7rnli_^«5T (Lp65)6mLm\£

Qa=uj«)uilL_
mT.

(2) ^«wri_rr65)LD<F <£I <5«6SIQ) «£lffj)6fi)§]<ajij[T65i- ggrrrrgg Gggrrffu «SDr5§iQ<5rT6rraj^la)

arrrB^l «0<$§j (Sajpurr© Q«rr«sijri£j.0iB^mT.

(3) ggrriigg (Sggrrffî sfT n»rritu6iT64 <£)«)a) LDp«5)ijuSl6b rglpsmjuil@6rT6iTp.

(4) ggrrrrgg (2ggrrffUL |ii). «0fr i§6D<s«RSTi_6pL £> QuifliumT 65)cu««ii> Gurrijmli-^a)

«Q)(BP Q«rTOT6U«)<5 ©fi)0li> U0S)Q)«D6l) .

i

(A) (1), (2), (3), (4)

(B) (1), (2), (3)

(C) (1), (2)

(D) (3) LDL -@Li>

(E) 6lffl6U) l_ Q^lfluJGfi]Q368)6D
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47. Which one is belonging to the Chapter Gratitude in Thirukkural?
(i) Self control of senses, like a tortoise, focussed on results, affords

everlasting protection

(ii) Equality is up rightness in thought and conduct always guided
by a rational mind

(iii) A friend in need is a friend indeed; do not forget him or forsake
comrades

(A) (i) only

(B) (iii) only

(C) (ii) only

(D) (i) and (ii) only

(E) Answer not known

jijl«5T U06U6OT6Urf)p6n- (Sj/DCTT QsUJJb ^CTTrgllUrSl^©) ffmTJBjSgj?

(i) 6^065) LDIL|6TT^QDmGurT®) ^$rfj)«5T

OT(L£>65)LDlL|Lb ^TLOrTU l
_
|«f) l_<£gj

(ii) «$0<£1 OT65T6£6BTp JB T̂CSHD U0<£lu_
irT«)

urnDuil® ^(Lp«u Qun&lafr

(iii) LDp6U (T)a LDrrfffbfDmT G<gs«for«f) LD pTD6urij«

puurrujmT JBI!L|

(A) (i) LDH© I±>

(B) (iii) UMl©ib

(C) (ii) u>il©ib

(D) (i), (ii)

(E) <oS\ODL- Q£lfllU ©S)d)68>a)
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48. Choose the right matches among type :
1. In the ancient day, it was Tamil culture to conduct marriages

on a spread of sand — Akananuru
2. The Groom fastened a thali upon the Bride-Tholkappiyam
3. There was a practice among the people of the bride to give

dowry to the groom’s family-Nannul
4. There was the practice of conducting the marriage infront of

fire-Silappadikaram

(A) 1and 4 are correct
(C) 2 and 3 are correct
(E) Answer not known

(B) 1and 3 are correct
(D) 3 and 4 are correct

l51«fr6U061J 65T61jrf)pOT Qun0<$<£LDn-65T6Urf)«nfD <5 (2«$n7BQ<$©«<5.

1. ULpnij«rr0)^6b <$u5) ipiT<56n- <£)0LD«S5r<$<il®) LDG&rd) UIJUI51 ©S) y?rr OT@<$<$65nt -

^argrTgurp

2. LD65&rLD3>(Gfl)<9>0 L£SS5TLD<S65T <$rT6iS) ^655fl6&)<£<£&) aJLp<S<SLDrT0li) - Q^ITa)«mlll51uJLb

3. U)«R5TLD«6rT ©Slllrj-SfTIT LD65ffTLD«65T aSlll_rr0«0 SUIJ^tlffODaRST Q<5rT@«0LD

61JLp<S«L6l0r5^p - (B«5Tg)JT b

4. <§ Q(5r51uuili_ GajOTrdfil^ <£|0LD6WTL£> - ^la)uu^l«rri7ii>

(B) 1UMDpLb 3 ffifl
(D) 3 LD/i)pih 4 ffifl

(A) 1 UJ/ppLI) 4 <F(fl
(C) 2 iDrfjpti) 3 ffifl
(E) ®S)«DL_ Q^(fllLI6fi1«)«5)0)

49. 8 Men working 9 hours a day complete a piece of work in 20 days.
In how many days can 12 men working for 10 hours a day complete

the same piece of work?

(A) 9 days
(C) 11 days
(E) Answer not known

(B) 10 days
(D) 12 days

8 jsuiTaelT 90 rBn-«J)6rr«0 9 . LDOBA GJSCTLD CCUGOSO Qffoj^rrd), 90 Gajsj>a)«s>uj

20 mmlaafla) ( jpuj-Dufr. (2SU«J)606B)UJ 12 rsuitaOT 90 r5rr«f)OT«0 10 mowfl

Qpqti (56U68)60 Q^uj^rro) erfaa>m pruLaciAri) (Lpi^uuiT?

(B) 10 ^rril«CTr

(D) 12 rBml«OT
(A) 9 tsmlsOT
(C) 11 /BrnlSOT
(E) ' (3^ffluj®Slai«060
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old. She is 4 times older than her brother. How old50. Mary is 16
will she be when she is twice his age?
(A) 20
(C) 28
(E) Answer not known

years

(B) 24
(D) 32

(SlDlfl OT6OTU <aj|fl65T ^rf)GurT65)^UJ ©JlLlgjl 16. <^6U6TT <£68T§| <$LI) L51US)65T 6UUJ«n^ ©Slu
4 lDI

_
l&](Sj QuifluJ6UaT OT6Bfl ©) ^6H6TT <56BTg| gjlBL^luSIOJT 6UUJ68)£5 ©fill— 2 LDI

_r&J(g
Quifluj6U6mr« ^0«0Lb Qurr(Lp§], GLDifluSlosr ©JUJ§I ersrrsn'?

(B) 24
(D) 32

(A) 20
(C) 28
(E) Q^ifluj0fil6beD6o

H

I 51. Pick the odd one from

CGKO : BFJN : AEIM : FDKN
(A) CGKO
(C) AEIM
(E) Answer not known
Q«rT@««Ljuili_Qjff)p6TT Q^rrL_fri51o)60 rT^ OT(Lp<568)£<5 ««55TL_r61uj6^i£> ?

CGKO : BFJN : AEIM : FDKN
(A) CGKO
(C) AEIM
(E) ©filaOL. Qi5if) UJ ©S)0)68)0)

Hi (B) BFJN
(D) FDKN

1

(B) BFJN
(D) FDKN

i:

I 52. There are 5 machines that make 5 parts in 5 minutes. How long
does it take to make 100 parts in 100 machines?
(A) 5 minutes
(C) 50 minutes
(E) Answer not known

(B) 100 minutes
(D) 30 minutes

5 OTr5$ijr£j<5OT 5 urr<5rij<$65)6TT 5 if) L6) i
_r&J«0flo) £ULimfl«0LDfT«jTrT& 100 ©nj^ijrEJffiOT

100 urr«r&i«68)6TT <6r<siieLi6TT6i] r£lu5) i_rtj<56if)0) «5ujmfl <$(§ii) ?

(B) 100|f) uSli_rRi«©T

(D) 30 i0LiS) i_r&i«©T

(A) 5 tg) liS) l
_IBJ«OT

(C) 50 (g) u51 l_rAj <56TT

(E) ©fil68) l_ G)^lf)0J ©SliS)68)O)

1
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53. Choose the right matches :
(1) Carotenoid —
(2) Chlorophyll ‘a’ —
(3) Chlorophyll V —
(4) Xanthophyll —
(A) (1) and (2) are correct
(C) (2) and (3) are correct
(E) Answer not known
ffiflajrrau Ourr0^uuili_6S)^ :

(1) «GijfTin-6Brrriugl

(2) u&ffiLiii) ‘a’
(3) u&ffujLb *b*

(4) ffrriBG^rr«0oL5)4)

(A) (1) LDjDgjjii) (2) a=iflujrr65T«j)6iJ

(C) (2) LDrijpLb (3) 5=iflajrr6ffr«s)OJ

(E) cfil65) i Q^rfluj(sfila)«D60

C65H7o05N4Mg

C56H7205N4Mg

C65H7o06N4Mg
C6oH7005Mg

(B) (3) and (4) are correct
(D) (1) and (4) are correct

C55H7o05N4Mg

C55H7205N4Mg

C55H70O6N4Mg

C5oH7o05Mg

(B) (3) iDjfrpib (4) ffifluLirrauGDOJ
(D) (1) LDfbpii* (4) fflfllLirr65T«DQJ

54. The Nobel Prize in Medicine was awarded to Victor Ambros and
Gary Ruvkun for their discovery of

(A) Expression Sequence Tags
(B) Micro RNA
(C) DNA micro array
(D) SNP’s
(E) Answer not known

6fil«i_iT ^ibGrprcfu mppii) j ( jen(pes\ ^̂ GiumfleBT crjfcp *fifr©t%LJL|4«rr*
LD0«SgJ6U^«) (SfBITUa) ©Sl0§| 6U£l£j«UUlLl_£|?

(A) Qajafluurr© aJiflana1 LDIJL|0f$ffQffiTjD«OT

(B) p«wr ^(r.erdir.er. (micro RNA)

(C) Lq-.CT6BT.5r. p6WT <^6BBfl

(D) 6T6fU.6T6Br.lSl. (SNP’s)

(E) 6S)6B) I
_ Qi£lfluJ6lS)d)6B)6U
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55. Match the following type :

atch correctly the river and its places of rises.

1. Garwal Tibet border

2. Central Himalayas

3. Tibet

4. Sahyadris

(a) The Krishna
(b) The Alaknanda
(c) The Gandak
(d) The Brahmaputra

ll
(a) (b) (c) (d)

(A) 3 2 4

(B) 1

(C) 2 13

(D) 4 12

1

I 4 2 3

4
ll 3

il (E) Answer not known

lSl«5TQJ0lh U65)fE65HULJ Ql_irT0£g].

c^j,p iBfDpib 2
_
06urr0ih/OT(Lpih|g)i

_
<$;£l«s)srr ffifliuir® Qurr0^p :il

i

1. asrriT6urr«) £§IQua> CT®)®)®)

2. LD^UJ ^IDUJIBGRO)

(a) ^l0ei%655rrr

(b)

(c) «rT«fri_«

(d) i51ijLbLDi_|^ijrr

:

I1 3. $QU£
4. ffiurr^iflao

IIi (d)(a) (b) (c)

2 4

4 2

1 3

1 2

1(A) 3

(B) 1

(C) 2

(D) 4

(E) OSIQDI Q^iflaj®Sld)«J)60

3

4

3 '
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56. Choose the right matches among type

(a) ‘Indian World’ Journal

(b) ‘Telegraph’ Journal

(c) ‘Bengal Kirkaru’ Journal 3.

(d) ‘Calcutta’ Journal

J.S. Buckingham1.

Charles MacLean2.
Mekenly

Duane4.

(a) (b) (c) (d)

(A) 4 3 2

(B) 2 3

(C) 3 1

(D) 1 4 2

1

41

24

3

(E) Answer not known

ffifliurren- ©Sl«f) i_«f)u_iu Qun0<$gj« :

(Sgg.OTcfu. ua^lrijffitTLb

a= rriT 06fo QiDaei^Grr

1.(a) ‘lg) (5<£llLI 2_60«li)’^Lp

(b) ‘Qi_6iS)£lijrn-Lj’

(c) ‘Qumjarra) ^iTsarr©’ g) <£Lp

(d) ‘«Q)ffi^rr’ gl^Lp

2.

QLD <S(565T6lSl3.

4. i^y,6urr«5T

(a) (b) (c) (d)

(A) 4 3 2

(B) 2 3 1

(C) 3 1 4

(D) 14 2

(E) 6$68)U Q^(fllU0Sla)«f)6O

1

4

2

3
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Ji

j . i
57. Who founded the Satya Shodak Samaj in 1873?

(A) Jyoti Rao Phule
(B) Sri Narayana Guru
(C) Pandita Ramabai
(D) Dayananda Saraswati
(E) Answer not known

ffiDrrgg-gg 1873 Jgla) (p<£rni)p©S) <$3j6uiT U-imt?

(A) Gggrr<£l ijrraj y,Ga)

(B) y$ jsrrijrriLiaRn- (§0
(C) uaferu^ ijiurrumij

(D) ^ujrr65r^ffi7cru6u.il
(E) oSlaOL- QgjffilLJ©SI6066)60

:)fi

58. Which among the following was the first Christian Ashram
established in South?

(A) C.F. Ashram at Pachalur
(B) Christukula Ashram at Tiruppatur
(C) Zion Prayer Center at Madurai
(D) Dyana Ashram at Chennai
(E) Answer not known

^^)ffrT666TU65T6Un)pGTT CTgJ (ol5jfT)0 U0£§luSl6l) j£lp6UUUL _L _ <£ll$6r0g|6U ^9)«DLDUl51®ST
(Lp<£0) ^̂llJLDLD ?
(A) #I.6TU. ^Jĵ llJLDLi). UffpfIT
(B) ^lr5l6fU§]06U ^̂ llJLDlI) , ^|0LJU^§ITIT

(C) <£IGu_irT6frr i5)ijrT.gj<£65)6eT ammuih. LD§]68>IJ
(D) ^liLirrarrrr ^̂IIJLDLD, Qff65T65)65T
(E) oS)am_ Q^ifliu0S)^)«n6U

iiof

• ' - o.
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59. Arrange the following events in chronological order.

1. Golaknath v/s State of Punjab

2. Keshvananda Bharati v/s State of Kerala

3. Minerva Mills Ltd. v/s State of India

4. A.K. Gopalan v/s State of Madras

(A) 1, 2, 3, 4

(B) 3, 4, X, 2

(C) 4, 1, 2, 3

CD) 1, 3, 2, 4

(E) Answer not known I

lLp««S5ri_ajff)65) rD «rra)(ip65)fDuuii|.

1. G«rr6D«fBrr^ v/s u^ffrru u> rngla)Lb

2. GaeGiMGBipp urrij^l v/s Gaym* LorrrglcoLb

3. uSIajntojrr uSlcbcfu oSluSlil v/s ®jfc£luj

i

4. A.K. Csirurra>6&r v/s LB^ijncro

(A) 1, 2, 3, 4

(B) 3, 4, 1, 2

(C) 4, 1, 2, 3

(D) 1, 3, 2, 4 .

(E) eS\es)L_ Q^rfliLi®Sl6b«060

CCSEI-IAP25
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Which of the following are the objectives of Tamilnadu safe and
t ical Artificial Intelligence Policy, 2020?

(i) To establish guidelines for the evaluation of AI systems before
its rolled out for public

( i) To provide restricted access to open data, data models and

computing resources

(in) To promote investments in AIR & D in Tamilnadu

(A) (i) only

(B) (i) and (iii) only

(C) (i) and (ii) only

(D) (ii) and (iii) only

(E) Answer not known

60.

use

<£Lp©j06US5T ui!)p6rT CT«O <SU £u5lj£njn@ unp<snuun65T LDrfjpib Qi5r&l(y)65> n) Qffluroan*
p6551658lrf)l6>i) <£ Q<5n6T168>a5 , 2020 ^!65T (3(Bn-<5«rEJ «SOT^@li> ?

(i) QunpLD<£«6lfl 651 UUJ«STUmlli).(i)@ ^6piL^lLJLW5fT)0 (ip65T68lir QfflLlfi)65)«
p65516551rf)l61| (T£65)n)<565)6n£ <£lfD65iniLJ61) QfflLHL|Lb 6UL^lffinil@ Qg>/$)(ip65)fD <568)611
6U (§<5<5 G56U65510 LD

(ii) Q61J6lfluU66) l_lLin66T <9jlJ6L|<S>6Tl , £jlJ6Lj LDn^llfl <5CTT LDJTjpLD ^!65)6851UJ6UL£1

^J,^nijrEJ«(6r5«0 6U65)pjp«<5UUL_L_ ^)@]l£)^l 65)UJ 6ULprR](Sj«$60

(iii) ^liSl^rBnL_46b p'65516551ffjl6)L| ^IJHUJff^l LD (T)pLb CcLDlbunill^fT)

dP^65(Sl«66)6n' mV^d)

(A) (i)

(B) (i) LorbpLb (iii) IDL1©LD

(C) (i) LorfjpLb (ii) Lml0Lb

(D) (ii) LDfDpLb (iii) LDLI^LD

(E) 6fil65)L
_ Q£lfltLI®S)d)65)6U

<511651
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61. Choose the correct matches from the following.

(i) Fourth Finance Commission
(ii) Tenth Finance Commission
(iii) Sixth Finance Commission
(iv) Ninth Finance Commission

(A) (i) and (iii) are correct

(C) (ii) and (iii) are correct

(E) Answer not known

A.K. Chanda
Shri K.C. Pant
Dr. Rajamannar
Shri N.K.P. Salve

(B) (ii) and (iv) are correct

(D) (i), (ii) and (iv) are correct

fflfliurrsn|§ISD655766) ILI (3J5IT6L| QfflLJ«.

4jT.(ofi>. (SFJSjSIT

<$0. (3«.£). ufB-s
i_rrai_iT. ijrrgg LD65T65TrnT

^)0. ffrro)Gcu

(i) jBrrCTrarrii) jg) <§) 0(Lp

(ii) u<5£rnb i£) <£l @(ip

(iii) b̂fDfTLb rgl <£) 0(Lp

(iv) ^OTTU^rTii) rgl^l ®(i£

(A) (i) LDfDgjjLb (iii) ffif)

(C) (ii) LDippLb (iii) ffif)

(E) <sfi)«DL_ Qa5 if) uj0Sl6bana)

(B) (ii) iDrfjpii) (iv) ffifl

(D) (i), (ii), (iv) ffifl

62. The Financial Position of the Panchayat is reveiwed under

(B) Article 243-E

(D) Article 243-C
(A) Article 243-1

(C) Article 243-B

(E) Answer not known

2arijrrL_^) <56if) «5T rgl <£l rgl 65)6065) LD«65)err . #7m£jaj QffUJiLjii)

6£) <£luSl66T <£i£ Qffujiuuu@<^) (!)p-

(A) c îû liua) 243-1

(C) 243-B

(E) 6taL_ Q^ifluJ ®^65560

ffrrffgOT

(B) ^ijiliua) ffriffOCT oS)d§l 243-E

(D) ^ij<#luj6b ffrrffosT <sS\g>I 243-C
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I
63. Which of the following articles on Fundamental Rights is incorrectly

paired?

1- Article 12

2. Article 21

3. Article 34

4. Article 35

Definition of State

Right to Education

Power of the Parliament to modify the rights

Legislation to give effect to the provisions of
the fundamental rights

(A) 1 and 4 only

(B) 1and 2 only

(C) 2 and 3 only

(D) 3 and 4 only
(E) Answer not known

Ia

i
C^) I^LJU65)L_ s_ifl«j)m<K6rr Q^m_iTurT«ir ^ijffSDLDULi 6fi).£l <E(6nj6iT ffifliurrau

Qun-0<£<£UUI
_

IT<$ £§l 65)SRTT CT§|?

1. ŜHIJffSOLDUL-l <o£\$ 12 — ^|IJ#1«5T QJ«DIJILI <55)IT)

2. c^rr̂ QDiuui-i aS) <il 21 — aeo<sS\ 2_ffl«s) LD

3. ^g-^LDULI ©Sl <il 34 - ^m.LJU68) l_ 2_lfl65)LD<56lflo) LDrTfT)fI) li} QffUJU_
|li>

j5rTi
_rr(6njiD65TjQ)£$6&r 2

_ifleoLD

4. e£\$ 35 - a^uuflOL

Qa=uj«)u©^ ffili_uSlajrf)n)Q)

(A) 1 UMDpLD 4 LDllgllb

(B) 1 Lflrbptb 2 ujil®ii)

(C) 2 LD/DpLb 3 LDL-©Lb

(D) 3 LBiDpii) 4 LDL-©Lb

(E) <sfil«DL_ Q^iflujaSlajaoeo
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64. The Scheme “Pradhan Mantri Janjatiya Unnat Gram Abhiyan”

focuses on

(i) To improve the socio-economic condition of tribal communities

(ii) To empower tribal women and promote gender equality

(iii) To provide high quality education for the tribal children

(A) (i) only

(B) (ii) only

(C) (iii) only

(D) (i) and (ii) only

(E) Answer not known
i

iSl^rron’ LDrt^lifl ggasrggmil ^̂Icurr l̂ r£liLimu ir><5rr îii)u_irr6&T <£)iLi_<$<£)65r

G^rr««LDfT65T§J

ULpfBj(§U|_ <F^«-Qurr06rriT<$mj r§lss)6i)ss)uj (3uDLi>u@ «$§]<$6b

(ii) ULprEJ@i^.
Qu®ffr1ffi (6r5<50 LDrfjpLb urrsSlafr

2ar<s0cfi1^a56b

(iii) ULpfBJ@4 @Lpf5«0^<5(6|5«@ S-UJIT^IJ <SSbo£)65)UJ &JLprEJ(§<Sa)

(i)

(A) (i) LDil©ii)

(B) (ii) LDL
_©LD

(C) (iii) iDil@ii»

(D) (i) LD(T)pLb (ii) LDll@ LD

(E) Q^ifliLiefil6b«n60
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I
Match the following schemes with their respective beneficiaries

1 Scheduled tribes .

65.
(a) Babu Jagjivan Ram

Chhatravas Yojana
(b) Atal Vayo Abhyuday Yojana 2.
(c) Pradhan Mantri Jan

Vikas Karyakram Yojana
(d) Pradhan Mantri Janjantiya 4.

Vikas Mission

Minorities
3 Scheduled castes

Senior citizens

(a) (b) (c) (d)
(A) 3 1 4 2
(B) 2 3 4 1
(C) 4 1 2 3
(D) 3 4 2
(E) Answer not known

1

lS) 5TGlJ0lb ;£lLLl_r&J«65)6TT ^llll_rBJ<56lfla5T UlU«nTT6lfl<EB(05l_«5T QurT0^§]ffi(a) um_
j gga^QJOT ijrrih s^ijmsumoft) 1. ULLIH.ILI 6IS1«5TLJ ULprBj0iq_iiSl 65TiT

^1LLI_LD

(b) <s>\\-GQ euGSiurr <£IL_ L
_

LD 2.
(c) LSIIJ^LU gg«5T aSkn-oi)

amTuu^lijLb ^lili_Lh

(d) L5) IJ<£LD Lor5<£1 ifl gg«frggrT«n-
^

_UUIT 4.
oSlarrefu gliu««Lb

<#1pun«5T65)H>u5l65TIT

uilin.uj6iSl6irr<g: ffrr^lacirT3.

(LP <5<£ 0lfJ-LD«a6iT

(a) (b) (c) (d)
(A) 3 14 2
(B) 2 3 4 1
(C) 4

(D) 3 4 2 1

(E) 6$«ni_ Glj5lfllLiaSl6b65)6D

1 2 3
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r*

66. Which of the following statements are true about “The Chief
Minister’s Breakfast Scheme”?

(i) It has increased student attendance to high schools

(ii) Primary school children benefit from the scheme

(iii) The scheme has led to improvement in learning skills among
children

(iv) The scheme is limited to government schools only

(A) (i) and (ii) only

(B) (ii) and (iii) only

(C) (i) and (iv) only

(D) (ii) and (iv) only

(E) Answer not known

(ip^euQOLDffffiflein' asrrsDQ) ^ILLLLD LN|)rfj)uj iSl65rcu0ib ah.rf)p«6rfl«) srgi

2_658TODLD ?

ltrfjl65)6DLJ U6fT6rfl <56rfl6b LDITGRirOJIT 6U®«D««DILI ^) <£)«lfl «5p6TT6TTg|

(ii) Q^rn_
<s<KUU6rreifl 0Lp^«o^<scrr uuj65reoi_<^ln)mT«6TT

(iii) ^Lluib ©ipisao^isaflaouGuJ sjbjD* Ou>ibu®6#U|draigl

(iv) @^L.i_Lb u6iT0fl«aflffl) iaL©il> QffiiJ*u©^uu©%gl

(A) (i) LDfDpLD (ii) LDLl^Lb

(B) (ii) mrbpii) (iii) LDLL^LD

(C) (i) LDfopib (iv) LDC®±

(D) (ii) LDfDpLD (iv) LDL.0LD

(E) aSlaoL. Q^ffluJcifflcbao'SO

(i) 2_UJ
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67. rise in theAssertion [A] : There has been a significant
percentage of labour force engaged in Industrial
sector during 1990s and 2000s.

: There has been a significant rise in employment

in the construction sector between 1991 and 2011.
Reason [R]

(A) [A] is true, but [R] is false

(B) Both [A] and [R]
of [A]

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known

true; and [R] is the correct explanationare

Ssui)gii [A] : 1990<S(5TT LDrfjfpjLD 2000<56tfl <SU Q<$n-L£lQ)g|65)fDli9o) 2L.CTT6TT

Q^rTL^l6orr6rriT<56Tfl0n-

1991 uMDpLb 2011 ^Lb |§l®Di_uSld)
§]65)fDllSl6b <3GU6B) DQJ [TULIUL| (§($U iSl

^^l <55 lfl^§JCrT(STT§l.

«rTIJ655TLb [R] :

(A) [A] ffifl , ^mneo [R] -£<oup

(B) [A] mrbpii [R] glij«for© Li) a=ifl , #pii) [R] OTOTUP [A] 6%(§s= ffifliurresr
C^6TT<5<5LDrr@Lh

(C) [A] <$6Up, [R] fflfl

(D) [A] UMDpm [R] fflfl , ^bCBTITd) [R] OTQSTUp [A] ^iflujrTGOT

®Sl6IT<5<5LD6bQ)

(E) ®S1«DI Q^lfllJJ©Sl6b65)60
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Assertion [A] : During 2001 to 2026, for the states Bihar,

Madhya Pradesh, Rajasthan and Uttar Pradesh,

the population is expected to increase by 45-55%.

• More than half of demographic transition is

expected during that period.

68-

Reason [R]

(A) [A] is true, [R] is false

(B) [R] is true, [A] is false

(C) Both [A] and [R] are true; but [R] is not correct explanation
'of [A]

(D) Both [A] and [R]

of [A]

(E) Answer not known

true and [R] is the correct explanationare

: iS«mT, LD iLiL51ijGajffLD, |§iijngg6fu<$rr65r LDrijpLb

^<£IUJ LDm£la) r£j <56ffl4) 2001-2026, arra)

«LL^eb, LD <5<5GrrQ <$nmK 45-55 ^GS^LD CT«JT

LD^IULSIl_UULl0OTOTgl.

: Qu0ii> U(§<£liLirrsn’ LD<5<56rrQ^rTao« ajcmta^ <KL_I_ LernD/D̂ sn'

gli5<5 LDrrrila) rEJ«6iflQ) Iglps «rr6D^d) r£)«(ipii> OTQJT

a«55fl <K <®uull@6iT6rT65T.

a«.rbp [A]

arrorawrib [R]

(A) [A] ffifl [R] <$eup

(B) [R] ffrfl [A] <s®jp

(C) [A]Li> ffifl [R]m fffl; ^esmeo [R] CT6STU§J [A]«@ ffifliunsyr oSl6TT««LDrr«n-p

(D) [A] LDppLb [R] @ij«jffr©Lb ffifl; [R] cron-up [A] «(§ ffrflujn-an- ®Sl6rT<K«LDrr0ii)

(E) cfiloDL Q<$(fllLI <s£]6b«n6D

53Y CCSEI-IAP25
[Turn over

s
Highlight

s
Highlight



69. When one sees the person who taught not forgetting what they
taught is dealt in the chapter
(A) Detectives
(C) Tyranny of rule
(E) Answer not known

‘pssrQasTrr® uuSl«nTDn-«s)ij<5
Sci-ffjllUSJT L£>p.s« lDmlL_fTGS)lD’ - OTSSHD

(A) ^rbpm_
6b

(C) Q«rr@rij(S«[TGfr65)iD

(E) OSIQDI Qpifliuefilo)

(B) Hopefulness in Trouble
(D) Benignity (perspective)

<s«55r!_rr6b <^<SLIIT

(B) ^L^llLirT65) L£)

(D) «65^(3«55rrnli_LD

70. “Ozhukkaaraak Kolka Oruvandhan Nenjaththu
Azhukkaaru Iladha Iyalpu”. What is the meaning of the
“Azhukkaaru”?

(A) Love
(B) Submissive
(C) Jealous
(D) Good Character
(E) Answer not known

i word

'

6^(Lpffi<5rrprT(5 Q<5rr6fT<s 6j>06Li6iyTS)6in' QjBfghffgjgi
^(Lp««rrp ^)6orr^ @UJ«)L|

�

Qurr06fr iunp ?

(A) ^«m
_
|

(B)

(C) Glurrprr65)LD

(D) U«fffTL|

(E) oSlsDI Q^lfllU©Sl6b6B)Q)

OT@jLb (gjoafl* 6U01B ‘^(Lpsarrp’ crsyru^eiT
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I
71. Match correctly books/journals with authors

(a) The Mirror of the year

(b) History of the Justice Party 2. N.S. Elango

(c) From Sir Theagarayar to
Dr. Kalaignar

(d) Justice Movement

1. A.P. Patro

3. Muthusami Pillai

4. A.R. Mudaliar

(a) (b) (c) (d)

(A) 2 3 4

(B) 1 2 3
(C) 4 3 2

(D) 1 3 2

(E) Answer not known

1
4
1I
4

fflflU-lfTSU

^^lffllLI (T<5(6T51_«JT ^QJIT<56rTg] l_|^<5rBJ«6rT/ U^ff1«65)<5««T)OT

Qurr0<$<£CHLb -
(a) <£l uSlitijrt ^j,u JgiujiT

(b) 0f5)cruilifl <£1 gg6fi) iq-<sfD umtiLiq- 2. N.S. ^6nTEjG«rr

3. (LpjSgjffrruSl L516TT«D6TT

1. A.P. CSuilCSijn-

(c) ffiT ^liun<5ijrTUJ[fl0Sl0r5§j

Dr. <K6!O6O0IT 6U«DIJ

(d) ggGTDU)_efU ^LpQjQLDfiRJTLl

(a) (b) (c) (d)

(A) 2 3 4

(B) 1 2 3 4

(C) 4 3 2 1

(D) 1 3 2 4

(E) 6fi1«DL
_ Q^(flUJ4olSl b«r)60

4. A.R. Qp^eSliumT

1
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72. Arrange the following events in chronological order

(1) Salt Satyagraha

(2) Swadeshi Movement

(3) Quit India Movement

(4) Non Co-operation Movement

(A) (1), (2), (4), (3)

(B) (4), (3), (2), (1)

(C) (2), (3), (1), (4)

(D) (2), (4), (1), (3)

(E) Answer not known

L51«rreu0Lb J£1«SI£6L|«S6B)6TT.<5 srr6t)

(1) 2_LJLJ ff<5<£lu_irT<£) lJffiLb

(2) *G<s<£) ^luj<5«Lb

(3) QsD6TT«DSmLl (365T Q6U6fflCSU_Jgy J§IUJ «S<KLb

(4) ^§]65) LpiLirT65) LD ^IUU«<5Li»

(A) (1), (2), (4), (3)

(B) (4), (3), (2), (1)

(C) (2), (3), (1), (4)

(D) (2), (4), (1), (3)

(E) <sS\eS) L- Q^lfllLI0Sl6b0S)6O
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73. The Ocean of birth swims, swims and does not join the Lord’-What
is the philosophy of this Rural?
(A) Siva Philosophy

(C) Surrender Philosophy
(E) Answer not known

» (B) Vidhya Philosophy
(D) Soul Philosophy

IS) (DQS1U Glu0r&j<5i_d) jSffegjcijmt jSfBjSmV

@«ofD©J «fnq- Gffijrr ^rrfr’ — @«0iD6rT e_655ni\$§|Lb^gjeuLb CT«ST65T ?

(B) ©Sl^ujrr <$<5g]&JLb

(D) ^6i5TLD <$<$§] <SU LB

(A) <£<£§J6ULi>

(C) <9= IJS55rn-<5<£) <£<5§JQJLb

(E) Q^ifluja51o)«Dco

74. Thirukkural Uraiasiriarkal :

(i) Pariperumal
(ii) Dharumar
(iii) Ki.Va.Ja
(iv) Dhandapani Thesigar

(A) (i) only
(C) (iii) and (iv) only
(E) Answer not known

(B) (i), (ii) only
(D) (iv) only

<£10(50(1)6*7 2_SBIJUJrT<£) ff) uJIT.5GTT

(i) • UlfluQu0LDf7OT

(ii) <$0LDIT

(iii) <£l .Qj.^rr.

(iv) sjajffri ufTCScfl <3<S$SIT

(A) (i) LDll@ lB

(C) (iii) iDrbpLi) (iv) LDLL© LI>

(E) efilaoL. O^ifliLi <aSl6b«060

(B) (i), (ii) LDil@ii>
(D) (iv) IDLL@ I£>
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75. Assertion [A] : Some poets live on their prize money. Most of the
poets have their own professions. They don’t
depend on prizes.

: When poets who make a living out of their prizes

get prizes of low value / below their expectation;
they reject it.

(A) [A] is true but [R] is false
(B) Both [A] and [R]

explanation of [A] is correct
(C) Both [A] and [R] are true; and [R] is the correct explanation

of [A]

(D) [A] is false, [R] is true
(E) Answer not known

Reason [R]

true, but [R] is not the correctare

L )60611ITSGlflGD <#)60(2lJ Ulfl<£lQ) 6imp5565)S65)lLI
Gmrf)Q«nsOTi^0f5<£SJTii. Qu0ihurT(36OiTiT

0Sl0LJULDrT65T Q «$rTL£l 6i)s65)6rTS Qsulip 6urri£6i| j5i_<£<£l 65riT.

Ulfl l̂o) 6UITj£<565)S65)UJ GL £> fT)Q«rT655r(3l_mT
065)fD&jrr<$ uifl* njeo l̂iuCourTgiLb
<^]6lf1<£<$(cUn-g]Lb ^u(olurT065)GTT §lffffQLD«5T

LDp<5<$6OTIT.

56iTT)p [A]
LD<950

®rrij665TLb [R] :
QpsLb LorrrSl

LD<§<$§j

(A) [A] 5if) , ^OTTTGb [R]^6up
(B) [A] Lorf)pLb [R]^UJ ^cr«Rn-@ ijb 5if) , ^esnro) [A] sifl OTOTTU^IT)®

[R] 5=lf) lUrT«ST cfil6fr<K<5LDQ)60

(C) [A] LDfDpLb [R] Ĵ,«f) lLI ^llJ«Rn-©Lb fflfl ; LDfDpU) [R] <^,65T§] [A] 6fi) fT)«rT65T
dFlf)u_irT6ffT 6$6TT<5«LDIT0Li>

(D) [A] ^eU/DrT65Tp, [R] 5lfllJJIT6ffT§j

(E) sfilsoL. Q^ifliuefila)«s)60
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76. Find the next term.
0.5, 0.6, 1.5, 4, 8.9, _

(A) 12.6
(C) 14:3
(E) Answer not known

(B) 13.5
(D) 17.0

2_rryuL| arrsfor.
0.5, 0.6, 1.5, 4, 8.9,

(A) 12.6

(C) 14.3
(E) ©S)os) i

_ QdsiflujoSId)®)®)

(B) 13.5

(D) 17.0

77. A, B, C, D, E and F are cousins. No two cousins are of the same age
but all have birthdays on the same date. The youngest is 17 years
old and the oldest E is 22. F is somewhere between B and D in age.

A is older than B. C is plder than D. Which of the following is not
possible?

(A) D is 20 years old
(C) F is 19 years old
(E) Answer not known

(B) F is 18 years old
(D) F is 20 years old

A, B, C, D, E LD/i)pLi) F ^y,<£l (3uLjrrit 6£65rpaS) iLi_ ^Coarr^ijiTacTT. ^)6uiT<$6rfl«) 6rrija>

@0 a=(S«5fr^ijit«5( r5Lb suuj^lant ^gbeo. c^OTrra) , ^65)65T&j0«0ii)

<£)6ffni> ffLDLD. U51 <K«06S)/D^ GUlLlgJ 2_65) I_UJSUIT 17 (SUUJgJLb , Ll5l <5 <^<£1«

CUlLlgj Q <5(T«jffrL_ E, 22 QJUJgJLb 2_0D 1_IUQJIT. F ^GJT&JIT B LDrfjpii) D <$0

^laoi_u51a) 2
_
6TT6fr 6^0 QJiup Q <Kn-«rcn_6urr. A erasiueun B gg QS) L_ QuifliLnajiT.

C CT«rrueii (T D gg Q51 I_ QUIAILICIJIT CTCBASU <lyD«a56^i
_6iJif) nfj)6b OT§J ffrr^iuuSlajQDO) ?

(B) F CT65TU 61Jlfl65T OJlLlg] 18

(D) F OT05TUeiJ [fl«5T OJlLlgJ 20
(A) D OTsn'usiirflesT suujp 20

(C) F <oT(SCTUajlfl65T CUUJgjJ 19

(E) G£)SDL_ QjsfliuaSlcos&a)
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78. Match the following and find out the correct sequence,

(a) Abiotic component 1. The crushed cane after extraction
of juice

Animals that feed on other animals
Non-living component in an eco
system

Toxic organic compound causing

cancer

(b) Bagasse
(c) Carcinogen

2.

3.

(d) Carnivorous 4.

(a) (b) (c)
(A) 1 2
(B) 2 3

(C) 3 1

(D) 4 1

(E) Answer not known

(d)

3 4

4 1

24

2 3

<$jLp<5>655TI GUJDQDfT) Qun0j9jg|<$ LDfDpLft (SLD^JLD fflfllUrT 5T SUlflsDff (Lp«0fD6J0UJ «rTGRfT<5.

1. ffrrp i%)@ QjBrrpasuuilL-
«0Lbn

2. iDfbfD ®Sl6or&j0<565)6rr g_«ftn~6gniLb oSla)r&j(§a«iT

3. (g,Lp lS1lLICb Lr»655TL .60^6b 2_6TT6fT 2_ll51IJ/D/D
<9h.p

4. Ljrf)p(Sl5rT65) UJ 2_655TI_ rr<50Lb
<SCO«DQJ

(a) 2_uS) ljrf)fD QurT0CTT

(b) «0ii)L|5: a=««n <s

(c) <5rriT(snSlG«5Trrgg«fr

S

'1

(d) 2GTr@J 655T«Rffl

(a) (b) (c)

(A) 12 3

(B) 2 3 4

(C) 3 1 4

(D) 4

(E) eS\ee) L
_ Q^ifluj0ffl4)65)6O

(d)
4

1

2 •
2 31

160CCSEI-IAP25

r

s
Highlight

s
Highlight

s
Highlight



79. Choose the incorrect answer of forest types and their species in

India.

(1) . Evergreen forest

(2) Monsoon forest

Rose wood, Toon, Ebony, Guijan

Silver fir, Walnut, Deodar,

White Willow

Chir, Blue Pine, Spruce, Cypress(3) Tropical forest

(A) (1) only

(B) (1) and (3) only

(C) (2) only

(D) (2) and (3) only

(E) Answer not known

2_6TT6TT OJ 65T eu0D <5« rr iDrijpLb ^6uri) rfjl 65T gjesrrEjaOT urfjrgluj ^QJJDrrsiT

U <£l 65)6D <j5 GkglT&j QffUJUJajLb.

(1) u£fi-65)LD LDrrn)rr« «rr@

(2) U0QJLD66)Lp<R <5fT©

(Sijn-6fu6Mil. s50fBJS5rr661. 0iTgg6BT

Qoj6fT6ifl O°0I5) IT. 6urra) FBL_, G^aj^rr0.
QISU <OTT65)6TT <sfil (ob(o60 rT

<# IT, LJ^5 65) U65T, 6fl)U06fO, 65)S:UIJ6fO(3) y,L£<5^llLI GlJ65)<5 <5rr0<56TT

(A) (1) IBLlglLb

(B) (1) IDf&pLD (3) LDLl(SiLb

(C) (2) LDL
_@ Li>

(D) (2) IBfDpli* (3) LDll@ Li»

(E) 6^165)1— Q^lf1 lLJ6)S)a)65)60

CCSEI-IAP25
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Arrange the Conquests of Iltutmish in Chronologies

(1) Bengal
(2) Bilsa Fort
(3) Gwalior
(4) Ranthambhor

80.

(B) (1), (3), (4). (2)
(D) (4), (3), (2), (1)

(A) (1), (2), (3), (4)
(C) (4), (1), (3), (2)
(E) Answer not known

^l «)L_@ ll51e^i-65T QGUrf) r51 <565)6rr<5 <5d6DGufl65)ffUU©d5g]<S-
(1) ajrBJ«(T6TTLb
(2) G«rTLS0L_
(3) @6urr66) iuiT

(4) ijnw«5i£>Gumt

(B) (1), (3), (4), (2)
(D) (4), (3), (2), (1)

(A) (1), (2), (3), (4)
(C) (4), (1), (3), (2)
(E) aSlSDL Q<£lfllU <ofi) <Si)SD6U

81. Which of the following statements are true about the Houses at
Mohenjo-daro?
(i) It was discovered in Montgomery District of Punjab.
(ii) Mohenjo-daro the houses were made of Kiln-burnt bricks.
(iii) Kiln-burnt bricks in large quantities were used for drains.

(A) (i) and (iii) only
(C) (ii) and (iii) only

(E) Answer not known

Qu3dQ/D0ff <£dGlJd®@§^CTTGTT aS@ <565)6TrU l51«dCU0Lh <9«.rf)p<5Gff]6b OT§|
&_S55T65) LD ?

(i) g!§i LDrT65ffTL_G<5rrQLDif1 LDrrsmli_^Q) L S I U
(ii) QLDdpD0ff <$n-Gijn-0S]Q) cfi@«6n- *L!I_ QffrBj«5fbffi6nTT6b^63T 5)6IJ .

(iii) 5rL_ l_ QfffBJffirfjffiCTT ^OTSlSlQ) CUU)-<$d(a)<K(Snj<ffi0LI UUJ«n-U @^LJUlll
_

65T.
(A) (i) mrijpii> (iii) UDI1®LD

(C) (ii) LDjBpLb (iii) LDLL@ LD

(E) <sS\es)\- Q^rfliLi65Sl6b«DGO

;
(B) © only
(D) (ii) only

(B) (i) LDL_0|_D
(D) (ii) LBU@ Lh
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82. On 24th September 1932, Poona pactVas signed betw
(A) Gandhi- Irwin
(B) Gandhi-Jinnah
(C) Gandhi-Ambedkar
(D) Gandhi-Ramsay Mac Donald
(E) Answer not known

^j,Lb Abater© QffuL_ihuiT 24ib G&&
65) <sQILImjU U51 lll_6U ITffiCTT.

(A) arrrB^l - glfroSleifT
(B) «rns;£) - g§l6ffT6ffTrr

(C) arrrs^l -

(D) «rrj5<£l - ijmhGff QiD«Gi_rr65TO)il

(E) <sS[ GS)\— Q^[f) lLlcfil6b«D60

een

1932 y,65rrr $uuiB<£<5.£)d)

83. Choose the right matches :

(1) Ferosha Metha
(2) Gopala Krishna Gokhale
(3) Dadabhai Naoroji

(4) S.N. Banerjee

(A) (2) and (3) are correct
(C) (2) and (4) are correct
(E) Answer not known

ffifliunw^ QurT0^r&ja665)6TT :

(1) i5K3rrrr0^rr CoLD^rr

(2) GftfTUfTQ) ^l0 i^655T G<5fT<sCeO

(3) ^rnsmJiTUJ QrB«srrCijn-g§l

(4) S.N. UlTOTltggl

(A) (2) LDJPgJJLD (3) ffffl

(C) (2) mrfjpLb (4) ^
(E) ©SI65) I Q^[fluJ0Sl 6b0P6O

Disciple of Gokhale
Servants of India Society

Drain Theory
Safety Valve Theory

(B) (1) and (2) are correct
(D) (3) and (4) are correct

<2<5rT<5(p60 llSl«n- <fl_65T

glrj^luj 2arL^luJiT<s6ifl«n- aroaLb

6Ult|-<5rTQ) Q«mSTT65)<K

urrgjasrTUL] &ar^Lp Garnlun©

(B) (1) inrf)pii) (2) sifl

(D) (3) LDrbpib (4) *ifl

CCSEI-IAP25
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84. With reference to the functional items placed within the purview of
municipalities, consider the following.

(i) Regulation of slaughter houses and tanneries
(ii) Safeguarding the interests of weaker sections of society

(iii) Small-scale industries, including food processing industries

(iv) Technical training and vocational education.

Which of the above is/are correct statements?

(A) (i) and (iv) are correct
(B) (ii), (iii) and (iv) are correct
(C) (i), (iii) and (iv) are correct
(D) (i) and (ii) are correct
(E) Answer not known

rFj<ffiljrrL_
<£)ffi6lfl65T CTCDSD60<950611 65)611<95<95UULL(516TT6TT Qa= UJQ)Uml@^ d5«D6DULj<5«5)6mj

Qun-p«£<£6U 65){r, lS]6OT6U06U«n-6Llri)«DfD <5 <950<$<£ld) Q«95 rrGir<95.

(i) <9«n.i— rEi <56iT LDfi)pLb G<£rT6b i
_

j <5«fl© Lb Qjsn-ySljDtfrrgngDasgiDGrT
6£(Lpnij0u(5)ajSji <$Q)

(ii) u6oaS65TLDrr(SOT LSlrfle^esr r560«n-<565)6mj urrparr^a)

(iii) 2_«5ffrGL| u<£Uu©<$pLb Q^rrL^cbaeTT 2_0T6iflili_ <#lp Q^rrLfl b<s56rr

(iv) Q<$rrL£la)pL
_

Li uiiS) ri)<£) UM&pLb QjgrrySlpgseboSI

GLDfD <s<5«wri_<su (i)psrr 6rp/6T65)6Li ffiflujrTOTSDQj ?

(A) (i) LDfbpLD (iv) ^ifl LU rT6ffT65)6U

(B) (ii), (iii) LDrbpLb (iv) ffiflujn-asraoeij

(C) (i), (iii) LDrfjpii) (iv) ffifliLirrsfroocu

(D) (i) LD/DpLD (ii) <SFlflu_HT65T6ff) <SU

(E) 6fil«5) l
_ Q<£!fllLiefil6baJ)6D
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85. The objective of the National Human Rights Commission

arrangements through which
human rights issues could be addressed in their entirety in
more focussed manner

(ii) To look into allegations of excesses, independently of the
government

(iii) To contrast and strengthen the efforts that have already been
made in this direction.

(A) (i), (ii) and (iii) are correct

(B) (ii) and (iii) are correct

(C) (i) and (ii) are correct

(D) (i), (ii) and (iii) are incorrect

(E) Answer not known

are :

(i) To strengthen the institutional
a

Gk5#llLI LDQlflsj 2_lfl«S) LD <56fT ^,SD65ffrUJa)d§65T (3r5n\5<£IEJ <S6iT 1

(i) LD«% guflsDLDserr iSlij&flsDsraa&OT (Lp(L£®)LDiLin-«« 65)asiLirT6rr<s «u*iu rglp

^rfi)urr@ffi65)6rr ©J 6£iuu@<9>p<£a>

(ii) avemtusfiafi* <wru»i>, JH#«uu^ajr«rr

S1165T

VpaarrGeu <2iDitQ«rTOT6rTuuil©6TT6iT (ipuj4)#l«as)6iT
(iii) ^(5^ rgl«5)6ou51o)

Ccupu©^ cug)juu©^§]^6b

(A) (i), (ii) LD/DpLb (iii)

(B) (ii) IDftpLb (iii)

(C) . (i) iDrfjpLb (ii)

(D) (i), (ii) LDftpLb (iii)

(E) eSiG5) L- Q£iflujefil&«>®)

CCSEI-IAP25
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to make any law

with respect to any matter not enumerated in the

concurrent list or state list

: VIII schedule of the constitution contains union

list, state list and concurrent list

86. Assertion [A] : Parliament has exclusive power

Reason [R]

(A) [A] is true, but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]

(C) [A] is false but [R] is true

(D) Both [A] and [R]

explanation of [A]

(E) Answer not known

true; but [R] is not the correctare

StnJDp [A1 QurTg]uuiLin_ujcb LDrf)pLb LDrn§l60u ULLLCJ-ILIQ) ^^ujojrbrfld)

seUDUL -iLna) @®nThj<5 TT Qajm_rrun'<s ^LLLLD £g)u_ifT>pLb (ip(Lp
^^l«mj^65)05T urrgrr(6T5LD05r/DLb Q<srr«j&r©CTr6n:g]

vill-ajgi ^CL&iaDOTr, LD^ILI uili^tu*,
iDiriflffi UCI^UJ* iDjbpiij Quirgiuucunu*

• Q<srr«55r©en-crrp

(A) [A] ffifl , ^anrro) [R] <$eup

(B) [A] LDrtjpLD [R] Jg)ij«55T@ Lb <Fifl; Gmgyib [R]
efilcrraaLb.

<smj6rorLi> [R] :

CTOHUgJ [A]«0 ffffllLirTGST

(C) [A] <$<sijp, ^esmeo [R] sifl

(D) [A] u)0pib [R] fffl; ^airiT* [R] OTsfau§] ^®S) eiTffi <5LD6b60
-«(5 <5lfllUIT65T

(E) efilaoL- Q^ifliLi0Slcb65)6o
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87. Which of the following statements is true about Article 21?

(i) This article reminds us of one of the famous clauses in Magna

Carta.

(ii) The constitution does not confer right to die.
(iii) Custodial death is perhaps one of the worst crimes in a civilized

society governed by Administrative Law.

(A) (i) only

(B) (i) and (ii) only

(C) (i) and (iii) only

(D) (ii) and (iii) only

(E) Answer not known ;%

ÎĴ llUeUSDLDLJLSIe&T 21 gg U/D/fjl LS1«5TSlJ0Lb 5n.rf)p«6Tfl6b OTgj 2_6WT65)LD ?

iDarrffrrffQJT^^leb 2_6rr6rr 2_L_ L51if)6i06Tf)6b i_|«LpQurf)rD ^sn-sofD i51iflaj

(ii) ^IJ^1UJ (S0«DLDU1_| tflll-Lb ^l (D«0Lb 2
_lfl65)LD66)UJ 6ULprBJ«efil0)68)60.

(iii) fgl0curr«a: a=ili_^rra) ^j,6rruu©ii) fBrraifl.sff <?((£<$nuj«5«il6b

u51 <s GiorreLDnw 6£65m) n0Lb.

(A) (i) LDll^LD

(B) (i) LDfbpLb (ii) LDI10LD

(C) (i) LDrfjpLD (iii) LDll(S)Lb

(D) (ii) LD/bpi-b (iii) LDil©ii>

(E) 6^l65)L_ Q(S>lflllJ®fi1d)GD®)

(i)

<5rrQJ6b LDIJ655TLD

CCSEI-IAP25
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88. Consider the following statements about Women Helpline. Which
among the following statement is incorrect?

(A) Provide toll-free 24 hours telecom service to women affected by
conflicts seeking support and information

(B) Facilitate crisis and non-crisis intervention through referral to
the appropriate agencies

(C) Provide information about appropriate support services,
government schemes available to the women affected by
violence

'
'

'

'

"
'(D) Provide integrated support and assistance to women affected

by violence in public spaces only

(E) Answer not known

Qu6555<56T5 2_536)9 656555 UfT)jf) uJ 19057611011) 5«)_rbp5B65) T5<5 «r5655555 . L96OT6U06U6OT6Urt) rfj]Q)

65g] ffffllLirT05T^6b6O ?

(A) (LplJ055TU@61J^ rT6b, Un$ffi55LJUlLl_ Qu 655555(6n>55(8j LDrtjpib
<$556U6b.£6S)6r5<!5 (3^@LD 24 LDGJBflClrBIJ «LLl_6B5Tu5]6b Orr Q^rr6O60^ Q^rTL_ITL|
<3565)61165)UJ 6ULpiEJ05jQ)

(B) QurT0^LBrT05T rglp6116551*155(6nj«0 UlfltBpglDIJLJU^OTT QpGOlb 0(5055551̂ LD (T)pit
Qj50««4 «^) 6b60 rr^ <£65)60 USL165) L_ 6T6ifl^rTa0^Q)

(C) 6H05r(Lp05)fDUJrT6b ur5$«ffiuuCi_ Qu65556p550as $65) i_«0Lb Qurr0^LDirar
<3565)61155655 , <3W 5TS, £§IL_ I rtl <56TT UrbrfjllLI £55611605565)655 611 Lprtl0^60

(D) Qurrp @ i_tEJ«6ifl6b U5il(glib 6i)655(Lp65)£uj55Q) umgl&sijuiLL. Querns^*®
6j)0r£j <£l 65)6055(55) LD 55)pLb £_£6)966)UJ 6LILp (*l (5j£60

(E) 6l965) L_ Q^lfllLI6l96065)60
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89. Choose the right matches :

(1) Shyama Prasad Mukherji
Rurban Mission

- Integrated Cluster Action
Plans

(2) Saansad Adharsh Gram Yojana — Skill training to global
standards

(3) Rashtriya Gram Swaraj Abhiyan - E-governance in
Panchayats

(4) Deen Dayal Antyodaya Yojana - Poverty alleviation
through SHGs

(A) (1) and (2) are correct

(B) (1) and (3) are correct

(C) (2) and (3) are correct

(D) (1) and (4) are correct

(E) Answer not known

ffifliurrsjT Quu0<5<$rBj<5«f)6TT CS^it^QiB(^««6LjLb.

(1) Q^iLirrLDn' iSlijffn'Sj (y)<® iTg§l 0rru6in' uSlo^sisT — 6£0iEJ <£lss)ssijrrjjSj <£) 6H6fui_it
QffiLieb ^lili_rEj«6TT

2_60<Ksrrn6filuj <5ij£i§lri)0 $ln)«nr
uu51(i)#l

(3) urrosbio (flinrr ^lijrrm crusuijfT^^wrrdr “ u^ffmu^gisafld) U51«T65TOT^

*ILI 2_<$cfil<95 0(ip«« TT (Lp OLb
®jp«0Li»

(2) ffrrssTffjS <£) ijrm) Ciurr^arrr

(4) <§65T ^UJITOT ^(t^CSiLKT^ajrr (3iurrgg65Trr

(A) (1) LDjppii) (2) ffifl

(B) (1) LDrfjpLD (3)

(C) (2) LDrfjpLb (3) ffifl

(D) (1) iBpgu^ (4) ffifl

(E) QS)«DI_
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90. Match the following :
Schemes

(a) Kalaignar Magalir
Urimai Thittam

(b) Tamil Puthalvan

Beneficiary
to travel in Govt.Woman

bus at free of cost

Woman college students
who studied in Govt,

schools till 12th standard
Woman head in a family

College students who one
studying in Government
and Government aided

1.

2.

3.(c) Vidiyal Payanam
(d) Pudumai Penn Thittam 4.

colleges

(a) (b) (c) (d)
4 1 2
14 3
3 2 4

(A) 3
(B) 2
(G) 1
(D) 4 2 3 1
(E) Answer not known

l51<55T<SU0CU65TQJ
(
[D«DirD sifl ILI rr<5 Qun0<5<£l «95 «mll_ lJLb

(a) 5565)60(0IT LD <56rflrr 2_lf)66) LD3j <£) lll_Lb 1.

UUJ 65rrT6rfl <56TT

Qu655T<5(6nj<5(SIT6OT £§160611ff

^IJ* Gu0^§iu UUJ 655TLi)

12l_b 6U0ULJ 61I 65) IJ
U6iT6lf) <956m6b Ulq_5545 Qu6TOT
<$ 06£JTlf) LDrT655TGUIT«6iT
Qu655T 0© LDU <5 <$65)606$

LDfDpLb 2_
<$6$LJ

QugULD «6bglJTlfluS1©) Ul^«0Lb
LDH655TOJ rr<95(6nj<S0

(b) <$u51 y) L|s>6b6Li 65T 2.

(c) 6lSlU).lLia) UUJ665TLb

(d) L|gj66)LDu Qusfor <illll_Lb

3.

4.

(a) (b) (c) (d)
(A) 3 4 1 2
(B) 2
(C) 1 3 2 4
(D) 4 2 3 1
(E) cfileoL. QjSifloJô sbsna)

1 4 3
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91. Which of the following statements
Development Index (CDI)?

CDI was developed by the ‘Save the Children’ campaign.

(ii) Health, Nutrition and Education are the three indicators
conventionally used for measuring CDI.

(iii) CDI is calculated in the same way as that of HDI.

true about Childare

(i)

(A) (ii) and (iii) only

(B) (i) and (ii) only

(C) (i) and (iii) only

(D) (i), (ii) and (iii)

(E) Answer not known

(SjLp(B©)5j aJcrriTff^l (SjrftluS© (CDI) urbrfjliu i51«n-6U0Lb a«i.(T)p«6Tfl 6i) erg] 2_65ST65) LD ?

(i) ‘@LpiB6S)gffi«s)6rT« arruGurnb’ iSlijffffmjggrTQ) CDI 2_0ajrT«<suuili_§j .

(ii) CDI g> ^6fT0Sl@sugrf)0 ULp«*UDnr«u uuj0n-u(5lgguu@ii> (Lpssrp

0f51«mliq.«6rr *«rrgirijil>, ssrili-ffsggi LDfopii «©>©S1

(iii) HDI «655r«^li_LJu@Lb GUL^IUSIGO CDI « OT«&I_UU©%>§I .

(A) (ii) LorfjpLb (iii) LDLL©LB

(B) (i) LDfbpii) (ii) LDL1@LD

(C) (i) LDfjjpii) (iii) LDL_@LD

(D) (i), (ii) LDfTjpLb (iii)

(E) aS]«s) i_ Qgifluje5l6b05)®>
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92. Arrange chronological order/event .

(1) Mahalwari system

(2) Ryotwari system

(3) Zamindari system

(4) Gramdan movement

(A) (4), (3), (2), (1)

(B) (3), (2), (4), (1)

(C) (3), (2), (1), (4)

(D) (2), (1), (3), (4)

(E) Answer not known

Hi£«e55rL_ j£) <5i£6n<5«f)6rr arreo :

(1) LD6tfDQ)Qjrrifl (LpODfD

(2) iju_i<$§i&jrnfl (ipenfD

(3) ggLS«nj$mfl (P«DID

(4) y,uSl^n«frii) (Lpsoro

(A) (4), (3), (2), (1)

(B) (3), (2), (4), (1)

(C) (3), (2), (1), (4)

(D) (2), (1), (3), (4)

(E) Gl^ifluj0S1d)«s)6o
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93. Choose the right answer among type :

(i) The Ashoka’s Inscription was found at Brahmagiri.
(ii) Chinnamanur Seppedu mentioned Thalaiyalanganathu

Pandian Nedunchezhien.
(iii) Thirukkovilur Inscription mentions the death of Awayar,

which was published by T.A. Gopinathanayar.

(iv) Ancient inscriptions not available in Karnataka till AD 10.

(A) (i) and (iii) only right

(B) (ii) and (iv) only right

(C) (i) and (ii) only right

(D) (iii) and (iv) only right

(E) Answer not known

l5)65T6U06U«n'6Llrf)p6TT fflflujrTGn'eUfi)68)n)<5 <$SS&TL_ffjl <K.

OT(ip^§]u Glurnfj)<56TT ODLD^IT i51ijrrjB^luu^Q) LSlijii>iD<£lifluSl6b
<£l 65) L_<5^l65nDg].

(ii) ^lejnwLDspjTiiff QffuCcu©
0f5lui<i)@£l6irrnD§].

(iii) G«(Ti51rsrT^rBrrujfr U£IUIS1<£<£ OT(Lp£§|LjQurnS)

2_US) IT §] n) rB<565) <£«

(iv) S.iSi. 10 gjT(f) (Drr«55r@ GUGJOIJUSIO) .SSSTOTI- tBmli^a) eSijaaa)

(A) (i) rnrbpLb (iii) LDII^LD ffifl

(B) (ii) LDJDpLD (iv) LDL_@ LD fflfl

(C) (i) rn/Dp^ (ii) &\L®\b

(D) (iii) uMi)pLi> (iv) ^\L®\b sifl

(E) <sSies> L.

(i)

UrT«RJTli).lLl«5T<$6B)Q)U_irT6l)FR]<5rT65T£pU
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94. Which of the following statement/s is/are true about the rationalist
marriage system ‘Self Respect Marriage’, devised by Penyar?

The Self Respect Marriages were conducted without any

priests or chanting of the rituals in Sanskrit.

(ii) They were often deliberately conducted in times considered
auspicious.

(iii) They did away with thali-tying ceremony.

(iv) The couples took oaths promising to treat each other equally
and as friends.

(A) (i) and (iii) only

(B) (i), (ii) and (iv) only

(C) (i), (iii) and (iv) only

(D) (i), (ii), (iii) and (iv)

(E) Answer not known

(i)

QuifluJm’r GLII^GUSDLD^ ‘<9HULDifliurr65)<$ <£l0LDS?ffrLb’ OTGOTID
«£l0LDsan\£65)<£u urbffjluj i5)«sT6iJ0Ljb asqbpaofld) OT§] / OT65)6U tfiflu-irrojrgji ?

(i) *ujLDif) ujrr65) <$<$ d§l0LD655rr&j <9j6TT OTrijd£ y^rnflas^QTjLb ^ebeorrLDeb ^6bo)p
ffLDGfu^l0^^1d) <EFI—r&J0<5STT J5L_<£<£UUlLl_65T.

(ii) ^65)<5u Qu0LburrpLb GcusfergiQmeisTGtT) u) i£j <56n\5i7L£> iT6&T<$n\g5,s <50<s5uu©Lb
(2l5IJltJ« lfla) (Tjl—fljSjLJUL _l_65T.

(iii) ^euiT<56n- -graSl ©SlLprransu 8> L£1 <$<£65TIT.

(iv) £Lbu <£l «$6TT $0<su0<5Q«n06ijiT <EFLDLDn\s L|Lb ii<g56mT<s56L|LD mi_sa]cusrr«
2_p<£llLI6lfl<£p ff^UJLD QffUJ<£65Trr. H ^

(A) (i) LDjjjpLD (iii) LDL
_0Lb

(B) (i), (ii) LDrfjpih (iv) LDL
_@ib

(C) (i), (iii) uDiipLb (iv) LDL
_©ih

(D) (i), (ii), (hi) mjbpo) (iv)
(E) ©S1«S)I_ Q^lfllUoSl0)65)60

CCSEI-IAP25 74 Y

s
Highlight



95. Which of the following is incorrectly paired?

(1) Sir Thomas Munro Licensing Act of 1857

(2) Sir Charles Metcalfe - Liberator of the Indian Press

(3) Lord Wellesley Printers name at the bottom of the

paper

(4) Lord Canning

(A) (1) and (4)

(B) (1) and (2)

(C) (2) and (3)

(D) (3) and (4)

(E) Answer not known

System of License and Censorship

i51fiyr6U0CU0yT(aj
(
[i)if^6b CT§I <£6U [Dnr« ^^6OTT««UUI1©0T IT§I ?

— 1857 ^j,lb L-l LD

— |gljB<£) uj u^ifi*a)*®afldT front

— ^rrafl6BT £Gy) ^#3ruQurT$) ujfTflTit Quiuit

— e_ifles)LD LDjpgjjii) openp

(1) fffr (gjrrLDcfi) LDQfrGjprr

(2) fffr ffn-frajcfu QLDLL«rTo
0
«u

(3) Q6Ud)Q606fU6lS) LSIIJL-I

(4) arraflfE] IS) IJL|

(A) (1) uMDpLb (4)

(B) (1) uD/bpii) (2)

(C) (2) LD/opii (3)

(D) (3) iDji)pLb (4)

(E) ofi]«0 L
_

J
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96. Match the following customs with literature .

(a) A custom performed by an
unrequited Lover

(b) A custom of mixing Palmyra,
sugarcane juice with coconut water

(c) Custom of offering crow with
white rice and Ghee

(d) The custom of painting the walls of
private houses

Kuruntogai1.

2. Manimegalai

3. Tholkappiam

4. Purananuru

(a) (b) (c) (d)
(A) 3 4
(B) 2 4
(C) 4 2
(D) 1 4

21
1 ' 3

31
23

(E) Answer not known

LSl«n'6U0li) l_ILp<5> <95 6ULp<K<SrEJ<5SD6TT QuiT0^C^|Lb.

(a) u y51 6urn£j <5rT <£ <5rr<56i)65rrro) QffiLiujuu0Lb 1. 0prBQ^rT«D <5

6£0 OJLpdKfljLD

(b) U 65)65T LDrfjpih <50LDl
_
|<g:5:rrp

<^{,<£lllJ6UfT)6S)/D <5 «6D <50Lb SULp««Lb

(c) Q©J 6TT«n <oU ^lfl <£) LD (i)pLb Q[5UJlLjl_«5T

<SfT<565)<5<£0 65)r5(p6U <£UJLi) QffUJUL( Lh 6ULp<5aLD

(d) «sfi@ <56rfl«5T <56UIT<56lfl«) ^oSllLILI) <§lL®Li)
QJLp<5<5LD

2. LD655fl(oLD<9j65)6D

3. Q^rT6b<5ITLJLSllUli)

4. L-l/DjBrTgjjrp

(a) (b) (c) (d)
(A) 3 4
(B) 2 4
(C) 4 2
(D) 1 4 3 2

(E) 6)5165) I Q <$lflUJ6)&l6b65)6l)

1 2
1 3
1 3
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97. Match the following :

Excavated sites in Tamil Nadu

(a) Chennai

(b) Tanjore

(c) Dharmapuri

(d) Erode

I

1. Mallapadi

2. Kambar Medu

3. Kodumanal

4. Pallavaram

(a) (b) (c) (d)

(A) 4 2

(B) 2 1

(C) 3 1

(D) 4 1

1 3

3 4

2 4

2 3

(E) Answer not known ?
Qurr0^gj<s :

^u5lLp«^Q) .̂SLprruja] (3iDrf)Q<5rr6rTSTTUUL_ i_

1. LD6b6Durri£|_

2. «LI) UITCSLD©

3. Q<5fr0LD«(5reb

4. u6bcorr6uijLb

(a) Qffsn-soon-

(b)

(c) £ITLDL|lf)

(d) FCSijrr©

(a) (b) (c) (d)

(A) 4 2
(B) 2 1

(C) 3 1

(D) 4 1 2 3

(E) <aS)65)l_ Q<£(f)u_l@Sl6U0D6D

31

43

'42
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Z676, what is total value of
98. When we write like this A1B4C9D16

the numbers followed by P and Q?
(A) 770
(C) 869
(E) Answer not known

A1B4C9D16 Z676 OTOT OT(ip§jLb CurTgi
Qinrr^s LD^luLj CTCCTSST ?

(A) 770
(C) 869
(E) sfil65)L

_

(B) 677
(D) 481

P iDj&gjib Q-<3I>* Q^m_ijuu©ii

(B) 677
(D) 481

99. Given below are 4 pictures of a cube.

r
Which number is on the face opposite to 3?

(B) 2(A) 1
(C) 4 (D) 5
(E) Answer not known

^CeijP r5n^FT(5 «ajrffg]ijr£j«Grr GlarT^aauuilQlcrTefrajT

3 eranj© crfflBTT0Kflri)(§ a_CTTsrr su0ib ereJffr
(A) 1
(C) 4
(E) 6iSlSDL_ Q^(fllLlsfil ba)60

(B) 2
(D) 5
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100. Match the following hormone with the disorder caused :

(a) Insulin

(b) Thyroxine

(c) Glucocorticoids

(d) Growth hormone

1. Cushing’s syndrome

2. Diabetes insipidus

3. Acromegaly

4. Goitre

5. Diabetes Mellitus

(a) (b) (c) (d)

(A) 5 1 2

(B) 2 4 3

(C) 5 4

(D) 2 4

3

1

1 3

1 3

(E) Answer not known

p)mt(Sn> rT65T<565)6rT <^«D <oU 2_6rori_rr«0Li) G>j5rruj<$G!6n7T© Qurr0^§]« :

(a) @«5T*ciSl «n-

(b) 65)^ijrr<5<#l «sT

(c) ®(g5«Garr«rrfrii^fn£jil

(d) 6U6rriTff^l QomTGLDrrein-

1. ^leifrilGijrrLb

2. «r> i UJRRLSLL_I 6fo eirr^LLSI fu

3. ^«GijrruSl«rr0SI

4. «Lp65)60

5. G^rnij

: !

(a) (b) (c) (d)

(A) 5 1 2

(B) 2 4 3

(C) 5 4 1

(D) 2 4 1

(E) OSISDI Q^fflujcfi]a)«060

3

1

3

3
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101. Which of the following is the first Indian SateUlte?

(A) INSAT 3D ® JtmrK BIRD
(C) IKONOS 1 (°) QUICK
(E) Answer not known . r>

_
rrdT?

iSIdraiQ^icmu^d) crp (ypd> gjtfiu Q«ujba>«*-
(B) LANDSAT 8

(D) QUICK BIRD(A) INSAT 3D
(C) IKONOS 1
(E) ©Sl«ni_ Q^ifluj®Sl6b«n60

102. Who among the following tribes act as cattle keepers?

(B) Kewats
(D) Bhils

I(A) Dhimor
(C) Rawats
(E) Answer not known
l51ajT6U0lh ULp[RI0Uj.u5l65Ilfl6b ILimT <5fT6bjB0S)L- UIjn’LDlfluUROTfraGTTrra Q<FlLld)U@< l̂fDmTffiOT?

(B) G«6D micro

(D) iSlcbcfo
(A) ^liDirrr
(C) IJGUmicro
(E) Q<£lfllLIG]S)d)65)6D

103. Assertion [A] : Development of a nation depends on
infrastructure facilities.

Reason [R] : Transport and communication are the back bone
of economic development.

(A) [A] and [R] is true and [R] is correct explanation for [A]
(B) [A] is true but [R] is false
(C) [A], [R] is true but [R] is not the correct explanation of [A]
(D) Both [A] and [R] are not correct
(E) Answer not known
3«.fbp [A] :
amjarmb [R] :

r&mllacin' cucrniff^) &_il«il -SDLDUL ) CUff^loDUJff fflTITI5£§J.
Quir&@aj^i LDrf)pih Q^rT«j)6oQ^m_iTL |, Qurr^cmr^mjCLiCTTrTffffliijlQrr (LpgiGlffi^jihuiT^ih.

(A) [A] ujrtipib [R] ffiflCu, [R] ter« iflte (Fiflojiroi sflarte* fAl
(B) [A] fflfl ^65TrT6b [R] <£&jp

(C) [A], [R] ffifISiu, .̂ anr*[R] [Alters* sffliursr sfflsrteuxiba)

(D) [A] iDfbpib [R] @ i7«fcr0Lb ^cup
(E) GlSlam- Q<£lfllLlcfi)cbG6) D

I

80CCSEI-IAP25 Y

s
Highlight

s
Highlight

s
Highlight



:i
104. Match the following :

(a) Peshwa

(b) Amatya

(c) Sachiva

(d) Sumant

1. Foreign Secretary

2. Chief Minister

3. Finance Minister

4. Superintendent

(a) (b)

(A) 1 2

(B) 1 • 4

(C) 2 3

(D) 3 2

(c) (d) I
3 4

2 3

\ 4 1

I 1 4

(E) Answer not known

l5)6BT6U06U«n-61jrf)«DfDU Q|JIT0£§jaS :

(a) Gua^&jrr

(b) ^Litrr^ujiT

(c) ffffSeurr

(d)

1. ^ujsbrBrril© Qa= iLi60 iT

2. (Op-SGDSOLD&fflT

3. rfl^lUJSOLDfffflT

4. «6ror«rT68BfluurT6TTiT

(a) (b) (c) (d)

(A) 1 2 3 4

(B) 1 4 2 3

(C) 2 3 4

(D) 3 2

(E) oSlaoL

\
I

1

41
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105. Which of the following statements are true?

(i) The National population policy, was
1976.

(ii) Included provisions for health care, nutrition and more stress
on Education for girls.

(hi) The goal

(A) (i) only correct

(B) (i) and (ii) only correct

(C) (ii) and (iii) only correct

(D) (i), (ii) and (iii) correct

(E) Answer not known

promulgated in April

eventual average family size of two children.was an

t51«TT6U0Lh OTgJ 2_655r65) LDlLinr65Tg] ?

<5TUI76lSl6b G<$«#llLI
iS) IJ<KI

_
65TLJ ugl^UU L

_
L_§].

(i) 1976 LD«<56TT Q^rT65)«5<5 Q <5rrOT65)<s

(h) awrrpmpb, LDrf)pih Queror (§Lpf565)^«6ifl«5T <3$*
(!£«<£) U_l <$p<SULb

®tpib®j5«a,aTi Qslr<*n_ ffgrw(f|
^OTiairrffi

(A) (i) LDL
_@li) fflfl

(B) (i) LDffjpih (ii) iDil0ih sif)

(C) (ii) i£» fi)pLi) (iii) IBLI^LD ffifl

(D) (i), (ii) LDippih (iii) sif)

(E) ©Sl6B) l_ Q-Srfluj©SI6065)60

(hi)
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106. Assertion [A] : The zonal councils
constitution.

: The zonal councils are the logical outcome of the
reorganisation of states on a linguistic basis.

(A) [A] and [R] are correct; and [R] is the correct explanation
for [A]

(B) [A] and [R] are correct; and [R] is not the correct explanation
for [A]

(C) [A] is correct; [R] is wrong
(D) [A] is wrong; [R] is correct
(E) Answer not known

their origin to theowe

Reason [R]

CS^rrrbfD^ri)®3«L(Dg)J [A] : LD655TI—60 LDQSTfDr&JffierT

^l7<$UJ 6D«&l£> UlSlfi)(§<5 <5l_«DLDUULL@6rT6TTg|.

I LD655TI 60 L D f D rHJ« TT QLDITL^I ^Iq-UUSOI—USla) LDrn£)60 r£j <5«n6TT

UDg)j^ij65)LDuu^65T 0S)6B)6rTcyrr@Lb.

(A) [A] uMDpii) [R] ffifl , iDfopiib [A] [R] ffifliurT65T 0Sl6rr«<SLb

(B) [A] LDri)pLb [R] fflfl , LDrf)pLb [A] «0 [R] fflfllLinW ©Sl6rT«<5LD6b60

(C) [A] ffffl ; ^ssrmsi) [R] <$6ijp

(D) [A] <£&jp ; ^«5rrTd> [R] ffifl

(E) ®S)«DI_ Q^rfluU©£16065)60

107. Sexual Harassment of Women at Workplace Act was enacted in the
year

(A) 2013
(C) 2014
(E) Answer not known

«mj6wni> [R]

(B) 2017
(D) 2016

U6wfluSli_rBj <56ifl6b Qu655r<$(6nj<50 urreSluja) §i«STL|p^p^6b ( <£©UL| LDjbpLb
fflll_^0UL|, piLIIT p65)L

_
UL|) d565) l_ffL-L-Li> @ UJji) rDUUL-L

_
^j,655r($l

(A) 2013
(C) 2014
(E) oSl65) i_ QjgiflujaSleb

(B) 2017
(D) 2016 -

3)60

Y 83 CCSEI-IAP25
[Turn over

s
Highlight

s
Highlight

s
Highlight



108. Consider the Assertion (A) and Reason (R) and choose the correct
answer.

Assertion [A] : A remarkable difference between China and India
observed regarding mass politics around air

pollution control.

: China employing the approach of Historical
Institutionalism to control air pollution.

correct statement; [R] is the correct

was

Reason [R]

(A) Both [A] and [R]
explanation of [A]

(B) Both [A] and [R] are correct; [R] is not the correct explanation

of [A]

are

(C) [A] is correct; But [R] is false

(D) [R] is correct; But [A] is false

(E) Answer not known

<£i£aj0Li> <9«.rf)p [A] LDfDpLb smjaffnb [R] 0S1«nrreo6u «0p«. ffifliLirrsn' OSIS& LGDILI

(SjgltlBQ

3<uf)p [A] : arrrijp iDrr*urril65)i_ «iL©uu©;$p6iJ<£l6b $6ffTrTQS)ri)(§ib

J§liB<£liLin-aS) fi)0ii> @«DI_(2UJ

Gsupum_rr65Tgl , ^);561D63T (g,l£j5<£l0<$<S<S<n.l^ULI Q <SU@gg65T

ŜHIJ#llLI6OIT0Lb OT65TUS0S} «rrSS5T

@0«0Lh uSlauQuifluj

<5rTIJ655TLb [R] <srrri)p LDn*so u <5L-0uu0^poj^l6b -IGBITT ®jij60 rTri)p iflpaJOT
*^§P0 (Lp«s)fD«oin uuj6OTu©£poj(3<$ujn-0Lb”.

(A) [A] LDrf)pih [R] GTDNTD s^fDpih [R] eresTup [A] «0 a=iflujrr OT

oS)6n-««LDrT0Lb

(B) [A] n» ff)pii» [R] GTanjD ®tjemQt\b ffifl ; [R] OT6»mjp [A] ettunw
6^16TT««LD0)60

(C) [A] Granup ffifl ; [R] CT6ijTup £6up

(D) [R] CTQSTUp fflfl ; [A] CTQJTUp <$61Jp

(E) 6teL_ OjSifloj®Sld)65)60
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109. Match :

(a) Article 257(A)

(b) Article 131

(c) Article 245(1)

(d) Article 275

Grants-in-aid

Judicial proceedings

Supreme Court

State Jurisdiction

42nd Amendment Act

1.
2.

3.
4.

5.

(a) (b) (c) (d)

(A) 5 3 4 1

15 3

2 3

5 1

(E) Answer not known

(B) 2

(C) 1 4

(D) 2 3

QurT0i5gi <5.

(a) 257(A)

(b) ffijjsgjj 131

(c) ffijjgsjj 245(1)

(d) 275

LDrrssfliLi

^•SgjomD rBi
_

6U4««D<5<5 rr

l§i§lLD68Tn)Li>

iDiTf§l60 c ^̂larrij 6yijii» L|

42 8̂) ffil|_Lb

1.

2.

3.
4.

5.

(a) (b) (c) (d)

(A) 5 3 4 1

(B) 2 1 5 3

(C) 1

(D) 2 5 1 3

(E) Q&l«5) l
_ Q <£lfllLI0S)6b«O6D

I
;

2 3 4
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expressly cast any110. Assertion [A] : Article 51-A does not

fundamental duty on the state.

The duty of every

duty of the state.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanation

of [A]

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

.
of [A]

citizen of India is the collectiveReason [R] :

(E) Answer not known

: 2_pUL| 51-A ^{,65T§| Q U (olfluU65) l
_

lLirr<S ^HJ<#llT)@ ^lq-UU6S)L
_

<5I_6B) LD <$68)6TT 6lSl^l <5«sfil6b«D60.
sh-jpgll [A]

asmjamb [R] : 0ii)-LD«<56rr ^ajQsurr0Qj0ffi@(Lp6TT6TT <5 i_65) L£> <56ffl«n- Q^rr0u(®u

ffil
_

®DLD <56mT0LD.

(A) [A] ah.j&p ffifl ^,65nro) [R] amjOffrib ^eup

(B) [A] ah.fbp uorbpLb [R] «mj6SBni) ^lij«55r© Lh ffifl; LBropm [A] a*i.fi)pA«rT«T

[R] «mj«(5rLb ffifl

(C) [A] a«iff)p <£©jp, [R] ffimjarani) «g= rfl

(D) [A] Aijbp ififDpm [R] awasnb wfl , ^esmeo [A] asubpsaneer

[R] asn-gwrib «$6up

(E) ©filSI) I (olfljif) ILIGlSl6068)60
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111. State Industries Promotion Corporation of Tamil Nadu (SIPCOT)
was established by Tamil Nadu Government for the development of

(i) Large Scale Industries
;(ii) Medium Scale Industries

(iii) Small Scale Industries

(A) (i) and (ii) only

(B) (ii) only
!

(C) (ii) and (iii) only

(D) (i) and (iii) only

(E) Answer not known

<$L6) yM5rr© 7* Qa> rry5)a) QpGsrQeinpp^i <sLp<5ib (SIPCOT) eresrp ^SDIDULI

^uSlLprerr© ^Lp <5<565ffri_

2_06LI rr<5<5U U L-l_gl

(i) S,GSUJS,&)

(ii) f5@<£j£iJ<S

(iii) £)p Q^rTL^lQ) QjSrrL^fDffiTsna)

(A) (i) LDfTjpii) (ii) LDllfSlLD

(B) (ii) LDL.@ ub

(C) (ii) inppiib (iii)

(D) (i) LDJDpLD (iii) LDLl©Li>

(E) efil«DL
_ 65)60

6) <5rn£)6b <^S» LDUL5]SD6OT &j6mTuu <5fD«rr.5

rr«060
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112. Choose the right matches
(i) The first communal order for

distribution of appointments
among various castes

(ii) First Backward class commission
of Tamilnadu was appointed

(iii) Ambasankar Commission

1920

1970

Reservation totalling
to 69%

8th July 2011(iv) Report on Tamilnadu Backward
classes Commission justifying
the existing reservation

(A) (i) and (iv) only
(B) (ii) and (iii) only
(C) (i) and(ii)
(D) (iii) and (iv) only
(E) Answer not known

ffifliurrsn' Qurr0^rBj<E665)6rr Q<g=iLJUJ6L|Lb

(i) u6bCS6up ffrr<£luSlsjrifl«s> i_(3uj (SIILILDOT-U
u <£]im|<5<5n-«n- (Lp <5d> &j0ui_jojrr<£

(ii) <£u5li£j5mliq_6in- (ip<£6b i51jbu (p^uuL_(2i_mT — 1970
U0LJI_j^SDfiSBTlLILb ^llUL 6)ffi<£UUllL _§J

(iii) ^ihurrffrBjaiT^aosssriLiLb

(iv) ^lL_ $§]<$<£ll65> l_
I£IILI muuu© <$.£) UJ ^liSlLpiBrrgl
l51fi)u5l^LJUll(2l_mT ^J,65)«R5TUJ ^) f61«0D <5

1920

- QLT> rT<£<$ g)|_ 69%

— 8 gg )«D60 2011

(A) (i) LDfDgjjLb (iv) inilgiii)

(B) (ii) LDrbrrjjLb (iii) LDLL©LD -
(C) (i) LDrfjpLi) (ii) LDll^LD

(D) (iii) LDffrpLb (iv) LDL_@LD

(E) QS1SDL _ Q^iflujaSlcbaneo
88CCSEI-IAP25
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113. “Over half of India s GDP comes from rural India and almost two
thirds of rural GDP comes from non-farm activities. Despite this,
there are too many people engaged in low productivity occupations,
and a lot more work of better, predictable nature is needed to enable
a better life for rural India’s inhabitants, especially the young”.
What can be inferred from the above statement about the economic
contribution of rural India to the overall GDP?

(A) Rural India contributes less than half of India’s GDP
(B) Rural India contributes more than half of India’s GDP, but its

economy heavily depends on farm activities
(C) The GDP of rural India is solely driven by agricultural

activities
(D) Rural India contributes more than half of India’s GDP, and a

significant portion comes from non-farm activities

(E) Answer not known

^̂ iLin-sSlsn- QLDrr<5<£ 2_6iTi5n-Ll® s_ft)u^ (GDP)-|g)6b urr^) <5@Lb ^̂ l«LDrr«5r

uiBJ@ <£)7rrLDUL|fD £3l|5<£liLirT6)S)60 ®J©<£1
(!Dgjj LDft)g)]Lb <£lijmDUL|n) GDP J§!«),

erfD&QGton)UJ ^Lp«rrrDl<5b {§lij6ror©u urij® ©SIcuffmuLb ^ebeorr^ Qj$rrLj5)6b<56TflaS)0r5SJ
QufDuu©^l/D§J - ^Idjcurrp ^©aaosuSki) , ^<£1« LD&atir ®«orD (B<$ 2_rt)u Ĵ
^IfDgjjQnuLi Q^rTL ^lo)«6ifl6b F@ULL ©GTT6TT65TIT. <£1IJITI£»UI_|(D LOS-SOT, 0rfjluurr.£
^IfiDOTUJ 5j6S)6D(y)65)JT) ll5l 66r0(50 6U (Ty)<565) <&65) ILI , GLDLDLIL.I_ Q^fTL^la)<S565)6rT

^6jfl««6UQ)6l) 6LirriJJULj<5<g56iT (Lp6l)LI) J§IUJ6£JLb.

Qa5 rr©«5«LJUili_ s«.rr)rM0r5£j > Qnnr^ 2_(srT(Bml@ a_j&u££luSld) £)7rriDUL |iD
@j5^1ujrr6fil«iT Qurr0 nTT^n'i7 ur&j<56mLlJL | 0i$50l 6T66T65T esir<£1<5<5 (ipin.u_(ii)?

UrT^l«0li) 066)n)6UrT65T

(cLD6b

(A) Qiorr&s £_6rri5ml© MU&SUSIG)

ur&j <56iflu65)u <£)|7rTLDUL|n5 J§lr5<£lu-irr 6ULprtJ0«) iD§J

(B) mfinunefildn Quwpp e_dr^ml@ a_4> u££luSUS) un$x®ib (SiBeorreOT

urlja56Tflu66)u ^lijrrLDuqfD ^^^lu_
irr 6ULDfEJ0slp§] <^j>66nTQ),

QurT06rrrra5m7Lb ©fileu^rnu rfji
_6uirj.<565)«<565)6n' Qumgiii) ffmTj5gj]6TT6n0i

(C) ^lijrriDUMrD ^rBdglu-irreto
'

Qwrr&> c_drjBrnl© fBeimw

I51_6Uli|.(565) <5<56nTT6b LDL
_©CoLD||) lLJ <£«U LI©<$£)§]

(D) QLCITSS s-drjBinl® e-pu^u3* ®j60uJir

SSILKLS GufrucZ uiiiafflfluaou 01^161®%«. CiDglii »©
P

U0<£) U 655T65)655T ^d)60 rT£ IBL
_6lJli)-«65)<5aSGlfl6lSl0r5§J 6U0&llDg>|

0/$lui

(E) 6)5165) 1 Q^lfluJ6)5)0)66)60
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their preferred
114. Why Business Firms choose Tamil Nadu as

destination for investment?

(A) The State of the Art Infrastructure
(B) Tax Concessions
(C) More number of unemployed
(D) More number of graduates
(E) Answer not known

6U 650fl« rglgU6il65Tli]<56TT GJ65T ,$ljSl (jM5rrL_®5) l_ (!£<£65llU)j|)@ ©Sl0UULDrr65T Jg) l_H> rT«
(SsjiT6i| Qffuj<fi«jrn)65r ?

(A) IBsSsn- 2_6TT«KL_ I
_

65)LDUL|

(B) GUlflffffpQDaaCTT
(C) <3\08> CT«53T655fl«0D<5ll51ci)rT65r G<oUaS)CDllS)©)6DrT<5 Q^rTL ^l60rremT<ffi TT

(D) <^<£1« CT«5in'655fl <50S)ffiii^6orT«n' uL.L_
^mfl«en-

(E) oSlODI Q<$lfllLloS)a)65)6l)

(

115. Name the scheme, a Tri-ministerial effort which includes Women
and Child Development, Health and Family Welfare and Human
Resource Development.

(A) Integrated Child Development Scheme
(B) Child Development Scheme
(C) Beti Bachao Beti Padhao Scheme
(D) Smart City Mission
(E) Answer not known

fluawash UMbpii ©LppfM.aaflaiT (jpdrrGanrbjDil) ; aarr-srnjii) LOjtirniLb («©iiu a®)®;
icaApajor GUMSUIT© ^ujarajpaDji. s_s TL _&aaj Qpsjr®, ^aoi^naDajaafl*opiuri)^|£lL -L_Lb OT§] ?

(A) ^0rEJ < l̂0J)655rrb^ 0yM565)<$ SUOTITff l̂jS ^lll|_Lb
(B) 0LpiB65)^ eiJOTITff^l^ ^1ill—LD

(C) GULIU). uffffrrGajrr Guiliq. u^rrGajrT ^lili_ih

(D) ciuinrriTil ^liliq. ^1 L
_

I
_

UD

(E) oSlODI— Q^lfllU0S) b65)6O
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116. Match the following :

Water Conservation Programmes and States
States

(a) Andhra Pradesh

(b) Bihar

(c) Gujarat

(d) Haryana

Programmes

1. Jal Jeevan Hariyali

2. Neeru - Chettu

3. Jal Hi Jeevan Hai

4. Sujalam Sufalam Jal Sanchay

Abhiyan

(a) (b) (c) (d)

341(A) 2
3 42(B) 1

314(C) 2

(D) 4 321

(E) Answer not known

Glurr0<5Sjj<5.

igit urrsjj«5rrui-|a> u> rn£l6i) r&J <5(cr5Lb

LDrrr§)6Di£j<5OT <gili_rB]<£6rr

1. g>6b g§6U6OT ©©iflu-ineS)

2. £0 -

3. ^Q) SUDUJ 61/DrTUJ

4- ^ggsorrii) *u0) rrii) ggfib

(a) c^rb^liju L51ij<3<s<?m

(b) LSartnr

(c) ©gW

(d) ^ifllLIITSnTT

(a) (b) (c) (d)

1 4 3

2 3 4

4 1 3

(A) 2

(B) 1

(C) 2

CD) 4

(E) 6toL_ Q^ifluj0Sl0)«neo

321
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117. Achieved growth rate of Eleventh Five Year plan is

(A) 8.2%

(B) 9.0%

(C) 10.0%

(D) 7.0%

(E) Answer not known

11-ajgi £jb0irafcr®£ $iLi_£$<i> ©jcrrfr&fl cBi£ p\b

(A) 8.2% •

(B) 9.0%

(C) 10.0%

(D) 7.0%

(E) oS)65) l
_ (ol^lfllU ®Sl b«060

>

118. According to Ragner Nurkse the starting point and continuation for
development lies in .
(A) Organised money market
(B) Increasing the rate of capital formation
(C) Technological growth

(D) Removal of dualistic economy
(E) Answer not known

ljnr<K65nt piT<56rU ^6Ult<$6Tf)6ffT «0^§JUUli).) Qp 5TCS6OTrf) rf)«rT6OT ÎJLIJULi) LDfT)pii>
^GLI/DSD/D-g Q^rrL _0 Ll^ft) <5rT65T CUL ^l(ip65)/D OT65TUgj

(A) #ljn\S<SUUL _l_ UfiRFTff ff^65)aB

(B) (Lpeo^ecT ^««<$65),$

(C) Q<srrL£)a) pilu 6U6rriTff <#l

(D) @ ijiLsm_u Qurr06rrrr^n-rj- ^©OLDUSDU âpp^o)

(E) <S£1«DI_ Q^iflujaSlft)®!)®)
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^9. Assertion [A] : Tamilnadu Women Conference held on
13.11.1938 at Chennai under the leadership of
T. Neelambikai Ammaiyar.

This conference passed a resolution for
abolition of caste discrimination and the title
“Periyar” was conferred on E.V. Ramasamy by

this Tamil Nadu Women Conference.

Reason [R]

(A) [A] is true [R] is false

(B) [A] is false and [R] is false

(C) [A] is false [R] is true, but [R] is not the correct explanation

of [A]

(D) [A] is true and [R] is true

(E) Answer not known

: ^uSlLpfBrr© Quaforaerr iDtrjBrr© 13.11.1938-60 <£1 . igeornbiSles)®

^li)«DLDUjmt .$65>6065) LDU<il«) Qff«JT65)6ffmSlQ) rB65) L_uQu(i) fD§l -
a«.fDp [A]

ffimjfiBTLb [R] : LDrrrsmli^d) ffrr^luu G60 (f)p65) LD65)iu 6£ i£luu«$ri)(§i£>

FF.QOJ. urrLDffrruSla^u “QuiflujmT” UL
_

L
_ih 6ULpr&j06ij^fT)0ih

^iTLorrOTrLb ^)«DfDCoj(P.'DUUilL_§j .

(A) aiftp [A] ^,<3̂ 60 «rri7«OTTLb [R] <£6up

(B) a^rbp [A] <-5Gup UDfDpLb «rrcr«Rn-Lb [R] ^P

[R] ffifl ^b«sffrrr<sb [R], [A] ffiflujrr«5T

(C) snrf)g}i [A] <5&jp amjmrib

QS1<SrT(5«5LD6b60

CD) aeifDgy [A] ffif) LDfDpti) aiujamib [R]- LD <?(fl

(E) oSlani— Q<$ifliJU ©Sl6ban6D
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120. Assertion [A] : The company asked the Collector of Ramnad to

Summon Kattabomman to his office at Ramnad.

: Kattabomman was asked to meet the Collector in

connection with the arrears of tribute that he

owed to the company.

Reason [R]

(A) [A] is true [R] is true

(B) Both [A] and [R] is false

(C) Both [A] and [R] are true; and [R] is correct explanation of [A]

(D) Both [A] and [R] are true; and [R] is not correct explanation of [A]

(E) Answer not known

siubgu [A] ^j,r&j<£IGa)UJ

«ili_QurrLbiD65)65T glijrTLD[Brr^L|ij^§i ^LL^liurrOTiflor
<^g)j6ua)«£<£lcb ^ggijn^mtTp C«Ll@«Q«rT«j5n_

mT.

efiijurTsiimq.ujffi«LDQ U©sfl ujnwrrsseTT

amjGRn-Lb [R] : <dg},[&J <£)(fl DUJ <5Lb(olu65f) uun'0ffi(Sj <5L_L_ (D61J 650TII}.UJ <5UUli)
rfl^j65)Guu5)6b gl0uu^rr6b ^j,il<#1ujrr6TT65)ij

«LLQuiTli) lDfflT Cffill@«QffilTOT6ITUUllL
_

rTfr.
(A) [A] ffifl , [R] ffifl

(B) [A] LD/Dpm [R] <$<sup

(C) [A] LDfDpLb [R] fflfl ; GLDg>|LB [R] OT«STU§| [A]

(D) [A] m|,pu, [R] SiDgiii [R] OT<*U@ [A]^^G)6D

(E) — Q^lf) lLI0Sl6b65)6O

fflfltUITSST
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121. Arrange the following with reference to different stages of human
development :

1. The Nomadic stage

2. The pastoral stage

3. The hunting stage

4. The agricultural stage

(A) 2, 3, 1, 4

(B) 1, 4, 3, 2

(C) 3, 1, 2, 4

(D) 4, 1, 2, 3

(E) Answer not known

LDSiflflj 6LI6TT[T<EF<flll51<Sb l5l65TQJ0Lb QojdjG>OJp jfl65)60<565)6rr 6£(LprHJ«GDLD.5<56L|Lb :

1. pjrrG> i rru)_ jfloDCD

2. ^UUIT rgl 65)60

3. (eOJI QH" rfl0D <SO

4 . eSleusmiJ ifl 65)60

(A) 2, 3, 1, 4

(B) 1, 4, 3, 2

(C) 3, 1, 2, 4

(D) 4, 1, 2, 3

(E) <oG\a» L- Q-sifliu©^65^
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122. Which book features the series “Pagaivar pull Aarga

(A) Natrinai
(B) Kalitthogai
(C) Aingkurunuru
(D) Purananuru
(E) Answer not known

‘USDSSSIJIT l_|60 CT@JLD Qj$ITl_lt |g)l_li>QufT)p®T61T pT®)-

(A) (Brf)^l65)«55T

(B) cKeSljsQjsrTa)®

(C)

(D) LifDiBrrgyrp -
(E) ©S)«S)I_ Q^lflUJGfil6b65)60

123. Who gave special importance to Village Administration?
(A) Cheras

(B) Cholas
(C) Pandyas

(D) Pallavas
(E) Answer not known

^lijrrLD (gl0Qjrr«^pffi@j £lfDut£)i_Lb Q«rT©^G^rrit

(A) GffijiT

(B) GffrTLpiT

(C) urraftyri^iLiiT

(D) ud>6i)aJiT

(E) eSiesiL.QjsrfliueSl©)®)®)
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124. Peter got 30% of the maximum marks in an examination and failed
by 10 marks. However, Paul who took the same examination got

40% of the total marks and got 15 marks more than the passing

marks. What were the passing marks in the examination?

(A) 35

(C) 85

(E) Answer not known

t

(B) 65

(D) 70

iSllL-IT OT65TU6UIT 6£0 G<$ir<o)Sl651 LD<®u(olu6551.56lf)6i) 30% Qurf)©],

10 LD <£luQu6551.56ri SlSI^lLHT<5<$.£l 6b Qff,n<S0<oSi *^65)!
_

<£)£) fill. GuD^Lb, LinO) OT651U6Uil

^G.® G^5 iT6fil0j)6BT cr(ip^l , QLDIT<$<$ LD£§IUGIU«551.56ifl 6b 40% Qi_wi)p, G«$ITff#

Qup6u^rf)<5rr«n- LD<£IUQU«5516S)6S5I<5 15 LD.$UQU«55I<56TI c9i <|) <5Lb

Qup l̂fDrriT.. OT65flo) £̂<£<5 G<$maSl 65i G-giia^ LD.£IUQLJ «56I 6i65i65i?

(A) 35

(C) 85

(E) 6fil«DL_ Q<$lfllLIO&l6b65)60

,

(B) 65

.(D) 70

125. Akila scored 80% of marks in an examination. If her score was

576 marks then find the maximum marks of the examination

(B) 620

(D) 710
(A) 720

(C) 820

(E) Answer not known

<=̂ .$6051 GfljltoSlo) 80% LD.$LjQu«551<S65)6ri G) ufT)£)fl6Tl. ^|(S1JOT Qu/D/Dg]

576 ID.£IUQU«551<56T1 CT«sflo) GglioS]651 (o) LDflS>a> LD£§luQu«55166)6551

(A) 720

(C) 820
(E) <S)S1«DI_ Q^ffllLIClSl0)66)60

<5116661.5.

(B) 620

(D) 710
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Assertion [A] : University students think more critically about

the new subjects and situation they encounter.

: University professors encourage conceptual

learning and understanding of the new subject

concepts at the primary levels.

126.

Reason [R]

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is correct explanation of [A]

(C) [A] is false but [R] is true

(D) [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known

}
SsUDp [A] i_l<£lluu unri_(Ej«6rT mrfjpLh L|$iLi£ (g,^|fl6is)60««s)6rT

OT^ITQ<5rT6TT(0TjLb QurTQ^g] U b«6B)60<5<5Lp<5 LDrT655T<oIl fr<$6TT

©SlLDiifforr <flr5^1 <5^1«5T(D0n'iT.

U b«68)60<5<5Lp<5U G>Uljn\£)rfllLIIT<5GTT <50^ps:mT «rf)n) b LDrf)pii>

^ijibu rgl68) Ou5)6b I_|<§UJLI um_r&j««s)6TT<5 «0«£§]«SF ffrrinsgi
Hiflrbp Q«rr«fcn-© <5ff)<5 esr«0©&l«4il65nD6&TiT.

amja&TLb [R] :

(A) a«.ff)p [A] ffifl , ^,65Tfrd) amjararii) [R] <$eup

(B) ah.j&p [A] ei]ib amjsOTLb [R] LB wfl; mropib amjewrib [R] a«.(f)p [A]

^ifliurrorr sfilefT<s<SLDrr0Lb

(C) ah.rf)p [A] ^SUp, <5mj«J5TLb [R] fflfl

(D) ffinrbp [A] ®-|Lb srrijfiwrLb [R] ih wfl , amjassrib [R] CT«5TU§I

aeirbp [A] «0 ffifliurrsn- 0S16TT<5<KUS1Q)65)Q)

(E) offlfloi— Gl^ifliu6fi1sb«n6i)
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127. Match the following :
Column I

(Waste Disposal Method)

(a) Sanitary landfills
(b) Incineration

Column II
(Process)

1. Burning of waste
2. Deposit the refuse and

compost it with bulldozers
3. Combustion in absence of

oxygen

4. Spreading the waste on fields.

(c) Pulverizing

(d) Pyrolysis

(a) (b) (c) (d)
1 3
1 4
2 3
3 2

(E) Answer not known

£j£«aOTL6uri)65)nDLJ Qurr0<$gi<s :

(«L£IO| (Lpsnno)

(a) ,£) 655rLD<5<£L£l <oiJ

(b)

(A) 2
(B) 2
(C) 1
(D) 4

4
3
4

1

QiBtiJicuifIsoff II
(Glffiua) (LpsorD)

1. . <5L^ ^<K65)6TT

2. L£>p<S«UUllt_ <5L£I6H <5OT LDrf)g)JLD 2_ljLD

^j,<^UJ 6i5T (ip60 Lb (SffLiSl^Q)

3. ^|Ci)60 rTLD6b OTlfl^O)

4. <5L£I L|<565)6TT rgl60 r&J«6lfl«)

. (c) §fT6rrrr<S0d5Q)

(d) Q&juuff.Hso.seLi

(a) (b) (c) (d)

(A) 2 13 4

(B) 2 14 3

(C) 1 2 3 4

(D) 4 3 2 1

(E) 6)S]«DL
_ Gl^lflHJ6lSld)6n60
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128. Match the following :

(a) Home Rule Movement

(b) Kudi Arasu

(c) Women’s Swadeshi League 3.
(d) Abolition of Devadasi system 4.

S. Ambujammal

Annie Besant

Muthulakshmi Reddy

E.V. Ramasamy

1.

2.

(a) (b) (c) (d)

(A) 2

(B) 3

(C) 4

(D) 3

4 1 3

4 2 1

3 1 2

2 1 4

(E) Answer not known

^^««rr«55rucijrf)65)rDu Qurr0<$§i <s

(a) <3Hurril£)

(b) 0U}.UJIJ*

(c) QuawraOT fffEj<sLb

:

1. S. ^LDL|g) ^LbLDrT6rT

2. QuffOTll

3. (Lp^giQsoLl*iiSl

4. FF.Q&J. IjrTLD^mjSl(d) (3<$&j<$rr«#l (Lpsoro $y5) uL|

(a) (b) (c) (d)

3(A) 2

(B) 3

(C) 4

(D) 3

(E) Q&IOOI Q;£lfluJ ®Sld)65>6D

14

4 2 1

23 1

42 1
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129. Assertion [A] : DMK played

campaign.

leading role in the Anti-Hindia

It urged people to write under the Tamil identity.
Reason [R]

(A) [A] is true, but [R] is false

(B) Both [A] and [R] are true, and [R] is the correct explanation

of [A]

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known

: gljs-il OT<£IITUL|LJ (3umjmlL_^Q) (ipffi^lujLDnw

uiBjQ<5@<$gj<s Q«5rr«sffrL_§i.
<3«.rbp [A]

LjD <5«65)6n\£ <$uSlLpiT OT65TJOD <®|a)L
_

ujrTar££rrd>
«rrrj-«RjrLb [R] : $.Qp.8i.

(A) [A] ffifl , ^effrrrG) [R] <$6up

(B) [A] LDffjpLD [R] fflfl, (SlDgULb [R] ®Sl6TT««Lb [A]«@ fflfllUfTSSTp

(C) [A] sjcup, [R] <sFif]

(D) [A] iBppm [R] ffifl , ^wtreo [R] gw etiwaxib [A] s^rr

(E) oS1«DL_ Q^(fluJ6lSl 6b65)Q)
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130. Which of the following pairs are correctly matched?
1. Right to Privacy Justice K.S. Puttaswamy Rtd.

Vs. Union of India

Common cause (Regd. Society)
Vs. Union of India
Ministry of Defence Vs. Babita
Puniya

Swapnil Tripathi Vs. Supreme
Court of India

2. Passive Euthanesia

3. Right to Vote

4. NOTA in Elections

(A) 1 and 3 are correct
(B) 1 and 2 are correct
(C) 2 and 3 are correct
(D) 3 and 4 are correct
(E) Answer not known

i51«n’eu0ijb ^l«D655T<serfl6b ap ffifliurra
1. 2-fflsDLD

Qurr0j5^1u_|crT6rr§i ?

— ggsruiq-cru G«s. <g\ L _| L _I «3:rrL 61
VS. £> <S5TrfjlujLb

— arriDsn' arTsfu
Vs. 6^6i5Tf51 lLJLb

— urr§j«rruL| ^©DLD&s.sLb Vs. ui^arr
y,6ofliurT

— cfucuussflo) |) [flurr|l Vs. ©jwgiu
e-jff^LDon'fDLb

2. Q<FUJ6D (T)n) <5065)®S5r<5Q<5rT 5)fl) (U l̂eLlff fffilSLb)

3. 6LirT<5<S6lfl <g50Lb S_[fl65)LD

4. CS^(T^6b«6rflo) GrBrrili_rr
(A) 1 LDrf)pLD 3 fflfl

(B) 1 LDfopii) 2 ffifl

(C) 2 LDfbpLD 3 fflfl

(D) 3 iBrijpLb 4 ffifl

(E) ©S)«DL_ Q^iflujoSIcbono)
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1
131. Which of the following statements is incorrect

East Policy?

(A) This policy promotes proactive diplomacy with political and

military intervention to curb insurgency in the Asia-Pacific

region

(B) This policy was originally conceived as an economic initiative

(C) This policy focuses on the extend neighbourhood in

Asia-Pacific region

(D) This policy promotes enhanced connectivity to Asia-Pacific

region through North-Eastern Region

(E) Answer not known

about India’s Act

.

LSI«fT6iJ0Lb asuppaafla) ^ rD^liurraSlCTT <3rsrr«^lu_i QsrrerranaiuSlgsT -SCUfDrresT

6ji®inT) n’0Lb

(A) ^)UJ LuflLSlffi iSlijrrrs^liLi^a) #«rfr##la>iu iD^pib
glUrr^KSU <$65)60 liSL-65) L

_

(B) Qurr06rrrr<£frij (ipein^uJjD^wrra <50<£UUilL-§J

(C) du/liu u#liSI* i51^rrjB^luj^6b

Qs^jSj^llLlgjJ

CD) uiliSla
£#*<5 i5l7i r f S®""*"

(E) G51SDI_ Q^ifluj®S1d)«oa)

Q«rr«OTL_ (Lp65T(ipUJrf)#1 IJfTgg^̂ l 17^68)^

UljrbjS *(i)pUL|fD^«) «6U 65Ui)

a_err6rr

GLDLbuCB'̂ uuL-L- Jgis&sRJTUH &jn-uSl60 rT<£

GLDibu©^ujp

61Jt_
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132. Match the following :
(a) Justice should not be denied

to anyone based on the grounds
of Economic (or) financial setbacks

(b) Establishment of Gram Panchayat
by providing needful powers to
these self governing units

(c) Favorable, Humanitariate
situation to work and to provide
maternity benefits to women

(d) To ensure work, pay, favourable
climate to Agricultural (or)
Skillful Labourers

1. Article 42

2. Article 43

3. Article 39 A

4. Article 40

(a) (b) (c) (d)
3 2 1(A) 4

(B) 1 3 2
(C) 3
(D) 2 3 4 1
(E) Answer not known

4
4 1 2

<5:lflujrT65TQJ066) fD QurT0<£§]<5 :

(a) Qun06mr<$mj *9|6b60§J t£l <£l|§!iU6Dms5)LD
«mj655TLDrT<5 6T6U0<50Lb j|<£l
iDpffiauui_60n'

<5n'§i OT«5TU§]

(b) $ijrTLD u(0<9:rTUJ^fti «5«0j)6rT <5J-fbu©<$£ (2<oU«i5r(S\ Lb , 2.

^65)6LI <5rUJ ^ O0<5 TTrT<5
QffUJ6bUI_^ (^565) 11 UUU65T .^dglaiTIJLb
6ULpfRI <5UUl_ CGU 655T© Lb 6T65TI_ip

(c) U655flqifl6U^(T) <5rr65T rgllLirTUJLDmS5T LD0pii»
LD6Bfl^ (*,^[fl65)60<56iT 2_0 lJfT<5<5UUL_
G LI655T©Lb LDrijpLD G>l_ip<Srr60

IlLprllffiUUl_ G U655T@ Lb CT«5TUp
(d) C>6Ll TTIT655r ^6060§] Q^rTL^60ffi^Q^rTL^l6OIT6mT®(6IJ<50 Co6U 65)60 , 11 nTlj^gLfyg^l UJ LD ,

‘ rr^<565)a^ ^IJ^65)5^ ^IJ U6b60
IULD (Sj,Lp60 &_p^l Q<SFlLlUj(c6LI 6Wr(5\ Li) OT65TUp

1. 2_pui_| 42

2
_
pui

_
i 43

3. 2_puL] 39 A

4. &
_puq 40

uoafli
(a) (b) (c) (d)

(A) 4 3 2 1
(B) 1 3 2 4
(C) 3 4 1 2
(D) 2 3 4
(E) Cfil66)l

_ Q£5ifllLlofi]6065)60

1
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133. Assertion [A] : Art. 121 prohibits any discussion in parliament
with respect to the conduct of any Judge of the
Supreme Court or of a High Court in the
discharge of his duties.

Reason [R] : The objective of Art. 121 is to ensure the
independence and dignity of the Judiciary.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is correct explanation of [A]

(C) [A] is false; [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct
explanation of [A] is correct

(E) Answer not known
I

: ^IJffSDLDUliilaST l51lfl6LJ 121 <^},S5T§] ^6060§|

2
_u_img$L£«frrD jS<£) u u^u_irni)p£l«mD Gunp

^6tiiT<R6rfl«5T njL -djaoaj @rfjls>gl, umjrr^LDCTnDii)
oSI®JfT4§)LJU68)£j — QffUJ l̂fDg].

a«.ri)p [A]

! ‘
: iSlifl&j 121-CTT C> i5rr<5<5LDrT«jTg] jg^IppoMDuSlcfrr

LUfbpLb «65ST65cfluJ^0n^ S-P-H GlffUJ&jjsnxsjd).

(A) a«i(T)p [A] 5ifl c^j,«nTT6b amjerorii) [R] ^«up

(B) a^p [A] upp* asrrijOTni) [R] ®7<**®* PI «*•»
[A]<$<SrT65T fflfllLirrSB sfil6IT<K <Kli)

«rriJ6B5Rb [R]

I

(C) <gtfui)p [A] ^cup amjawnb [R]

(D) «^p [A] LBlftpii.''•nb [R]8»*®*^ [R1

[A]*®iran wfliuiror aSloraiaii =9I <S)«> sranup

(E) GS1«DL_
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134. “Co-operative Societies” gave a constitutional status under
(A) Article 243- ZH to 243- ZT
(B) Article 243- PH to 243- ZA
(C) Article 243- NH to 243- ZH
(D) Article 243-HZ to 243- ZH
(E) Answer not known
“SffuL©fD6H ffrBiarEja^a^” @ 15,$ ij<565) IDLJL| iSlifleSlwr JsLp <^IJ.#1 ILI ©)66)LDUL| £(§<£)
QJLpril <5UUll(^6TT6H§J

(A) ffij<5§] 243 — ZH to 243 — ZT
(B) ffij<5§i 243-PH to 243- ZA
(C) sijjsgi 243-NH to 243- ZH
(D) 243-HZ to 243- ZH
(E) ©SI65) I— Q3)if] ILJ©SISi)65)61)

135. Match the List I with List II :
(a) Jal Jeevan Mission
(b) Beti Bachao Betipadhao
(c) Swachh Bharat Abhiyan
(d) National Social Assistance Programme

' (a) (b) (c) (d)
(A) 2 4 1 3
(B) 2 13 4
(C) 12 3 4
(D) 4 3 2 1
(E) Answer not known

l
_
IL

_
lq-IJLI©) Ig> UL_I^.UJ6b II 2_ L

_
657 QLHT0^§]« :

(a) 014-^IT ajLpmia©) *§lili
_Lb

(b) LD(565)617(5 (5rTUUrrfT)p LD <565)6TTU Utlp5.5 65)©J jj§llLl_Lb

(C). §JTUJ66)LD @J5^1lUrT ^] L.L
_Lb

(d) G.$<#) uj SL.peSlfjo £§IL_
L.LB

I

f!

1. 2014
2. 2019
3. 1995
4. 2015 I

1. 2014
2. 2019
3. 1995
4. 2015

(a) (b) (c) (d)
4 1 ’ 3
1 3 4

(A) 2
(B) 2
(C) 1 2
(D) 4

43
3 2 1

(E) ®Sl65) l Q^jlfllU©SI0)65)0)
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l36. Which of the following is incorrectly paired?

(1) CDI

(2) ABC

(3) MPI

(4) HDI

Child Development Index
Achievements of Basic Children Needs

Multidimensional Poverty Index

Human Development Identification

(A) (2) and (4)

(C) (1) and (4)
(B) (1) and (3)

(D) (2) and (3)

(E) Answer not known

l5)6S76U06U 65761jrf)p6T7 6766)611 6110)17« Qun’0rij£§llLj6r76r7p ?

— 0LpI565)^«6rr 6U6TTIT (§($uS@

— 0Lpp65)<$«6ifl657 ^) h|-uu«oi_^ (3<£65)6ii«6ifl657 «r7<565)657«677

— U60 U ifl LD 776557 Slip65) LD @f51uS©

— LDSlfl^ 6U 677I7«<£) «^)65) l_UJrr6rTLb «17655760

(1) CDI

(2) ABC

(3) MPI

(4) HDI

(A) (2) LmbpjLb (4)

(C) (1) iDrfjpm (4)

(E) 6)5165) I Q <£lfluJ6)&l 6b6S)6q

(B) (1) LBfDpii) (3)

(D) (2) LDrbpLb (3)

!37. Who introduced the modified scheme of elementary education which

provided part-time learning of hereditary occupations?

(B) C. Rajagopalachari

(D) Raja of Panagal(A) K. Kamaraj

(C) T. Prakasam
(E) Answer not known

(A) K. amnijn-gg
(C) T. lilijarrtfLb

(E) 6)5166)L_ Qjglfluj6)5)6i>6S)60

1:

(B) C. ijrrggC5«f7ur76or7ff <9:f7ifl

(D) U65T«6b ÎJfflT

.

' ill
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138. Assertion [A] : A recent study by the World Health Organization
(WHO) commissioned by the Jal Shakti Ministry
reported that Jal Jeevan Mission would succeed in
averting close to 4,00,000 deaths from diarrheal
diseases, saving approximately 14 million DALYS.

: It is envisioned by the Department of Drinking
water and sanitation to provide safe and adequate
drinking water through individual household tap
connections by 2024 to all households in rural
India.

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation

of [A]
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]
(E) Answer not known

Reason [R]

5tn.fbp [A] : ggQ) 65)LD<?<?«<£<£mSU (fllLlLlSl«<5UUL_l_ 2_G0<5

^65)LDUI51«ST g^suorr
GuuSIrbpu Gurr<5@ CStBrnuaGn-rro) <5rrr)u©ii) 4,00,000

^(DLJL|<S«D6TT^ £®ljU;§Q) QcU(T) ffl Qupih CTOTTpLI), *LDrTIT 14
u5l6boSluj65r DALYS
cueS) iL|p<$<$uuili_p

2024

*<5rr<$mj

u51cqi«yT

uSlffffuu^^pib OTOTpii)

ffirrrr655TLb [R] : ^L£» «^65ffr@ <5(§6IT <^lljrTLDLJL_
lfD §) j5<£!lLIH©Sl 6b

<^65)65T<$p ®S@ <5(CT5<5(gLb ^GcfluUllL (g^lT 0l£ITUJ

^G5)«R(TLJL|<5 TT (Lp60 LD Urrp<5rTUUrT65T LDrf)pih GJurrpLDrTGffT
0iqj|65)ij GULpfRjffi @^IT iDrfjpLb p68)n)ujrrQ)

^1 L
_

l L61 l
_

U U L_@6TT6TTP.

(A) [A] tfifl , ^«n-rT6b [R] sjojp

(B) [A] LOfppLb [R] g) lJ65ffr© L£> fflfl , LDfbpLD [R] CTOTTUp [A] 6)S) rf)(§ fflfllLirTGCT
0SlGTT<S<5LDrr@lh

(C) [A] <£Gup, ^i,65Trr6b [R] ffifl
(D) [A] UDippLb [R] g) lJG58T@li) ffifl , ^GffrfTQ) [R] CT65TUP [A] 6^ rf)0 ff [fllLirT65T

6^16n-<5<S5 LD6060

(E) ©S1«0 I_ Q <$lfllLiaSl0)65)60

2_6rrcrr
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* <IQ Tamil Nadu Chief Minister’s Solar Powered Green House Scheme
1 ’

(CMSPGHS) was launched for the benefit of the

(A) Poor in rural areas
(B) Poor in the semi urban
(C) Poor in the small town
(D) Salaried class people

(E) Answer not known

£l6) Lp« (LPjgSDGnLD&fflflanr (SjlfllLI ^GlfluSld) gllUIBJ@li)
Q^irurtJ«LJUili_§|
(A) <^lijrn£)LJL|rD 5rsoi£ i£»««(6r5««fT«

(B) dflrfjluj (B«iTUL|rD <5T65) Lp iD<5«(05««rr«

(C) r5«ITUMfD ^T65)Lp LD«<S(CT5<5«rT<5

(D) ffiiiuOT ®J@UL| U5<5a(6|5<5«srr<5

(E) ©S)«f)L_ Q«£lfllLI©SlQ)«S)6D

areas

U*6S)U> ^lllL-lb
I

are badly affected.140. Due to Global warming the following

(i) Agriculture and Environment
(ii) Agriculture and Industry
(iii) Agriculture, Horticulture and Environment
(iv) Industry

:

(B) (i) and (iii)
(D) (i) and (iv)

(A) (i) and (ii)
(C) (iii) alone
(E) Answer not known

I 1GLDmyiDrT®l_|®S1 Q(SULJULD«Dl_<oLl^n'd) <£Lp<5<5S5ffn_ gJ£5)(D<S6TT

urr^l««uu@ <ilrD§j.

(i) aSlajffrriuLb LDrijpLb ftfopff^Lpo)

(ii) ®Sl6UffrTUJi£) LD(t)pLb Qajrn^leb pson)

(iii) ©Sl&jffrrujLb, (2^rrili_««68)a) LDfbpLb *fDpff (g,Lpo)

(iv) Q^rrL^ (t)p6B)fD

(A) (i) LDfppLD (ii)
(C) (iii) LDLlglii)
(E) ©Sl 65)i_ Q^ffliLieiSleb«D60

(B) (i) LDrijpLh (iii)
(D) (i) LDfbpiJb (iv)
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141. The main aim of MUDRA Bank is to

(i) Provide financial assistance to develop Health Industry.

(ii) Provide credit to Micro, Small and Medium enterprises.

(iii) Provide Credit to develop Tourism Industry.

(iv) Provide financial assistance to rural development.

(A) (i), (ii) and (iv)

(B) (ii) alone -
(C) (i), (ii) and (iii)

(D) (i) and (ii)
j

'
'I

(E) Answer not known

MUDRA 61JrEJ^lu51«5T G (Brr«5«5LDrT65r§]

(i) ID0^§J6U^ §J 65)/D«01U (3LDLi)U®<$<$ r£]<H 2_«£oSl

(ii) <£)p, LDrbpii) Q^rTL^ln)§i 65) rD«0 <KI GOT 6ULpr£j(Sj£ b

(iii) *rbpQ) rr<5 gjswDS&uj (oLDLhu©<£<5 <5i_«sr ©JLprBj0^6b

(iv) ssrijffi [£] <£! Qffuj^o)

(A) (i), (ii) LD/i)pLb (iv)

(B) (ii)

(C) (i), (ii) LDjtpLb (iii)

(D) ‘ (i) LDjfjpLb (ii)

(E) oSlooi Q^(fliu0Sl6bas)6o
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142. Which of the following statements are/is true about “Niti Aayog”?

(i) Niti Aayog has been instituted to replace the Planning

Commission

(ii) It has no power to allocate funds

(iii) Niti Aayog is a think-tank

(iv) President of India is the Chairperson of Niti Aayog

(A) (ii) and (iv)

(B) (iv) only

(C) (i) and (iv)

(D) (i), (h) and (iii)

(E) Answer not known

, i

[

i' j
1
h ;

l5]«n-0J00J 65TOJrf)pCiTT a^fbp / ®sUDp<S6iT

^GILI(T«” ufDrfjl

2
_

65ST65)LDlLirrSn'6ff)QJ ?

(i) <£|L
_

1
_« @(Lp6fi1(i)@U U^lGOUffi ^GuJff*’ <i>|«$> lI>*«UUlLl

_
§|

(ii) ^eu^rb® rgl^l 8*«*
(iii) r£l <£l ^Gujrrs 9® (SOP

(iv) ^gliurrcto @41 ^Ciuirtfidr panoilt

(A) (ii) LDfbpLb (iv)

(B) (iv)

(C) (i) LorijpLD (iv)

(D) (i), (ii) Loppii (iii)

(E) ®iil6fl>L_ O^lf1 lLI0Sld)65)6O

CCSEI-IAP25
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143. Arrange the following events in their chronological order.
(1) Periyar published the book Ten Yaen Adimaiyanaal’.
(2) Periyar started the Tamil bimonthly ‘Unmai’ at

Tiruchirappalli.
(3) Periyar was arrested for publishing a Tamil translation of

Bhagat Singh’s pamphlet ‘Why I am An Atheist’.

(4) The title ‘Periyar’ was conferred by the Tamilnadu Women
Conference held in Madras.

(A) (1), (3), (4), (2)

(B) (1), (4), (3), (2)

(C) (4), (1), (2), (3)

(D) (4), (3), (2), (1)

(E) Answer not known)
l51«n-6U0Lb rfp <5Lp6L|<ffi6B)6U arTCOGufflsOffUUli). CUlfl65)ffUU@;$ 561] Li>.

(1) Quiflujrnt QU«OT <5jm ^465) minrr65nT6n-’ OTGOTG) I_|<£<$<5<£65)<5 QeiJ6tfliiSlilLrTiT.

(2) Quifliurrii ‘2_655T65) LI)’ OT65TfD <$uSlLp {g)0L£> n\$ @^65) Lp <S0ff <ftljrTLJU6rT6lflllSla)

Qajm_r&i «£l65rmT.

(3) U <5<5 £)[&J <£)6&r ‘ffjlT65T 5T65T I5rri$<S<565T’ 6T65TIT) §J 655T@ LS)|J*IJ<$<£I 65T jguSl^QLnrrL^lQuiLiitLJ65)u Qajciflu51ili_^rf)«rT« QuifliurfiY a)a§i& Q^ujiuuuili-mT.

(4) QatireoaruSId) ^«Di_Qurbno £u5) j£j5rr@ QueroraciT inrnBrnLiq.0) ‘QufflujmT 6T65TID
UL _L _LD QJLprEJ<5LJUlll_gJ.

(A) (1), (3), (4), (2)

(B) (1), (4), (3), (2)

(C) (4), (1), (2), (3)

(D) (4), (3), (2), (1)

(E) C)Sl65) L_ Qfljlf] lLlo£]6i)65)6D

1112CCSEI-IAP25
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144. Which of the following statements are true about Anjalai Ammal?

(1) Anjalai Ammal was pregnant while in prison

(2) Anjalai Ammal born in Chennai took active part in Neil Statue
protest

(3) Husband of Anjalai Ammal was not interested to participate in

freedom movement

(4) Anjalai Ammal served as Congress MLA from 1937 to 1946

(A) (1), (4)

(B) (2), (3)

(C) (3), (4)

(D) (1), (2)

(E) Answer not known

^Li> LDrr«f)6fTU i51«n'6U0Lb <s«-fDp<s6ffleb OT§I / OT«)6IJ (EFifliurrajrg]?

(1) ^ii» LDiT6rT «0fDu51 {|)0iB<£ <2urr§i «iTuuiBrr« @0jb£rrfr

(2) QawsDSsruSld) ^®dFO>a>ujii>u)rrOT jgd> #1earn GuirijirilL^a)

ur&j0 euAfatrlt

(3) ^(0ff«oa)UJLi5mrr6rfl65r aemeun GurnjrrnLi_&§)d> UIBJ® Qupaj®>£

efil0LD U©SI0)65)60

a;rrr£j£li7sfi) CTih.OTG). ?-.aJrr® 1937 (Lp-so) 1946 eusnij

(4) ^(^^flOGJUJibLDrraT

u«»flujrr/i)ii^®n'n'|T

(A) (1), (4)

(B) (2), (3)

(C) (3), (4)

(D) (1), (2)

(E) sfflooL

CCSEI-IAP25
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145. Reason and Assertion type :

Assertion [A] : Archaeological excavations conducted in
Pattanam, Ernakulam, Kerala unearthed signs of

early Roman trade.

Reason [R] : The excavation proved that Pattanam was a part

of Muziris, the port city of the Sangam Cheras.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true and [R] is correct explanation of [A]

(C) [A] is false

(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A]

(E) Answer not known

) «rrij655TLb LDrfjpih a«i.fi)p smTtijjSp :

atn.fi)p [A] : (5«IJ6fTlh , OTIT655Tn'06rr^̂ l 6b 2_ TT61T UL_lq_GOTLi) <£) ljrTLDg>^lo)

F5L _«5<$LJUiLi_ Q<£n-6b6iS)iLi6b <9iagQjirp-|£j*j| rr60
GijrrLDrraffliLi ©jrTarafl«($as)<$<$ Q«$ifleSlas<£lfDp.

<5fT7655TLb [R] a:(EJ <£B« IT60 C5uIJIĴ ITtSerfl 6ffT §l «S) fD(Lp« rB<95 ljrT65T (ip<£)$) uSlajr $0
u(5^1 ujrr<R uLli_6B5rih @0r5<$£l CT6OTUOD<$ ^aBLp&jmjnuia^r£l0i£l«<£) fD§|.

(A) [A] a= rfl ^sjrrrQ) [R] ^cup

(B) [A] LDrfjpib [R] a= ifl LDiDpLh [R] GrosTup [A]-OJT a^iLirrafT ©S)6TT<5a5ih

(C) [A] «£0jp

(D) [A] LDfT)pLb [R] «=lfl ^GffTrTQ) [R] OTOSTUp [A]-«fT fflfllUrTQJT 6fil6TT««lh «^Q)Q)

(E) ©Siam- Q^ffliLiaSlojaDa)

Y114CCSEI-IAP25

s
Highlight



Choose the wrong pair :

1. Thodakku

2. Andalai Aduppu

3. Iyavithulam

4. Yeri Chiral

146.

The ornaments on the neck

Cock shaped

Weapons for gouging the eyes

The equipment to stock Bow and

arrows

(A) 1 and 4 incorrectly

(B) 1and 2 incorrectly

(C) 2 and 3 incorrectly

(D) 3 and 4 incorrectly

(E) Answer not known

£QJ/Dirar ^I 68)655TGDUJ <S :

1. Q<$rn_«@

2. ^«Rm_«060 c^©UL-|

3. gguj0Sl^§j«)rrL£)

4. 6rr51<#lij^>

(A) 1 IDrfjpLD 4 ^6up

(B) 1 mrijpLb 2 <$6up

(C) 2 LDrogjjLb 3 ^6iip

CD) 3 LorbpLb 4 <£6up

CE) ®S1«D1 Q^|fluj®Sld)GD60

Gffsucb rr«5T§j

<S655TSDS55TS Q«rT<£§|li) d&U-IjSli)

^LbLjaOT 65)61J^Q^UJU-lli> OTjb^llJlh
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147. The salary of A, B and C together amounts to Rs.33,300. If they
spend 80%, 85% and 75% of their respective incomes, their savings
are as 7:6:9. Find the salary of B. )

(A) Rs.8,000
(C) Rs.15,000
(E) Answer not known
A, B, C ^̂ IGUJFTIT QupLb 2ar^luurej«6ifl«5T a«.©<$6b 0.33,300. ^6ufr«cir

^6UIJ6U0 5) I_IL1 6U0LDrT65T<$.£l ©) ®0|B§| (Lp68MD(oUJ , 80%, 85% LDfDpLD 75%
Qff606L( Qffiu <$«n7D«mT. GLD^JLD «^6uiT«(6r565> i_uj G<FL61LIL| 7:6:9. OTssfleb B-6irr
Sflr^llLIlh CT6OT65T ?

(A) 0.8,000
(C) 0.15,000
(E) ®S1«DL_ Q<£lfluJ ©S)6b65) 0

(B) Rs.10,000
(D) Rs.12,000

(B) 0.10,000
(D) 0.12,000

148. Three numbers are in the ratio 3 : 4 : 5 and their L.C.M. is 2400. The
H.C.F of these numbers is .

(A) 40
(C) 120
(E) Answer not known
3 : 4 : 5 OTOTID efi\& pp$Gd ^QDLDIB^ 3 6T658r<s6tfl68T LS.QUIT.LD 2400 cratf!®)

^6uri)rfjlsn- L8.Qurr.6iJ.
(A) 40
(C) 120
(E) 6lSlSDL_ Q<$lfllJJ6]S]o)65)6D

(B) 80
(D) 200

(B) 80
(D) 200

149. If a, b are two digit numbers such that HCF(a, b) =15. Then how
many pairs are available?
(A) 11
(C) 14
(E) Answer not known
(a, 6) 6OT LJSUQU0 Qurrp 6Li(§<$<i) 15 LDrtjpib a, b iriflo)®®
6765^0) gl6I16Urrp 6T<9jflj68)6ffr @68)6S5T CT«j5T<56TT <5rT«5ffTLJU @^l0JTrD65T ?

(A) 11
(C) 14
(E) <s£\es)l

_ Q4g|fllJJ6&l0)68)61)

(B) 12
(D) 15

(B) 12
(D) 15
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1150. Which of statements are True?

(i) Octane number increases with chain length.
(ii) Cycloalkanes have higher Octane number than straight chain

alkanes.
(iii) Alkenes and aromatic hydrocarbon have higher Octane

number than straight chain alkanes.
(iv) Branched chain alkanes have lower octane number than

straight chain alkanes.

(A) (i) and (iv)

(B) (i) and (ii)

(C) (ii) and (iii)

(D) (i), (ii), (iii) and (iv)

(E) Answer not.known

<SLpffi6wri_6uri) r^6b OT§] ffifliurrasr ahjbp ?

(i) Q<$rri
_

iT a«.©Lb Gurrgj ^«(Si_6in- OTCSST S-iuit^lfDgi.

(ii) Gpijnan amli^gjLb ajeoanu s-^frjfcp

GYGSBT 2-655T®.

^GijrrLflrriLiips
(iii) (2rBrrrr«sT ^eoQ&ansiesxsna

sn^rpilCiriT amtuauas(a5ii =91#« "Sli*®1-*^ G® *"-® -

^&G*<*r«a>OT* ffiirui^giii AarnisOi(iv) GrBijuecr
(gaojDaJTCW «4*6i

_dr CTSOT Qs>nmr^§\ .

(A) (i) LBfi)pii (iv)

(B) (i) LDfbpLb (ii)

(C) (ii) LDfppLb (iii)

(D) (i), (ii), (iii) (iv)

(E) 6fil«Di
_ QjSiflujaSlcb®060

CCSEI-IAP25
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151. Which of the following statements are correct about PFAS?

(i) PFAS is per and poly fluoro alkyl substances.
(ii) It is used in paint industries.
(iii) PFAS are endocrine disrupters.

(A) (i) and (ii) are correct
(C) (i) and (iii) are correct
(E) Answer not known

(B) (ii) and (iii) are correct
(D) (i) only correct

^Lp&ffirrspLb 5<n.0p««6lfl6b PFAS UfbjfjllLI <FlfllLHT65T <Sn.rf)p<5<50D6rr

(i) iSl .CTu.^r.CTcfu . OTG&Tup Quiio°oU ( njC> i7rT Loppib urrGSlô u^Gijrr ^,6065)«®)

QurT0il«OT

(ii) 6y«sjr65ffruy,ff* (QUUSISJRI) Q^rTL^lfbffrTSDGoaGiflQ)

(iii) (5rT6TTliSlQ)60 rT aHJUlSlaeDGTTff #IT065)Q)«0lh <£lj©65r 2_65) l_lUg|.

(B) (ii) LDrfjpLD (iii) fflfllLIIT ffT65)aJ

(D) (i) iDil@ih ffifliLKT«rrp

(A) (i) LDrf)pii» (ii) a= ifl
(C) (i) lUfDpii) (iii) a^ifl UJ rr6OT«0 iJ

(E) ©SI65) l
_ Q^[fllU©S)6b66)60

U_lfT65T65)QJ

152. The biological oxygen demand is the amount of dissolved oxygen

in water.required by

(B) Plants -
(D) Seaweeds

(A) Microbes

(C) Animals

(E) Answer not known

S_US1 ITC>6U <§) UJ 66) ®) < û,<scn$lgg65T G>sj65)6u 6T65Tup ,

Gurrp p<5ijuu@ii> ^6TT6L| <^,@Lb.
uuJCTTurrili^fl̂

(B) QffiipSOT

(D) «L
_n)U (T^«6iT

(A) p655TSpii!j) lT

(C) ©S)®)ltj0<56TT

(E) ©SI 65) I Q£5ifllLiaS) <>065)60
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153. How did education contribute to the Indian Renaissance?

(i) Contributed Growth of Money

(ii) Promoting scientific learning

(iii) Promoted social and cultural progress

(A) (i) only

(B) (ii) and (iii) only

(C) (ii) only

(D) (i) and (iii) only

(E) Answer not known

g) f5<£llLI LDpLD6l)IT<§:<^<S0<S SOJoSlllto UfcJffi6lf) UL| OTdjQdrrp 2_<$©S1 QffUJ <£§|?

(i) usjffr cu6rriT<j<^0DUJ Q «5rr©<$<$p

(ii) r^l u j b

(iii) u«jffrurr@ (Lp«yrG«5Trf) (Dii) ^rpuilL-gj

(A) (i) LDll@LD

(B) (ii) LDfi)pii) (iii) *

(C) (ii) ioil(pLb

(D) (i) LDffjpLD (iii) LDL_@Lb

(E) QSIQDL. Q^(fluJ0S1cb65)6O
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154. Which one of the following is correctly matched?

(A) Champaran Agitation

(B) Ghadar Party

(C) Ganapathy Festival

(D) Home Rule Movement
(E) Answer not known

Bal Gangadhar Tilak

Lala Hardayal

Annie Besant

Gandhiji

<£ip««OTi_aj/t)pGTT 6n5<$«s 36ut)p& ffifliumsu QufT0.$£uUL ©erT rTgj] ?

umso «rEJ£6[T£BIJ <£l D<5IT

<SOfT<SD (T pDIT^UJUCiT

^gsrssflQuffan-il

(A) ffubuijn-Qn- <^l6TTfr< j<#l

(B) <5<$lt<5 <KL<£]

(C) <5«aru <£l u«55ni|.65)«5

(D) <5«rrsrrrnl<£l

(E) oS)«DI_ Q^lfllLI (ofil6b65)60

«nr^ggl

155. In Tuticorin, Tamil Nadu, Subramaniya Siva Campaigned for strike
in 1908.

(B) January-February

(D) April -May

(A) March-April

(C) February-March

(E) Answer not known

1908 ^Li> *uiSl7LD6wfluj £)6urr ^uSlLprsml^guOTCfT §ir£§i«(§iq
_uSla)

(3umjrrLL_d5d§lji)@ LSluffffrrijii) QffiLisjrnT.

(A) LDrriTff - ^ruijQ)
(C) l5lLJIJ6Ulfl - LDmtff

(E) oSIs& L. Q^(fluJ0Sl6b«5)6O

(B) ggOTTQJlfl - iSluiJGUlf)

(D) (C^TUIJQ) - (SLD
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156. tIradeeconstto'falley CiviUzation the commodities in Internal

(1) Cotton
(2) Lumber
(3) Grain and food stuffs
(4) Livestock

(A) (1)> (2), (3) only correct
(C) (1), (2), (3), (4) correct
(E) Answer not known
<£)n>gl ffLi)Q6iJ6ifl r̂rijpLD^I Qurr0iL«
ajuessflu^eb «0£uu©6ijp

(1) U0&S
(2) IDIJLb
(3) 2_«55T«si| ^rr«iflujrRj<5 rT

(4) «rra)rB65)i_£6OT

(A) (1), (2), (3) IDL
_©LD fflfl

(C) (1), (2), (3), (4) sffl '

(E) ®S1«5)L
_ Q^lfluJeS)0)65)61)

(B) (1), (2), (4) only correct
(D) (1), (4) only correct

&
_onsrnl@6TTI :

(B) (1), (2), (4) LDL.0LD fflfl

(D) (1), (4) LDllglLb fflfl

157. Which is/are the aims of a sound “Theosophical Society”?

(i) Believes in Karma, Yoga and Indian Philosophy.

(ii) Universal spiritual brotherhood.
(iii) To protect the society from evil practices.

(B) (ii) and (iii) only correct

(D) (ii) only correct(A) (i) only correct
(C) (i) and (ii) only correct
(E) Answer not known
i%il)U)(0rr6ar ernuuSIm GprraaLb ujrrgj?

(0 «iTLDrr, Giurrarr, @)j5$UJ£ <$<5§J6LI.5^)65T f5LbiS)«65)«

© S-eoamrre^uj
ffiGaurpijpgiGLiib

(iii)|UJ jB65)i_(ipaDfD«6rfl66)0/5§J ffQppnajpanpu urTgjsrruup.

(B) (ii) LD/Dpib (iii) unlgui) sft\

(D) (ii) LDLl(Ŝ Lb fflfl(A) (i) LDiigiih
(C) (i) LDITjpLb (ii) LDL-©LD

(E) ©SI 65) 1 Q£5lfllL10Sl 6b65)6O
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158. Consider the following Statements, Choose the correct answer :

(i) January 30th is the Death anniversary of Annal Gandhi Adigal

(ii) January 23rd is the Birth Anniversary of Netaji Subash
Chandra Bose

(iii) April 14th is the Birth Anniversary of Annal Ambedkar

(iv) October 13th is the Birth Anniversary of Sardar Vallabhai Patel

(A) (i) and (ii) only correct

(B) (iv) only correct

(C) (iii) only correct

(D) (i), (ii), (iii) only correct

(E) Answer not known

<£i£<95sfori_ 6urr<5^1 iurEj<5«DerT <50§]<K , <3= IFLUJIT<OOT ©S1 <S5) I_<S5)ILI G<$fh5Q<$©<s<s.

(i) ggon-euif] Lorr^Lb 30^m (£<$<£) <5rn5.il u_iiq_«£6Tfl «JT LDSM) IB<$ <il«n-mrr@Lb

(ii) ggarr&Jifl Lorr^Lb 23 ^,LD JBITCTT (SrB^rr^l *urrci% <5j5<£lijGurrcroisnta i51n)rB^

(iii) ^ruij b mmsm 14 ^j,m njrr6TT ^smrsRfra) ^LbGusssrflsirr <il«niDrr0Lb

(iv) ffiT^rrit GLi0)6Ourruj uGi_eb iSlpjbp ^©STLD «$js(Si_iTufr 13 «^,(§Lb

(A) (i) LDfDgjjLb (ii) mil© Lb sifl

(B) (iv) mil©ib ffifl '

(C) (iii) mil©m a= ifl -
(D) (i), (ii), (iii) mil©m a=ifl

(E) ©SI 65) L_ Q^rflnj©Sl 6b«060
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Which of the following statements
Commission of India?

(i) Conduct elections to parliament, State Legislatures and to the
office of President and the Vice-President

(ii) India’s First Woman
Ms. V.S. Ramadevi

(iii) India s first Chief Election Commissioner Mr. S.P. Sen Varma

(A) (i) only

(B) (i) and (iii) only

(C) (i) and (ii) only

(D) (ii) and (iii) only

(E) Answer not known

159. are true about Election

Chief Election Commissioner

i5l«n'6ii06u«n'6Uff)psTr £g)rij£§liLi <^,65)655ru_iLb ffiflu-irTssTaws cr(ip§j«.

(i) urrp-(g5LD«&rjDib, ffLli_Lj(3uij65)©j«6TT iDjbpib @ ^aocoajiT, gjansRsr

(gnj-OJij'* <565)a)SUIT Gpirp&sm pL-pgioigi.

(ii) ©Jt^ujirsflar (tppa) Qu««r ^a)Soa»ic ^CBOUTIUIT 00U>£- ««"«"*>"

iju)rrC!<$®S) ^eurriT.

(iii) gl|B|lujrTcfi)6BT (Lp^60 <565)6D65)LD ^6S)656nLllT $©

^j,cmriT.

(A) (i) iail(5lLb •

(B) (i) LorfjpLb (iii) Lml@LD

(C) (i) LDfopLb (ii) LDLL©LD

(D) (ii) LDfDpLD (iii) LDll@Li>

(E) 6fil66) l
_ Q^lfllLI6filG)65)60

CT6fo. i51. Q<3=«rr aiiTLDrr •

CCSEI-IAP25
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160. Arrange the following stages in the enactment of Budget in
Ascending order
1. Voting on Demand for grants
2. Passing of Finance bill
3. Passing of Appropriation bill
4. Scrutiny by departmental committees
(A) 2, 3, 1, 4
(C) 4, 1, 3, 2
(E) Answer not known

^LpaarrppLb <§Li_,$<il6p65) i_uj

GufflSDtfUUU).

1. LDrraffluj® ii)<$n65i 6un<5Q5@ ui_|
2. i§l <£l mGffrr^rr r§l 66)/DG<oii /i)/DLb
3. r§l <il LBGffrr^rr /§l6S)/D(pGii/D/DLb
4. §|«D(Dffi6rr @(Lp<5<56ifl«n-

^,UJGL|

(A) 2, 3, 1, 4
(C) 4, 1, 3, 2
(E) ©SISDI- GIjsifliuoSleusDei)

161. Consider the following statements about the Electoral College of
Presidential Election, which among the following statements is
correct?
(A) The nominated member of Lok Sabha
(B) The nominated member of Legislative Councils of States
(C) The Elected members of both Houses of Parliament and

elected members the State Legislature and Union Territories
(D) The nominated member of House of states
(E) Answer not known
LS16616U 0611651611/T)p611 0IXj_ lLHJ5<$ <£65)6061105511661 “6111155n6HIT

0ff)l < j<$6Uff)p6iT ffifluurrOTrgj srajj ?

(A) LD5561165)611<50 f§llLILl5) <55LJU©Lb l§]lJULD661 2_pui5l65rir

(B) 5L
_

I G> LD6O65)611<50 f§lILILiS1 <K «KLJU0LD f§] lLILD661 2
_
pUl5l65TIT

(B) 1, 2, 4, 3
(D) 3, 1, 4, 2

^lUTD/DoSlê /§165)60(565)611 6Jp

(B) 1, 2, 4, 3
(D) 3, 1, 4, 2

0LpnLbw

(C) LD <5561165)611 LD/DpLD LD lllfl60 r£j561166)61150 G^IT^Q) (y)60 Li) G^ITltQ^glaaLJULLU
2_pill L51651115611 LD/DpiJb LDnr§l 60 LD/DpiJb yj,66fllU651 L51ljC^5riJ5(61550^C>SjlT/ijQflj(i)l55UUL_ l 5L_ L_ LD651/D 2_pULS) 651IT5 Tl

(D) LDn/fl60 rEJ56H65)61150 l£) ujLl5l55LJU© Lb /§) lULD651 2_pLJLSl651IT

(E) 6)5165) I Q<$lf) tU©Sl6065)60
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lQ2- Consider the following statements, and choose the correct answer :

(i) The American Constitution was the first to begin with a
preamble.

(ii) “Preamble to the Indian Constitution, resembles
‘Independence of the United States” observes N.A. Palkhivala.

(iii) Justice M. Hidayatullah, called the preamble, as the Identity
Card of the Constitution.

(iv) A Republic Includes all public offices being opened to every
citizen without any discrimination.

(A) (i) only correct
(B) (i) and (iv) only correct
(C) (ii) and (iii) only correct

(D) (ii) and (iv) only correct
(E) Answer not known

dLp<K«sffTi_ 3tn.rbp<5-$«D6rr <50gj]<s, tfiflu-irrsfT oSlooi—65)iu (S^ITIBQ^©<S<5 :

(i) “(Lp«LJI
_
|65)|7lL|l_«ff §J6UfBJ^IuJ (Lpj£«) ^IJ^UJGDS& LDLJLIff fflll_LD ^QLDlfl««

^) IJ«#lLUa)«DLDLJUrT0L£).

(ii) ‘glpiluj ^ij^liueo«DLDUi5l6ffT (Lp«aj«5)ijujrT6(5Tp ^Qioifla* jBrr@«6ifl«5T

CurT6oCo6U @0<5^1 rDgl’ CT65T 2_rf)p CrBmKê llLIGUIT

N.A. U6b^l urr60 rr^currit.

(iii) M. gpu-jpgjajajrr, ppa^iaoijiiJrraTgl

^65)i_iurr n-
C^L1«DL_ OT65T ^soLp^euijn'CiJn’iT.

^IJff65)LDUL51®5T

(iv) 01OIL1 IJ* OT6ffTU565T Qurr06TT, ^\GD 5\ff>§\ QuiTgJ
erwGSlp urr0urr@ u51«frf51 ^a>aroj06@LD

01̂ .lD«<5(Cr5<50Lb
CT«n"UQD^u_|Lb s_OT6rri_«^luj^rr0ii).

(A) (i) LDL1@ LD ffifl
(B) (i) LorfjpLb (iv) LDL

_@m ffifl

(C) (ii) mropm (iii) LDL
_@ LD ^rfl -

(D) (ii) LiMi)pLjb (iv) LDL_@Lb fflfl
(E) 0@ 68) L

_ Q^lfluJ®Sl 6b«D60

Y CCSEI-IAP25
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163. Assertion [A] : The overall policy framework for the social sectors
in India is laid out by the Central Government.

: The State governments have considerable
flexibility in designing policies.

Reason [R]

(A) Both [A] and [R] are true; and [R] is the correct explanation

of [A]

(B) Both [A] and [R] are true; and [R] is not the correct

explanation of [A]

(C) Both [A] and [R] are not true

(D) [A] is true and [R] is false

(E) Answer not known

ffirUDp [A] : g) (B<£lujrr©S)Q) §j0DfD«(enj««rT65T

Gl <Srr6rT68)<5 <5L1I_«DLDLJ«DU LD^IUJ 6U (§<95.$n)p.

«mj«55TLh [R] : Q<5msTTar> <$<s«D6TT cuiq- u«DLr>uu«£leb LDrnSIco 1̂7* asrcfWrTgBT

Qr5<£lLp6i|<$ ^«n-«DLD65)UJ <£ Q«rr«fffr@6nm6&T.

(A) ffinJDp [A] «rTIJ«J5TLb [R] @ IJ«5ffr@ Lb fflfl; UMT)pLb «mj«J5TLh [R]

[A] <5<5rr65r ffifliLirrsjT 0Sl 6rr««inrr@Lb

(B) a«i.ff)p [A] amjcrarib [R] @ijsj5r©Lh ffifl; iBrfjpLb «mj«sffTLb [R] auDp

[A] ««rT65T fflfllLinW 0Sl 6TT«ffiLHQ)6O

(C) a«.ff)p [A] anyemti [R] glij6&&r(S) Lb ffif ) iurT63T<$eb D

(D) a«vfbp [A] ffifl , smjsmb [R] <$6ijp

(E) 6)fflQDL Q^lfllLI0Sla)65)6l)
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164- The f°lloW11

^ statements are about the Tamil Nadu Government’s
initiatives . rind the correct statements.

Allocation of 5
Ambedkar into
Department

(b) 10 crores

(a) crores to translate all the works of Annal
DevelopmentTamil through Tamil

for establishment of Tamil Parapurai Kazhagam

(c) Allocation of 5 crore for creation of separate department of
Tamil Literature in JNU, Delhi

(d) 30 lakhs financial support for Theera Kaadhal Thirukural
Project

(A) (a) and (b) only

(B) (a) and (c) only

(C) (a) and (d) only

(D) (c) and (d) only

(E) Answer not known

«$u5lLpr5n-@ ^IJ<£!65T (ip«n-(ipujri)<£l<5dT urbrfluj L5l0sreu0ii>
ffifliurr«JT«Dcu ?

(a) ^65ffr655T"Q) ^Lb(cLW5<9;ifl65T U6B)l_UI_|<50D6mL | L£> £5uS)l£
gJQDfD £Lp6DLD ^US1 L^) 0 QLDrTLj5lQl_IU_HT<$<$ 5 Co«rTl^.

(b) ^u51^ UIJULj65)IJ<5 <5Lp<SLD ^65)LD<95<$ 10 Garriy. 6£SjJ<5<£©
(c) QL_Q)C61 ^enernfieoneo Gp>0 ueoaG^eo^^eo <$L% <5«%

§l«DfD65)UJ S_06bJrT«<5 5 CffirTU).

(d) <£ijfT asms©) <§0<5(§rDdT ^lili_^rf)0 30 r§l <£lu_|.$e)Sl

(A) (a) LDrf)pLD (b) LDll@li>
(B) (a) LDrfjpii) (c) LDL10LD *

(C) (a) LDrfjpLb (d) LDL -©Li>
(P) (c) LDfjjpLD (d) LDL -@lb

©S)«S)L _ Qa5lfllLI0S1d)6B)6O

OT65)QJ

7 CCSEI-IAP25
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165. Which of the following statement(s) are correct about “Tamil

Pudalvan” Scheme?

(i) Launched on October 2024.

(ii) Improve the financial status of all male students studying in

government school after school education.

(iii) Monthly financial assistance of Rs. 1,000.

(A) (i) only

(B) (i) and (ii) only

(C) (ii) and (iii) only

(D) (i) and (iii) only

(E) Answer not known

QpfljGOQDLD&dFrflsn' “^u5) Lpu L|^Q)aj«n'” (Sjjfjlsjgiff ffiflujnw QffrnDQfDrrLaDij

Q<9=tLJ <95.

(i) ^a(2i_rruiT 2024-®«) Q^m_rEj«uuili_§|.

(ii) U6TT0flLJUl^UL|«0U LSlrfe^llU U TT6rfl LDrT6OTT Ult«6lfl«JT (3li) rf) Ulq.UL|«@^
G<5<off)euiLims3T igl^l (gl«D6O0DLn«5) UJ (3Lmhu (Sl^§i l̂rD§|.

(iii) LDrr<$ jgl^liL|^6)Sliurrffi 0i
_
irruj 1,000 6ULp[BJ«uu@ « l̂rD§j.

(A) (i) LDL
_©LD

(B) (i) LD/Dg)JL£) (h) LDll©Lh

(C) (ii) LDfDgJJLb (iii) IDLl^Lb

(D) (i) LD/Dpri) (iii) LDL-©LD

(E) Qj«5[fllLI6)&la)6B>6D
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166. Match with the schemes and its main focus :

(a) PMGSY 1. Focus on rural youth between the age of
15 to 35 years from poor families

2. Sustainable livelihood opportunities

3. Rural connectivity

4. Livelihood security in rural areas

(b) DDUGKY

(c) NRLM

(d) MGNREGA

(a) (b) (c) (d)

(A) 12 3 4

12 4

(C) 4 3 2

CD) 1

(E) Answer not known

(B) 3

1

2 4 3

<$iLL_r&j««j)6rr c5H <$65T (ipa^luj Gr5rr<5ffi«5g|L_«n- (olurr0<5<56L|Lb :

1. 5T«DLp<5 0glLDU (tj<5«S)6rT<F (SfflTrS^ 15 (ip<$6b 35
6UUU§J«0llULlL_ ^lljrri£)UL|/D ^l65)6IT0IT«5OT L5§|

2. j§)«B©)iLinw ajrrLpQjrr^mj CU [TUJLJL|«6TT

3. i)ijrrLDUL|fD gl«)6wruL|

4. ^l7rrLDUi_jfDr&j<K6ifla) GurrLpajmsmju utTgjanruq

(a) PMGSY

(b) DDUGKY

(c) NRLM

(d) MGNREGA

(a) (b) (c) (d)

(A) 1 2 3

(B) 3

(C) 4 3 2 1

(D) 1 2 4 3

(E) QSIOOL. Q^rfliuaSlebfioeo

4

4 '1 2

i
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167. Match the following :
(a) Jawaharlal Nehru
(b) S.N. Agarwal

(c) J.P. Narayan

(d) M.N. Roy

People’s plan

Sarvodhaya plan

Gandhian plan

National Planning

Commission

1.
2.

3.

4.

(a) (b) (c)

(A) 4 3 2

(B) 4 2 3

(C) 2 3 4

(D) 1

(d)

1

1

1

3 4 2

(E) Answer not known

QufT0^§J <5 :

(a) gg6U6*!DIT DITa)

(b) S.N. ^H <siT6umsb

(c) J.P. rBmjmjJcror

(d) M.N. ijrruLi

1. LD<5<S<STT <|§1L _I LD

<srrGlajn-,$uj<£ <£ILLI_LD2.

3. <srn5<$uj.$ L _I LD

G<$<#)li_l <$ ^1LLI_<5 0(Lp4.

(a) (b) (c) (d)

(A) 4 3 2 1 •

(B) 4 2 3 1

(C) 2 3 4 1

(D) 1 3 4 2

(E) ©S)«DI_ Q<$ifliLioS)fl)aDa)

Y130CCSEI-IAP25
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168. Find out the rightly matched pair/s from the following and choose

the correct answer from the code given.

(1) 1925 — Periyar EVR started the periodical ‘Kudi Arasu’

(2) 1928 -

(3) 1934 -

The English periodical ‘Revolt’ was started

Periyar published ‘Viduthalai’ as a Tamil Daily

Newspaper

(4) 1937 - Periyar brought out the Tamil Weekly

‘Pagutharivu’

Codes

(A) Only (1) and (2) are correct

(B) Only (1) and (3) are correct

(C) Only (1) and (4) are correct

(D) Only (1), (2) and (4) are correct

(E) Answer not known

677657OJ rf) f§]6lSI0 fflflu_M7«U QurT0fB<£llJJ @65)6557<9565)6T7<5

@i
[51 ii5iliij.66l0^§i ffifliLirron- LJ u<£l 65)6D«$<$(SLp Q <5rT@ <5«LJUll©6TT

Qffirr@ <s«uuLli_
(2£ITIBQ <!5©«<56L|Lb.

(1) 1925 Quifliumt F.Qoj. ijrr. ‘04 ^IJ* evonn) U06U @^68)Lp^Q^m_ rEJ <^l«n'(T(T.

«^j,rEJ <£l6D U0QJ jg)ajLp ‘iflCoCurrcbL- Q^rri_rEj<5uuilL_§j

QuifliumT
(

<oS\® pes)Q)’ 65)ILI <S -su5l£ (Brrcifl^Lprra Qsu«ifluS) ilL_mT

Quifliumt ‘u0^r61aj’ 67657/D ^uSlLpcsumj gl<5®) Lp Qaj6iflu9ili_mt

(2) 1928

(3) 1934

(4) 1937

0n51aS©
(A) (1) LDrf)gJJLD (2) LDL1©COLD fflfllUf765765)6U

(B) (1) UMT)pLi> (3) LDL_@CLD fflflujr765766)61l '

(C) (1) LDfbpii) (4) LDL-©CSLD fflfllUr765765)6lJ

(D) (1)9 (2) (4) LDL_@CuD fflfllU 7765766)611

(E) 6)5166) l_ Q^(fllJJ6lSl6b66)60

Y CCSEI-IAP25
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169. Choose the right matches among type.
(1) Krishnabai Nimbkar

(2) Rukmini Lakshmipathi

Madras Youth League

President of the Madras
Women’s Students Organisation

Pankaja Textile Mill

Acting President of the Tamil
Nadu Congress Committee
during Quit India Movement

(3) Antony Ammal

(4) Manjubhashini

(A) (1) and (3) are correct
(B) (1) and (2) are correct
(C) (2) and (3) are correct

(D) (3) and (4) are correct

(E) Answer not known

ffifliLirrsfr Qun-0^ 6U«D<5GDUJ<$

(1) £l0&9i«55rmjrruj jSlLbaiT

(2) 0<5Li5l«ifl 60<S6i^Li51u^l

LD^ijrrcfo gl«DeTT(0iT fffEjaii)

LD^ijrrefu m<$6ff) it LDrrsrcr&jiT ^anLDUiSlfin'
$65)6D6)J [T

(3) ^p(o^rr68fl ^LbLDrrcTT

(4) LD^^ourra^leefl

urEjaggrr ,^65)60

^Li5lLp[5IT© <SfT[EJ <® IJ6fO 0(Lp0Sl«JT

£568)60SUIT (Qurrpui_|) Q6U6TT68)6rTUjG68r
Q6U6ifH2ujp Gunp

(A) (1) LDrfjpii) (3) fflf)u_irT65T68)6LI

(B) (1) mrf)pLb (2) ff (flujrr65T68)6u

(C) (2) LDrf)pLb (3) <5:lflliJrr65T68)6U

(D) (3) Loppii) (4) a:iflujrr6DT6B)6u -

(E) 6)516S)L_ Q^lfllU6)516065)60

Y132CCSEI-IAP25

s
Highlight



170. Choose the right matches among type :

1. Porpanaikottai -

2. Iron Knife -

3. Merchant Guild Inscription -

4. Sarcophagus -

A sangam age fort

Pallavaram

Mayiladumparai

Marungur

(A) 1 and 3 are correct

(B) 1and 2 are correct

(C) 2 and 3 are correct

(D) 3 and 4 are correct

(E) Answer not known

LS]«yr6U0U0S) u <£6rfl«) tfiflu-inw Qurr0^^65)£B G<5iTf5Q<$©<s« :

^IT arrco GamleDi—1. QurnDu«&OT«C(95 rrL_«s) i_

ucbcorrojijLi)2. gl0ii)L|<5 <5<S<£I

LDuSlsorr@iiMjrr65)^03. CU655fl<5«0(Lp SCDQCULI©

LD0fEJ5si.IT4. <5jX)5:QjQuLl_
lij-

(A) 1 LDf[)g)JLi) 3 5:jfluJn'65TG5)GU

(B) 1 LDippLi) 2 5:jfllUrT65T65)eu

(C) 2 IDffjpLD 3 <3= fflu_l (T«rr«DGU .
(D) 3 LDrijpii) 4 5:jflujrT«n'65)eu

(E) QSIQOI Q^(fllJJĈ Cb65)C0

CCSEI-IAP25
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171. Which of the following statements are true?
1. All the religions were accepted and appreciated in Thirukkural
2. Every religions ratified the views of Thiruvalluvar
3. He didn’t believe morality
4. Valluvar said that men with high principles deserved to live as.
(A) 1and 2 only correct
(C) 2 and 4 only correct
(E) Answer not known
ffifliLirT65T «enm_r5k.

1. Q <SU <SuGl6Up (TITIB^QJITS(CT^LX) ^l0«(5/D«O0TU Gun-rD$l6ffrrTiflo)66)Q).
2. i§)00J TT(6fTjQJIT 5jajS)Lb ffLX)U-l£66>£ff ffrTrnj)S>6LI IT 6T65Tp <?U)ILJ r4l<5CTT ffrTSfTp

ffifTI * Itj 65T.
3. ^ff)Qr5r51 uSl6b ^(LpjSjSLDnw jBLhi5) «$65)«5u_iri) rD6iJiT.
4. 2_ujiti5^ 0r5)«GffirTCTT Qanw© LD6?jfl^6iyr surrLpGeueror^QLDelyrjDmT. .

(A) 1 UDfDpLb 2 LDLl©li) fflfl
(C) 2 LDfDpii) 4 LDll^ LX) fflfl
(E) ®S)«DL_ Gl^lfllU®Sl6b«DQ)

(B) 2 and 3 only correct
(D) 3 and 4 only correct

(B) 2 LDrfjpLD 3 L£> LL@ LX> fflfl
(D) 3 LDri)pLi) 4 LDLlglLi) ffffl

172. Arrange the following in order :
1. The goodness of the help to domestic life
2. The possession of love
3. Domestic life
4. The obtaining of sons
(A) 3, 1, 4, 2
(C) 1, 2, 4, 3'

(E) Answer not known

1. 6UrTLpffi65)ffi g|65)65ffT (TjGDLb

2. ^6ffTL |66)l_66)LD

3. @0)6X1 rTLp«66)<S

4. L|<$d)6U 65)IJU Qup<$0)

(A) 3, 1, 4, 2
(C) 1, 2, 4, 3
(E) Q^iflujefilo)

(B) 2, 3, 1, 4
(D) 3, 1, 2, 4

(B) 2, 3, 1, 4
(D) 3, 1, 2, 4

65)0)
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173. x • 7-5-8:^-7:17.5 find

(A) 3 : 22
(C) 3: 20
(E) Answer not known
x : 7.5 = 8 : y = 7 :17.5 cratfl©)

(A) 3 : 22
(C) 3 : 20
(E) ©SI65) I— Qdj[flliJ©Sl 6l)65)6l)

174. If Rs. 1,600 is divided among P and Q in the ratio 5 : 3 then Q’s share

x : y

(B) 1: 7
(D) 3 : 23

X • y §S <5rT655T<S.

(B) 1 : 7
(D) 3 : 23

is

(A) 900
(C) 1000
(E) Answer not known

0. 1600 go P iDfbpii* Q OT6ifm) g) i765ffr@ i5LHTa;(6n>«0 5 : 3 erasijD ©Sl^l^^la)

iSlffl^rra) QaSlssr LMRI(§

(A) 900
(C) 1000
(E) ©SI65) I Qd5lfllLiaS]6b65)6D

L.C.M. of (2x2 -3xyf , (4x-6yf and (8x3 -27/) is

(A) 2x(2x -3y f {4x2 + &x y + 9y2 )
;

(B) 2 3 x2(2x -3y f (4x2 + 6x y + 9y2 )
(C) 22x2(2x-3yf (4x2 + 6xy + 9/)
(D) 2 2 x2 (2x - 3y f (4x +6x y + 9 y )
(E) Answer not known

(2JC
2 -3xyf , (4#-6;y)3 UMDPLD (8X

3 - 27 y )

(A) 2x(2x-3yf (4x2 + 6xy + 9/)
(B) 23x2 (2X-3yf {4x2 + 6xy + 9y2 ) '

(C) 2V(2x-3y)2(4x2 + 6xy + 9y2 )
(D) 22 x2 (2x - 3yf (4x + 6xy + 9 y )
(E) ®Sl65) i Q^

iflujeSI©)®)®)

(B) 600 '

(D) 1200

(B) 600
(D) 1200 *

175. .?

65T LS.QUFT.LD.
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176. One Rutherford is equal to
(A) 108 disintegrations per second
(B) 104 disintegrations per second
(C) 106 disintegrations per second
(D) 1 disintegrations per second
(E) Answer not known

6£0 ©pn̂ oGumt® ^6TT6L | CTWUgjJ ^Lp«<5«j5TI_CLlrt)pCTT OTjgJDCSjff a=LDLDIT«ST§l ?
(A) 6^0 Qff«65ffT© G!l5IJ<£<£ld) 108 <£)65)<$<oL|.S«S)6n\S Q<5rT©<50Lb

Ql_IU0«fl65T ^GTTGlj

(B) 6^0 104 Q <5rr®«0Lb <5d§iflu_i <5<5u
Qun-06tfl65T ^6TT6lj

(C) 6^0 Qff««fcr0 (2J5 IJ<$;£) Q) 106 $65)<£6L|<5as)crr<5 Q<5rr®«0Lb «^1 rfliua5«u
QurT06lfl«5T C ĤOTGL )

(D) 6^0 Qs^sfor® Gr5ij<$<£) 6i) 1 Qffirr®«g50Li> ffi^lifliuaffiu
QurT06lfl«n- ^6TT61j

(E) cfil«S) L_ Q<$lfluU©Sl«)65)6D

177. Kessler syndrome refers to
(A) Radio Frequency Interference in space
(B) Light Pollution in space
(C) Accumulation satellite fragments, spent rocket stages and

other discarded materials in space
(D) Formation of Cirrus, Cumulus, Cumulo Nimbus clouds that

distracts the light penetration
(E) Answer not known

G> <s5eri) Dii $«rriL(2ijmjb OT6ffTuu® <ajp
(A) 0fil«s5rQaj6ifliiS)6b 5rri)u®Lb GIJI^GUJIT^aaaxsuiflss).? 0p<s<$®
(B) <sfil«iffrQ <su6TfluS)Q) 5rfT)u®Li> $6tfl Lorraurr®
(C) 0S)«njrQ(SUGrfla5lG) 0®Sl^§i6TT6rT GlffiLirbaos; C<srreiT<K6TT, ijn-«Q«Ll LDfi)pii> @<517««L^l6^«crriT6b ^rrbugiii) ©S]6&)QT<SL| *

(D) l̂lTIJcfD, 0(Lp6OCfl), 0(Lp(fi D r^LbUGTU CoUrTSSTID GLD<S6rEJ<56nTT6b (SjlfllU 6£6lfluS)«tf2flr©06U 661«) ^j- rf)u(5> Lb QSIQDCITSLI
(E) 6lSl«J) l

_ Q^lfllLI©Sl6b«D60
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178. Which of the following caused by earthquake?

(i) Lightning

(ii) Landslide

(iii) Thundering

(iv) Tsunami

(v) Floods

(A) (ii), (iv) and (v)

(B) (i), (ii) and (iii)

(C) (ii) only

(D) (ii) and (v)

(E) Answer not known

i5]OT6U06u«d6mf)r$6b y,«Lbu^rra)

(i) u51«(T«n-6b

(ii)

(iii)

(iv) *«n-rru51

(v) Q&j6nmLb

CTSTKoU ?

(A) (ii), (iv) mftpm (v) *

(B) (i), (ii) LorfjpLb (iii)

(C) (ii) LOL_@ LD

(D) (ii) LorfjpLD (v)

(E) C)S1«f) l
_ Q^lfllU©S)d)65)6D

y
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179. Match the following type :

Match correctly the Nationalist Papers and its Authors :

(a) Subramaniya Bharathi 1.
(b) Mrs. Annie Besant
(c) G. Subramanya Iyer

(d) P. Anandacharlu

Swadesamithran

Madras Mahajana Sabha

India

New India

2.

3.
4.

(a) (b) (c) (d)

(A) 1 3 2 4
(B) 3 1

(C) 3 4

(D) 2 1

(E) Answer not known

4 2

1 2

34

ffffliun-6OT6U (j)0DfDU Qurr0«$§]<5 :

CS^UJ (5 rTGffl «$Lp .̂ ftiflujsoiju Qun0<£§|<5.

(a) *LJi5) ijLD«Rsfluj u rrij<§) in rriT

(b) Mrs.

(c) G. *Ul51lJLD655fluJ gglLIIT

(d) P. ^smbiSffmT©^

1. •s-CS^ffuSl^ijsn’

2. Q<EF65T6S)65T LDffirTggOT ffUIT

3. gjb^lujir

4. L|£IUJ

(a) (b) (c) (d)

(A) 1 3 2 4

(B) 3 1 4

(C) 3 4

(D) 2 1 4 3

(E) QpifliueSI&s&eo

2

21

Y138
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180. Reason and Assertion type :

Assertion [A] : In 1946, the Muslim League withdrew its

acceptance to the Cabinet Mission Plan.

: The Muslim League joined the interim

government formed in 1946.

(A) Both [A] and [R] are true and [R] is the correct explanation

of [A]

(B) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(C) [A] is true, but [R] is false

(D) [A] is false, but [R] is true

(E) Answer not known

Reason [R]

amjrsRn-Lb m/Dpib euflSIiLippsa) CLISD* :

6U ®S] ll_|pfljfljQ) [A] 1946^10) (LpciUflSlli) 6$<5 ^SDLD&fflJS&QJSj ^Trf)p<K

Qfl> rT®55ri 66 ) QS]6D <£<$« Q«IT«5ffri_§J.

: 1946^0) ^65) LD <5«UULLI_ @ 5) i_««n-a> ^Ijffrrr&ja^d)

(ipsfuaSlLb ^anmrppgl -
(A) [A] LDrfjpLb [R] glijal5r@ Lb .wfl LDfbpLh [R] CT«5TU§I [A] 6%snw ffifliLirrsyr

ciSl6rr<K <5Lb

(B) [A] mropm [R] ffifi ^emeo [R] CTearup [A] ©SlfDarrssr ffifliurrgur

®Sl6rr<5<5Li)

(C) [A] ffffl , ^J,65TrTd) [R] ^sup

(D) [A] ajojp, ^j,6ffrrT6l) [R] ffifl

(E) QS)«DI
_ Q^lfllJJ6fil6b«5)60

«rrij6B5rLb [R]

y CCSEI-IAP25
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181. Reason and Assertion type :

Assertion [A] : Muhammad Ghur attacked the Fortress of
Tabarhind, a strategic point for the Chauhans of
Ajmer.

: The Ruler of Ajmer Prithvi Raj Chauhan marched
to Tabarhinda and faced the invader in the first
Battle of Tarain (1191)

(A) [A] is true, but [R] is false

(B) Both [A] and [R] are true, and [R] is the correct explanation

of [A]

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A], [A] only is correct

(E) Answer not known

Reason [R]

amjss&TLb inroptb atnJDp eusoa; :

: <^g> Lf) it Qfferro/DrTGin-a^a^ $0 (LpCScorrumu a& miuLDfTffi

^g)0JBSj .suiTenflrBjSn- Co<5ml6B)i_«5)UJ (jpamp Glamfl ^rr<5<^l«nrnT.

: ^ggLSifleiJT ^Ll^uunwiT i51ifl^®S1 ijrrgg Qff6fT0/Drr®sT

£UitQr5)aOTi_rro£il (T)0 Qffsnp (ip<$a) pGIpjoff
(purrifl®) (1191) u65)i_Quj(5luurT6iT65)ij CT<£IIT Q«rr«s5n_mt.

asLrfjp [A]

ffirrijororLb [R]

(A) [A] tfif ) ^arrrrd) [R] <$<sup

(B) [A] LDrf)pLb [R] ^lijfijur^Lb 2_«S5T65)LD. GLD^JLD [R] CT6in-up [A] 65T ffifliurrefff
efil6rr««ii)

(C) [A] <$6up ^,«JTrr6b [R] ffifl

(D) [A] LDjbpib [R] @ij««n-(SlLb ffifl, ^asureo [R] OTwrup [A] an ffifliurr̂
(ofil6TT<5<KLD0) D [A] LDL _@LD fflfl

(E) aSl«f)i_ Q^iflujofflcbsoo)
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182. Assertion [A] : Every Citizen shall have the right to move freely

throughout the Territory of India or to reside and
settle in any part of the country.

: This Right shall be subject to restrictions imposed
by the state in the interests of the general public

or for the protection of the interests of any

Scheduled Caste.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is false [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct

explanation of [A] is correct

(E) Answer not known

Reason [R]

: OTrijaj 6^0 0ii)-LDa5gu <50ii> , ^itB^lujrreSlQn' i£l 0uu@d§luS]6b

*̂ F6^1 l7U5 rr<5 Q<9=6060OJlb, ^6060§1 @U)
_
lLILDIJ Hm, 6U <£)«<EE&jLi>

a_rfl65)LD s_«iffr©.
: 2_lfl«S)LDlLirT63T§|, Qu0&JrTlfllLin-®IT Qungl LD««6Tfl65T

J5606irr «®£liL|ib, CTr5<$ ^rr^^uuiK3i_mfl«ST IBCOOTT «0^liL|il)

rflurB^65)65T (&J®)ijujaf)iD«(®5®@) 8_L1UL1I_§I.

Sin/Dp [A]

amjamb [R]

(A) [A] fflfl ,^65TrT6b [R] <£6Up -
(B) [A] iDjftpib [R] @ iT«fer©Lb dFifl ; SiDgllii) [R] [A] * ffifliutrar efiloissii

(C) [A] ^sup [R] ffffl

(D) [A] icj&pib [R] fffl ; ^,«rnr£l) [R] [A] <*r ffiflaJiran

^6060 OTGSTUgJ

(E) efil«J) L
_ Gl^[fluJ0Sld)65)6D

CCSEI-IAP25
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183. Which of the following is correctly pair/pairs?

K.V.K. Sundaram1. Fifth Law Commission

Justice K.K. Mathew2. Tenth Law Commission

3. Nineteenth Law Commission - Justice M. Jagannadha Rao

B.S. Chauhan4. Twentieth Law Commission

(A) 1and 4

(B) 1 and 2

(C) 2 and 3

(D) 3 and 4

(E) Answer not known

L5)6OT6U06U6OT6mi) rf >)6b CT§j / OT«DSU <?rflu_irT6OT ^l 0D«J5T /gl0D®S5T«eiT ?

1. g^msugl g:LL ^,65)6BmUL£> C<5.®S1.G<5. <3HB<S5 IJL £>

) U^rTGUg] <Flll_^65)65ffriDLb

3. u^Q^rT«yru^mb ^ilL

4. ^0u^rrcyg] SILL.^SOSOOTIULD

2.

^iLiijffit.OTLi). gg<$6ffT6ffrn\{5 (jrrdi

L51.OT<STD. Qfferr^rreiyr

(A) 1 LDrf)ppjLb 4

(B) 1 Lr> rf)pih 2 -
(C) 2 LDrf)g)jLb 3

(D) 3 LDrfjpih 4

(E) QS]«S) L
_ Q^lfllLI©Sl^)65)60

s
Highlight



184. The False statements about the Legislative powers of the President
are

O The P chhi Comi»ission has recommended that whenever any
state bill is sent to the President for his assent under Article
201, he should give his assent within a period of fifteen days.

(ii) Article 111 of the constitution gives details regarding the
President’s role in the law making.

(iii) The President is given the right to promulgate ordinances
under Article 123.

(A) (i) only

(B) (i) and (iii) only

(C) (i) and (ii) only

(D) (ii) and (iii) only

(E) Answer not known

^g) jB4§) lLI <9j 0lq.UJIJ<9r5j a565)60QJlfl®5T 5= L_L_ L61UJ (i)pLD cSl^l'Sn'IJLb flj6Un) rT65T

flsi.fi)P556TT[T65Tp

(i) ^IJff®) U> UL| *LlL fD_pUL| 201-@OT % OTfTjfli $© Wirj0 O$0«*r ffLL

(Lp65T6iJ «f) iJMLi3 OTuQurr(LpQ <$d>6D^ (^ILflJflnS ^«S)60CU (fl 65T

JSt ra*”‘-TiS*1

utflrfepaoij^p
fl= llL_u51 ujfbfD66lQ) (fljlH-UJIJflbS

(ii) ^7ff«j)LDui51«n' ffL-L- &
_puL| HI «

soxuajiflar umiaoa .̂ Q<5aflaJiT® aipisi©*/!)®-

(A) (i) LDll©LD

(B) (i) LDfDpLD (iii) LDL-@ LD >

(C) (i) LDfTjpLb (ii) LDLl@d)

(D) (ii) LDjTjpii) (iii) LDLL-C^LD

(E) OS1ODI_ Q^lflUJdSl^®060

CCSEI-IAP25
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185. Match the following parts of the Indian Constitution with their
corresponding subject-matter.

(a) Part XIV 1. Elections

2. Amendment of the Constitution(b) Part XV

(c) Part XVIII

(d) Part XX

3. Services under the Union and States

4. Emergency provisions

(a) (b) (c) (d)
(A) 3 1 4 2
(B) 2 4 1 3
(C) 4 2 1
(D) 1 4 3 2
(E) Answer not known

3

JSj^aaeSffrL. <^ijff«)LDijiS]«5r u(galagoerr ^curf)r5)«jT gisnnjffrriT Qun0( nji_65T
Qurr0<$g] <5 :

(a) U0<£l XTV

(b) u0<£l XV

(c) XVIII

(d) U0^1 XX

1. Qpnpeoam

2. ^IJffODLDLILI $0££LD

3. m^lLl rnppLb LDfT[Sl6DU U«Rjfl« TT

4. Qr50««li)
_

[fl«D6D

(a) (b) (c) (d)
(A) 3 14 2
(B) 2 4 1 3
(C) 4 2 13'

(D) 1 4 3 2
(E) 6lSl65) l_ Q^lfllLI©S)Q)«f)6D
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w

lS6. Match the welfare schemes with its beneficiaries
(a) Pradhan Mantri Jan Dhan

Yojana (PMJDY)

(b) Mahatma Gandhi National
Rural Employment Guarantee
Act (MGNREGA)

(c) Pradhan Mantri Ujjwala
Yojana (PMUY)

1- Farmers (especially small
and marginal farmers)

2. Women from rural and
remote areas

3. Low-income households
and economically weaker
sections

4. Rural households living
Below the Poverty Line
(BPL)

(d) Pradhan Mantri Fasal
Bima Yojana (PMFBY)

(a) (b) (c) (d)
(A) 3 2 4 1
(B) 2 3 1 4
(C) 1 3 4 2
(D) 4 1 3 2
(E) Answer not known

£&) <$<$LL_rBjffi <an6TT ffifliunw uiusn-rrerfla^(a) L5)ij^rT6OT LDrs^lifl g§«n- S>GS\ (SiLin-ggsnTr

(PMJDY)

(b) LD«iT<$LDrr arrfb^l <fiijrTLDUi-|fD

Gsii«D(5DajrrujUL|

ffULJb (MGNREGA)

(c) i5)i7^rr«Fr LDrijdflif) 2_gg6urT6orr

(3lUrTgg68TfT (PMUY)

l_68T|§l 68)6B8r<$p <5mll_61jLb

1. 6iSl6oa:mi51«6rT (@r51uurr<s <#lp
LoppLi) @p dSlGua^miSlasGTT)

2. <£lljrTLOUL|fD LDrfjpii) Q<$rT68) D.$
pjlJLJ U(^^lffi6B)6rTff (Sff' ITJBS)

Qu65Br«6rr

3. @68)ff) (B^ 61J0L£) rT6BT(EJ <568)6rr«
Q«(T68Bn_ @@ LbUIE) «56tT lDf[)pii>
Qurr06frrr^rrrr /^§1
rB66)6U 68) i

_ r5<$ losaBcn'

4. ©jp68)lD<5 C«rTL_llJ./i)0 $Lp

6urr(xpLb ^1 ijn-LDLJL|fD 0@ Lbur&j«6iT

UJ(T«

(d) l5)lJ<$rT6&T LDJB<£]rf) o^Uffd)

L5LDIT GiLirrggesrrr (PMFBY)

(a) (b) (c) (d)
(A) 3 2 4
(B) 2 3 1 4
(C) 1 3 4
(D) 4 1 3 2
(F) 6&) 6B) I Q^|fllU6lSl6b6S)60

I
1

2 *

CCSEI-IAP25
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187. Find the elements of India’s climate action :

(i) Net-Zero Emissions by 2070

(ii) Increase Non-Fossil Energy Capacity and Renewable energy
share

(iii) Planting trees and stopping deforestation

(iv) Reduce Carbon Intensity and Carbon Emissions

(A) (i) and (ii) only

(B) (ii), (iii) and (iv) only

(C) (i), (iii) and (iv) only

(D) (i), (ii) and (iv) only

(E) Answer not known

@JB<£IUJFT0S)65T ffirTQ)I§l«f) D r51_ Ul^<565)«uSl«5T <9tt.p«CTT

(i) 2070<5(§6rr iglasij y^g^uj 2_u5) Lp6ij

(ll) LieDpu^ajLojbrD ,$y&jD<S> eriflff&,£liiS)air ui&a>*
(iii) LDIjr&J <£«D6TT £@ <£0) LDrf)pLb «mll_L^U«5)U

(iv) aiflm|®S1ijLh LDfDpLb aiflm 2>_u5) i£6s>eu« ($G5>JD$£Q)

(A) (i) LDfDpLb (ii) LDL1@ LD "

(B) (ii), (iii) uDitjpLb (iv) LDL_@ih

(C) (i), (iii) uDfDpLb (iv) LDL1_®LD

(D) (i), (ii) LD/opub (iv) LDI1@ LD

(E) <O£\G6) L- Q^lflLU0S1o)0D6U

ULIITQDCLI ?

s
Highlight



188. Match the following :

(a) District with highest sex ratio
(b) District with lowest sex ratio
(c) District with highest child sex ratio
(d) District with lowest child sex ratio

1. Theni

2. The Nilgiris

3. Cuddalore
4. The Nilgiris

(a) (b) (c) (d)
(A) 2 1 4 .3
(B) 1 2 3 4
(C) 2 1 3
(D) 2 4 1 3

(E) Answer not known

4

<J[fllUIT6OTQjrf)<S!DrD QurT0^§J<5. -

(a) Quesffr O£]<£1<$LD

2L .6TT6TT LDU6UL _I l±>

(b) <^6557 QuS$57 cM<5Li> @65)fD6Ur7<$

2_eiT<STT LDrreuLli_Lb

(c) ^<£1« 0Lpr565)^ 1%) UL|

2_ T7 77 LDfTQJL_ l LD

(d) 0«J)fDr5^ 0Lpf5«O^ lijlfT)LJL| 6M<5li>

2-CT76T7 LDrTGUL_l LD

1. Cc^ecfl

2. ^60<fllf1

3. «i_gyriT

4. ifl

(a) (b) (c) (d)

(A) 2 14 3
(B) 1 2 3 4
(C) 2
(D) 2 4 1
(E) QS1SS> L_ G) <$rfluj6£il6baD6D

1 3 4 -
3
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189. Arrange the following programmes in chronological order :

(1) Pradhan Mantri Awas Yojana - Gramin

(2) Deen Dayal Upadhayaya Grameen Kaushalya Yojana

(3) Pradhan Manthri Gram Sadak Yoj

(4) Samagra Shiksha Abhiyan

ana

(A) (1), (2), (3), (4)

(B) (3), (1), (2), (4)

(C) (3), (4), (1), (2)

(D) (3), (2), (1), (4)

(E) Answer not known

L51«ST<oU0Lb rflIJ6b<5SD6TT<gS arTSOCUlfleOffLJUlq. s3>jQDLD<9i<5®-|Lb.

(1) LS) ij<$rT65T ^currcri) CUJRTGGCOTRT - IJITLSGOT

(2) <§65T ^ujrrciT 2_un\$mijn-iLi l̂ijrrLSsjr QaGTTffcbiu Giurr^6OTrr

(3) i51ij^rTOTT £1ijrTLb **>* GiurrggOTiT

(4) ffLDaij #l <5Q^rr c Ĥ^liurrsn'

(A) (1), (2), (3), (4)

(B) (3), (1), (2), (4) -
(C) (3), (4), (1), (2)

(D) (3), (2), (1), (4)

(E) QSIQOI

i :
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V

Identify the correct statement
(a) The rate at which the RBI is willing

commercial banks is called

190.

to borrow from the
reverse repo rate

(b) If the RBI increases repo rate, it makes borrowing expensive
for banks vice versa

(c) Repo rate is a tool to control inflation

(d) A lower reverse repo rate decrease inflation

(A) (a), (b) and (c) are correct

(B) (b), (c) and (d) are correct

(C) (a), (c) and (d) are correct

(D) (a), (b) and (d) are correct

(E) Answer not known

ffffliurran- cun\5<£lu_i<£Sf)<5

(a) QjOBfla OJf&J <£l <956ffli_u5l0rfe§l ©Jrrr&j^Lb RBI cfi®ibLjib

6ULLU)
_ CMJSGILD LSGTT QijuGun oSl <£lajLb

(b) QrruGutr eSl&pfraip ^Sifluu^aiT ©>a> ii> SLOT ajirai@aj£j&sir6>r Qswa)

(c) uemeS^m^ «il©uu@^|Lb *©6filujr® flijLiCuir

(d) ©aDfDjt^ iftSr OijLiSuir u a u r ©«»s>«%§l

(A) . (a), (b) LD^pLi) (c)

(B) (b), (c) LD/i)pLb (d) ffifl

(C) (a), (c) mrppLb (d)

(D) (a), (b) mrbpLb (d)

(E) affl65) i
_ Q^iflujaSlcu®)®)

CCSEI-IAP25
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191. Which of the following statements
Mutiny?

(i) The Mutiny was lasted for eight hours.

(ii) The Mutiny was lost its importance due to local treachery.
(iii) After the Mutiny, the family of Tippu was transferred to

Madras.

(iv) The British captured more than 2000 Indian Soldiers.
(A) (i) only

(B) (ii) and (iii) only

(C) (i), (ii) and (iv) only

(D) (ii), (iii) and (iv) only

(E) Answer not known

true regarding Velloreare

i51«rr<oU0Lb 6urT«£lu_ir&j <£6ifl6b Gcuprii <SGD <SLD Q<$m_
iTL|®ni_uj

afe.j&pn’sugi. •!>.$) i i * .

(i) «60«LD OTll© LD655fl CS^IJLO QJ 65) IJ [§U^£§|.

(ii) <560<5LD 2
_
6fTjBml© §]GlJfTffi^fTQ) c9j <9>65T (ip<£<$lJLJ <j5gj61J <£;!§l 65)65T

(iii) c5nri>2 ffi60«&£lrb@ i%>@ -SUL] A&prresfle&r 0©LbuiB Qs=6OT6S>65r«(§
LDrT0fDUUllL_§].

(iv) ^fBJ^l (260iuiT«6TT 2,000-«@ GUMDULLL. @rs|laj
lSlll).^rTIT<5OT.

(A) (i) LDLl@ Li>

(B) (ii) LDjbpib (iii) LDL_® LD

(C) (i), (ii) LB0PLD (iv) LDL
_@ lh

(D) (ii), (iii) LDfbpLb (iv) U)il®ib.
(E) 6fil 6»L

_ 6065)60

2_655T65)LDlLin'65T

<#luurruj«65)6fTLJ
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192. Arrange the following events in chronological order.

(1) Kamarajar in Vaikam Agitation

(2) Thirunelveli riot

(3) Madras Mahajana Sabha

(4) Swadesi Sangam

(A) (2), (3), (1), (4)

(B) (3), (4), (2), (1)

(C) (4), (2), (1), (3)

(D) (1), (3), (4), (2)

(E) Answer not known

l5)«jreiJ0Lb J§l« l£6L|#65)6TT# <5rT6D(Lp0J)fDUUlf|. ©Jlfle&ffUU©£§)«.

(1) Qf)OJfi> <3jLb (ourrijfTL-i— (SjrrLDijrrggiT

(2) ^)0QiB6bG U6iSl acuffiih

(3) Q#65T65)65T LD«rT#65T #65)U

(4) *(2<$£1# #r&j#m

(A) (2), (3), (1), (4)

(B) (3), (4), (2), (1) •

(C) (4), (2), (1), (3)

(D) (1), (3), (4), (2)

(E) 6$65) l_ Q^lfllLI6lS) 6b0S)6O

/-i /̂ cir.T_IAP25
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193. Match correctly :

(a) Kolliporai coins
(b) Peruvaluthi coins

(c) Bead Making Industry 3.
(d) Textile Industry

Pandya Kings

Chera Kings

Kangayam

Mohenjodaro

1.
2.

4.

(a) (b) (c) (d)

(A) 2 1 3

(B) 3 2

(C) 2 1 4 3

(D) 4 2

4

1 4

31

(E) Answer not known

L5)«ST6iJ0 iJ65T®jrDSS> n) Qurr0<$§] :

(a) Q«rr6b661uQufr«DfD jsrrss&nijrEjaCTT

(b) QU06U(1£^I rBrTSffinLltoJffiGTT

(C) LD655f1<5 TT 2_ri)U^ QffUJlLjLD Q^fTL^lrf)ffrT05)Q)

(d) gjSffifl 2_ff)U <$<£) <$ Gl^rTLflfbffrTSDQ)

1. urr«S5rif|.ujir«(siT

2. GffijiT«6n-

3. «nr&jCS<5UJLb

4. QLDrT<*(0^rT(3ijrr

(a) (b) (c) (d)

(A) 2 1 3

(B) 3 2

(C) 2 1 4 3

(D) 4 2 1 3

(E) ©S) GS> L_ Q<£lfllLloSl <5065X50

4

4 '1
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Based on the verse of Thiruvalluvar, “Four ills eschew and virtue

reach arrange the following human qualities that will make you

reach virtue :

1. Anger
2. Desire
3. Malice
4. Bitter Speech

(A) 2, 3, 1, 4
(G) 4, 3, 2, 1 '

(E) Answer not known
‘{gkLp&'SBfT <$UJ65TrDgJ ^fDLb’ (oTQfTfD 6U6TT( njQLJJT 0©6lf ) 65761^ l5l 65T<Stl0Lb 0GRn‘r&J <K«D <STT

(sumaoffuu^gja.

1. <£]«fni) Q«msTT(6T5^<sb (Q <su06Tfl )

2. Q«rr6TT(et5^6b (^curr)

3. QurrfDrrsoiD Q«rr<STT rr<sb (.̂ (Lpaan-p)

4. agi^QffrTQ) ssi©®) (^ssTeffrmjQffrT®))

(A) 2, 3, 1, 4
(C) 4, 3, 2, 1
(E) eS\es)i— Q^rfluu6iSl6b«D60

194.

(B) 1, 2, 4, 3
(D) 3, 2, 1, 4

(B) 1, 2, 4, 3 •

(D) 3, 2, 1, 4

195. Reason and Assertion :
Assertion [A] : A person who thinks that he will not be despised by

others.
: He will refrain the thought of attaining any object

with a forgery from entering his heart.Reason [R]

(A) [A] is true PR] is true
(B) [A] is true PR] is false
(C) [A] is false [R] is true
(D) [A] is false [R] is false
(E) Answer not known
<9«-ff)p LDrfjpii) ffirrijgsffTLb enema :

5<n_fDp [A] .Gajsjiyr^Lb

: ujnrQ^rr0 Qurr0«o6tnqLb <sOT6Tr<£<j§lasTrr6b ^SH«DL_UJ <5

CT«fcr«5ffTLb QrB(0^1«sfla) L_|«KrT^uiq- «srT<$p<5 Q <srroT6LirT®5T

(A) seutp [A] ffifl , amjmrLb [R] ffifl ’

(B) 5«i.rr)p [A] ffifl , <5(Ti7«J5rii> [R] <$»jp

(C) a«.rf)p [A] <£6up, <smi«55rii> [R] ffifl
(D) <5fnjT)p [A] psup, amjararLb [R] psup
(E) Q^iflujoSld)

crasrp: LSlfDljrT6b ^lffiLpUUl_fTlJDQ)

OTSjffrGpU6U65T.
«mj655TLb [R]

V rrSF.T_TAP25
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4 ~7
196. -^+ /2 - 2 Q f -+-ofi}=

.9 3 2 j5
3

(A) l|
(C) 1-

13
(B) 2

4̂9

(D) 2§o16
(E) Answer not known

2
4-

6

3

(A) if
(C) 1—

16
(E) Q^lfllLI0Sl«)«5)6O

13, .(B) 2
4̂9

(D) 2t5

197. In an A.P, t7 -14 = 20. Which one of the following is false?

(A) We cannot determine first term.
(B) Difference between first term and 10th term is 60
(C) A.M. of 12th term and 20th term is 16th term
(D) A.M. of 5th term and 30th term is 17th term
(E) Answer not known

90 t7 - tA = 20, crasflQ) LSl6OTeiJ0eiJ«jT&j (i) rfjld) erp <£©jfDiT6ffr§l ?

(A) (Lp£6b 2
_
pU68)U <§ITLDrr«lfl <S<5 ^IUJ6l) rT§l

(B) (ip^6b 2
_pilll51 rf)0li» 10** 2_pLJLSlfD0Li> 2_6TT6TT UJ fTfflh 60

(C) 12®^ 2
_puiS] rf)0ii» 20®^ s_pui51fi)0Li» so-LlQff ffijrrffifl 16“® &-puM

(D) 5“® 2
_
pui5) rf)0Lh 30“® 2

_
pui5) fD0Li> awl©* ffijraifl 17“® 2

_puM

(E) a£l«ni
_ Q^iflujeSl^b65)6D

1
*1 KA_
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198. Three circles of radius 3.5 cm are placed in such a way that each
circle touches the other two. The area of the portion enclosed by the
circles is
(A) 1.967 cm2

(C) 19.67 cm2

(E) Answer not known

^IJLD 3.5 Glff . LS (npsnp QJLLI r&j<ffi TT CT(5)«<5UUL_© ^ajOcun®û rpno ^glrrsrcr© 6ULLnij<K«D <sTT Q^rr0ir» rrp ^«s) LD«ffiuu (S\^liDp CTSsflsb
9̂j6il6ULll_rEJ<B(eT5<50 |g)«DLUUL _L U(g^lli51«n' UIJUUerT6lj

(B) 1.975 cm2

(D) 21.21 cm2

(A) 1.967 Qff . i£2

(C) 19.67 Os. i^2

(E) ®S)SDI— Q^lfllLI0SlQ)0S)6O

(B) 1.975 QsuiS2'

(D) 21.21 Qa.&

199. If the difference between S.I and C.I for 3 years at 5% is Rs. 183,
then find the principal
(A) 18,000
(C) 24,000
(E) Answer not known

3 ^a5ffr© <5(6rF> <s@ <5«55r<s^lili_rT6b, .gssfl ®JLL^.<5@Lb , a«uL© 6mliq-«(SjLb
©6S) i_(2ujiL|CTT6rT oSljS-̂ lujrTffLb 0. 183-^«, 5% ^«55T© CULII^ QS<Bj<£<£l 6b
«l65)L _^rr<sb ^ffoSlsn- LD<£1UI_| CT65T65T ?

(A) 18,000
(C) 24,000 •

(E) 6)S]sDL Q <$rfllLI0&l ©)«D6D

(B) 8,000
(D) 30,000

(B) 8,000
(D) 30,000

200. Ramesh deposited Rs. 15,600 in a fixed deposit at 10% per annum
simple interest. After every second year he adds his interest earning
to the principal. The interest added at the end of 4th year is

(B) Rs. 1,560
(D) Rs. 1,872

- (A) Rs. 1,716
(C) Rs. 3,744
(E) Answer not known

^lijGiD6i% 0. 15,600 g> «D <SUUL|<$ Q^rr«D <5UJrr« 10% ssfl&JLi^opjscff® QffUj^mmT. QdjQcurT® ^ijs^Lnsfor^sn- (Lpi^sSlgiiD ^curr CULL£
O^rrsDasDiLi ^ffgjjLWT @«DS5in-«£l (Dmt craffld) j5rr6BT«mx> ^SHSTI^SJT (yn^ebls)

@SDS5ffr<5«UU (5iLb ®JLl%<£ Q^ITSD®

(A) ©. 1,716 (B) ©• i.560
(C) 0. 3,744 (D) ©• l.872
(E) oSlflJ> L_ Q^lfllUClSld)6B)60

v-'

!
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